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If 80% of A = 50% of B and B = x% of
A, then the value of x is :

W ATE0% =Bw S0% E FRB=2A
T x% ¥, @ x 7w AT AR H)

(a) 400 {b) 300

c) 160 {d) 150

If x is 80% of y, what percent of x is y?
ot y T 80%, x &, B x5 fos v y # 2
(a) 75% (b) 80%

{c) 100% (d) 125%

If 8% of x is the same as 4% of y,
then 20% of x is the same as :

o xF 8%,y 4% B WR L, & x A
20% fFes @=m 2 ?

{a) 10% of y {b) 16% of y

(c) 80% of y {d} 50% of y

If 120 is 20% of a number, then
120% of that number will be :
fight wEm W 20% ,120 %, A W wem W
120% fwmn &m ?

{a) 20 {b) 120

(c) 480 (d) 720

If x is less than y by 25% then y
exceeds x by :

aofs x, y 25% B Edt y , x @ Teem afy
Fi?

1 2
(a) 33;% (b) 25% (c) 75% (d) 66;

If P % of Pis 36, then P is equal to :
ok P® P % , 36 %, @t P fred s & 7
(a) 3600 (b) 600 (c) 60 (d) 15
2 is what percent of 50 ?

2, 50 =1 fen wiowm & 2

fa) 2% (b) 2.5% (¢ 4% (d) 5%

2 1
— is what percent of —?
3 pe 3

11.

12.

13.

15.

16.

) ;
A\c} 40% id) 400%

. Jr 50% of P = 25%

o
0.15% of ,335% of T 10000 is :

t
10000 ¥, 33;%W 0.15% T ¥om 2

(a) Rs. 5. {b} Rs.150

(¢} Rs. 0.05 {d) Rs.105

30% of x Is 72. The value of x is :
x® 30% , 72 % & x ® AW T FE 2
(a) 216 (b} 240 (c) 480 (d) 640
If 15% of (A + B) = 25% of (A - B), then
what per cent of B is equal to A?

(A+B) ¥ 15% = (A-B) ® 25% %, 4 B
= f W A 3 &m ?

a) 10% 60%

{€) 200% (d} 400%

300 @ 25% W 20%
{a) 150 (b) 60

25
If X% of —2-i$ 150,

of x is:

oy —am x%,lsoim%mﬁ ?

: To) 1200

{d) 1500
30% of {x +u),
ger cent |of x is Y 7
Hrs = (xp W 30% By,

{a) 1000
{c) 1400
15 50% of(

A . .
{a) 25% M 33-%

of Q, then P =
2% of Q. Find x.

1 p AW PHF S50% = QF25% 3, @ P=Q
e S ot 3 ,‘\ )
3 3% M x% T, A xF AR WO ?
%& @) 0.5 (B2 50 (d) 0.005
18. If 20% of A = 50% pf B, then what
@ 50% {b) 33—% (c',u 00% percent of A is B ?
If 10% ofm" as 20% of o AW 20% = BH 50% ¢ 3 A® T
n, then m :n eqya : swm B ¥ ?
% m FLAYLH, 0% F TR E, A (a) 30% W 40%
m:n m’%é ? {c) 25% ) 15%
. . . . 19, 18% of which nu r is equal to
[ﬁ]ﬁd'] ’1 0¥ Bh1:2 (a1 12% of 75 ?
The ratio 5 : 4 expressed as a per- frm dom | 18% 79 F 12% ¥ R
cent equals ; ¥ ?
5: 4 & s w wfR % fean fon som ? (a) 5O (&) 100
a) 125% (b) 80% 3
{c} 40% (d) 12.5% {2 4 =
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1
If the income of Ram is 12—2~ % more

than that of Shyam, the income of
Shyam is less than that of Ram by

1
Tfz T ¥ oME, @M | 12;% s &, 4@
T S wm T Y P wfem w202

i% 9—-—%@ 11-—%
X’s inc % more than that
of Y. What p#r cent is Y's income
less than ‘1&

¥ B y 2 20% s #, @ y B oA x
% afem w9 2 ?

@ u—% i

%igfl% (0)162% (¢ 83 2% () 165 %
e time duration of 1 hour 45 min-
utes is what percent of a day?

1 %7 45 fre = o7 %1 ffam whwa £ ?
(a) 7.218 (b) 7.291

ic) 8.3 (d) 8.24
Which number is 40% less than
Q0% of 1007

T @ W 100 ¥ 90% ¥ 40% ¥M
fi?

(a) 36 (h) 54 {c} 50 (d) 60
1
If 30% of A= 0.250f B = Eof C,

then A: B: Cis equal to :

: 1
afg A w1 30% = B#0.25 = C & g%,rh

A:B: C feme mgw ¥)
@a}5:6:4 [b)5:24:5
©)6:5:4 {d10:12:15
0.01 is what per cent ofOl ?
0.1 : foen ufavm 0.01 ¥7

(a} 10% b ‘1‘6%

fc} 100% @ 100 %

The difference of two numbers is

15% of their sum. the ratio of the

larger number to the smaller num-

ber is:

= dEmel W oE, IR A oW 15% ¥, @

=2 Hem v B Wem A d| H2

(@) 23 : 17 (b} 11:9

fc) 17 : 11 (d 23 : 11

P is six times as large as Q. The

percent that Q is less than P, is :
P, QuET ¥ @ Q, P e

oo w7

1
(a) 83-3-% [b} TO%

1
© 633% (d) 50%




28.

29,

30.

31.

32.

33.

34,

35.

36.
37.

38.

65g is what per cent of 2 kg ? 39. If 120% of a is equal to 80% of b,
65g , 2 fEm. &1 feaw wRm # 2 ’ bia
E% ) ﬁ% then oo 18 equal to
@3 (b) 7 R aF 120% , b F 80% & =R ¥, &
b+a
15 13
(c) ?% {d) ?% b-a fore wa % 7
Half of 1 percent, written as a deci- :3; 3 :3; g
mal, is: 40. If 20% of (A + B) = 50% of B.then
1% 1 vy voes ¥ Brg waR T swom
2A-B
? [(a) 0.2 {b) 0.02 value of Z— is
{c) 0.005 (d) 0.05 o 49
The time duration of 2 hour 45 (A +B) T 20%=B# 50% 3,
miuntes is what percent of day ? 2A-B a2
29% 45 e = AW, = A W fEen 2A+B 7 ’
s £ 2 1 .
(a) 7.218% {b} 11.45% (a) 5 b 3
{c) 8.3% (d) 8.24%
1.14expressed as a percent of 1.9 is: 1 a1
1.9 %1 fee Woww 1.14 8 2 © 7 )
(a) 6% (b} 10% (c) 60% (d} 90% 41. If 40% of (A +B) = 60% of (A -B)
0.001 is equivalent to: 24-3B
0.001 s =qaw & 7 then “Asp s
(8} 10% (b} 1% % (A+B) 1 40% = (A-B) = 609{ 2,
(c) 0.01% {d) 0.1% oA 3B
3 Ao g [POR WAt Em?
If 60% of A = Jof B, then A : B is *
s 6 g,
& = (b) ey,
3 6 T %
ARAT60% =B, L RAB= 2 ‘E' L
5 6%
(a) 9 : 20 ) 20 : 9 (© 5 ,ag.,ﬂ?f‘“g
€} 4:5 d5:4 42. What per ﬂ(g1572gms?
If 30% of (B -~ A) = 18% of (B +A}, 3.6 fam. 72 T &7
then the ratio A : B is equal to (a) 32% g [b] 290,
s (B-A) T 30% = (B+A) ¥ 18% %, 4 (c) 12% (d) 2%
A:B¥ SR | 2 ? 43‘£ %’5 is 100, then x is :
(a)4:1 (b)1:4 il % 100('%}1;;?
. . Al
€ 5:4 ds5:9 tﬁ id) 128

32 is what per cent of 80?7
80 % fEwn e 328 7

(a) 24% {b} 25.6%
{c) 36% (d) 40%
If 90% of A = 30% of B and B is x90% /
of A, then the value of x is 4 g
ot AF1 90% = B9 3 /oaﬂ:wa:r

44‘;1" 50% of {P — Q} = 30% of (P +Q) and
t Q = x% of P, then the value of x is :
[P—Q] H50% = (P+Q ) T 30% T Q

d- PP X% A xF w I w5
@30 (B)25 (¢ 20 (d} 50
25% of 120 + 40% of 380 = ? of 637
120 +1 25%+380 W 40% = ? of 637

X% % @ xw 7 TR H e wm m?

{a) 800 2 1 4 3
{c) 700 (&) = b = b7 @7
If 90% of A

of A, then thf{ve . o 5

o A B 90% & 46. What is 27% of 36% of g of 45007
2x% % H 5

{a) 450 \y 4500 % g ¥ 36% W 27% ¥

e) 300 (d) 150 (a) 239 (b) 241

One- third of 1206 is what per cent {c) 243 d} 245

of 134 ? 47. 1% of 1% of 25% of 1000 is:
1206 =1 wH-faerd, 134 = fem wfwm & 2 1000 # 25% % 1% % 1% foam €M 7
(a) 100% (b) 150% {a) 0.025 (b} 0.0025

{¢) 200% (d} 300% {c) 0.25 {d) 0.000025
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50.

51.

53.

54.

53.
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If 8% of x = 4% of y, then 20% of x is:

AR W 8% =y W 4% &, B W 20%
9 w7

(a) 10% of v (b) 16% of y

{c) 40% of y id) 80% of ¥

If 60% of A = 30% of B, B = 40% of
Cand C = »% of A, then value of xis
WAT 0% =BF30% L B=C =
40% I C=A® % T, A x| T 2
{a) 800 (b} 200
{c) 300 {d) 500

1
If 20% of A = 30% of B =gof C,
then A: B : C is:

afz A w209 = tﬂ30°/b-caﬂ éé.

aA: ;

@) 2: (b)3:2: 16
{c) 10 : 15 : 48 (d) 15: 10 ; 18
If 50‘1@01' x% 30% y, then x : y is

50% = 30% y @ x: y ¥ w2
) ﬁ 3 {b)3:2
%‘ dy3:5
Type B
} If 80% of a number added to 80
gives the result as the number it-
self, then the number is:
A ot d=m % 80% 9 80 w1 W ¥, @
W SR wen & s o wem sw # 2
(a) 200 {b) 300
{c) 400 {d) 500

2
A person who spends 665 % of his
income is able to save ¥ 1200 per

month. His monthly expenses
fin?})is :

2
T = ATl #w %g%wﬁrﬂa&
1200 wWiwF a9 F=w0 &, R T miEE

T (THFm 2 ?
{a} 1,200 (b} 2,400
{c) 3,000 {d) 3,200

The income of C is 20% more than
B’s and the income of B is 25% more
than A's. Find by how much percent
is C's ihcome more than A’s ?

C 3 ¥\, B ¥ 20% #fiF ¢ sk B %t am,
A% 25% afim & 3 C¥ oo, A et
wiwm s & 2

(8} 150% (b} 50% {c) 25% (d) 35%
If A exceeds B by 40%, B is less
than C by 20%, then A : C is :

A A, B U 40% i % sik B, C )
20% W %, WA C ¥ Em ?

(a) 28 : 25 (b} 26 : 25

[€) 14: 27 id) 27 : 14

In a school 70% of the students are
girls. The number of boys are 510,
Then the total number of students
in the school is :

u% frers § 70% faond wefed 4 @= w®
Hem 510 ¢, 3 =@ F 3@ ey fadt ¥
(a) 850 (b} 1700

{c) 1830 (d) 1900

-




57.

58.
59.

60.

61.

62,

63.

64.

If 60% of the students in a school
are boys and the number of girls is
972, how many hoys are there in
the school ?

o faEeE ¥ 60% Tr wgS & A wEhed
# wen 972 &, A frawea 4 few e 7
{a) 1258 {b) 1458

(c} 1324 (dy 1624
When 60 is subtracted from 60% of
a number, the result is 60. The
number is :

ot 9= ® 60% ¥ ¥ 60 WA W wm
60 o #, At wem w7

() 120 (b) 150

{c) 180 {d) 200

When 75% of a number is added to
75, the result is the same number.
Find the number :

5 9= 2 75% W W® 75 W= W
wfom =E HEm o 2, A HWem W e ?
(a) 225 (b} 270

{c) 300 (d) 325

The difference of two numbers is
20% of the larger number. If the
smaller number is 20, the larger
number is :

3 wemas T At 9L HEN T 20% ¥ 4f
o dEm 20 ¢, @ == vem @ Wl 7

(a) 25 (b} 45

{c} S0 {dy 80

If A’s income is 40% less than that
of B, how much percent B’s income
js more than that of A ?

% A W, BE 40% ¥4 %, A B #
sma, A% fEm whaw afies & 2

{a) 60% by 40%

{¢) 66.66% {d) 33.33%

Two numbers are respectively 20%
and 50% of a third number. What
percent is the first number of the
second ?

T wEant W SN B 9 20% 9
50% %, # wed wew @d € = A
witmm # 2
(a) 10%
{c] 30%

(b) 20%
d} 40%

Two number are respectively 25% -~

and 20% less than a third number,

What per cent is the first numbef,

of the second ?

T gerd @wh wEm § wee: 25% awl
20% #9 %, a’lnﬁﬁﬂ@n {Hﬂmiﬂ
fra wfwem & 7

70. Two number are re
3 o 50% more than a 4
(@) 83~ % (h) 92~ % the ratio of the tw
4 L R % Hend, dod
o) ao— % (A 93 % 7
W - W : 5
If a numbet % js 10% less than an- :3 i 5
other number y and y is 10% more ’
than 125, then x is equal to: 71. 15% of 45% of a
ﬂﬁq&‘mx,{aﬂmyﬁm%m% What is 24% of 1}
ARy, 1259 10% sfve &, & x e e wen % 45%
—— TEm W 24% @ ¥
{a) 150 {k) 143 (a) 385.5
fc) 140.55 (d) 123.75 (c) 390
Wizard of Maths —

65.

66.

67.

68,

69.

If 70% of the students in a school

are boys and the
504, the number

wF e ° 70%

umber of girls be
f boys is:

wh AT ¥ au wefEa

F wEN 504 %, @ g # gen FA w2

(@) 1176
(c) 1208

Two numbers ard

b) 1008
d) 3024
more than the

third number by 20% and 50% re-
spectively . Find the first number is

what percent of the

3 wead, ded €Em

second number ?
& w9 20% A

50% afus £, @ Ve e, WO dEm W

fFm i & 2
(@) 100%
{c) 80%

b) 150%
d) 120%

Two numbers are respectively

1
125% and 25% lnore than a third

number, The first

number is what

percent of the segond number :

4 wend dh dEm ¥ 12%

Y% @

25% afues #, @ wEE) T, O Wem W

for ufrem € 7
() 50%
i) 75%

(b) 60%
(d) 90%

If 60% of A’s income is equal to 75%

of B’s income, th
equal to x% of A’s
of xis :

fx A Fi 3ma H 60%

en ‘B’s. income is
income. The value

JBE am w 75%

T ABT A AT AT F U F
wE E, @ O A w2

fa) 70 o
{c] 80 '

Twé numbets are
1:20% of the smal
to 20, is equal to

. b} 60

(d) 90

in the ratio 2 : 3.
ler number added
he sum of 10% of

the larger number| and 25, then the

HEm 9 H
[a) 100
{c) 180

- smaller number is:
. R HE 23 %

g 20% ® 20 Wig

'H'@Tl % J0% A 25

% #1 afz B wem
% 4 wra e, ==
wtrw £, @ o

{b} 160

{d} 200

spectively 20% and
hird number. Then
» numbers is:

& wEm: 20% @l

50% sifas &, mmmaﬂ H T T

bBy3:5

(d) 6 :7

number is 103.3.
hat number.

15%, 105.3 %1 38
P
(b) 374.4
(d) 375

72.

73.

74.

The monthly income of a person was
% 13,500 and his monthly expen-
diture was ¥ 9,000. Next year his
income increased by 14% and his
expenditure increased by 7%. The
percentage increase in his savings
was?

w wf@ w1 wies 9 13,500 # i
T Wiew =d 0000 #1 smE T IEE
¥ 14% a3 T ¥ o sEe mE 7Y% 9%
T & @ S 9 A weew i W w0
&) 7% (b) 21%

<} 28% [di 35%

The difference of two numbers is
45% of their sum. The ratic of the
larger number fo. the smaller num-
ber is

7 demsd W St T A W 45% ¥ T
T W BET EWE w1 HITE A9 B

(a) 20 : 9 {b) 9 : 20

(c) 29 : 11 {d 11 : 29

A number if reduced by 25% be-
comes 225. By what percent should

it be increased so that it becomes

375 ?
TF HEm ) W 25% "W frn W € A ww

| Hem 025 @ W %1\ T 6 R Wi

75.

76.

77.

8.
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# ofy ¥ W 5 T dem 375 €@ 9w
{@) 25% {b] 30%

(c) 35% (d) 75%

Out of two numbers,40% of the
greater number is equal to 60% of
the smaller, If the sum of the num-
hers is 150, then the greater num-
ber is

= el § ¥ T Wem W 40%, B wed
% 60% % Tt | ufy woned W Am 150
¥ o aFt Tem ¥ §7

(a)70 (®) 80 (&) 90 (d) 60
If A’s height is 10% more than B's
height, by how much per cent is
B’s height less than that of A ?
A T BE 10% R ¥4 B W vl
AF fead g # ?

1
{a) 10% (b) ].050/0

', 1,

ic) 1011/6 (d) 911/0

CGiven that, 10% of A’s income =
15% of B’s income = 20% of C's
income. If sum of their incomes is
2 7800, then B’s income is :

fom T 2, A T 3T ¥ 10% = B ¥ 3HE
F15% = C # A/ 7 20% af §d 5
A W AN T7800 A B # I W@ TP
{a} ¥ 3600 (b} T 3000

fc] T 2400 {d) ¥ 1800

If three-fifth of sixty percent of a
number is 36, the number is:

. . 3 .
wF ®Wen % 60% o o 36 ¥, @ mE

T w7
{a) 100 (b) 8O
() 75 id) 90




79.

80.

81.

82.

83.

84,

85,

86.

A’s salary is 50% more than that of
B. How much percent is B’s salary
less than that of A ?

A ¥ 47, B 3 50% = &, 9 B 71 4,
A% e wfrew wm ¥

I
(a) 50% (b) 33-3—%

2
{c) 45% (d) 663%

If Nita’s salary is 25 percent more
than Papiya’s salary, then the per-

centage by which Papiva's salary is .

less than Nita’s salary is:

otk A o A, o § 25% s @ &
i w4 Hen A fean wie ww E

{a) 15% (b) 20%

©) 25% d) 32%

X has twice as much money as that
of Y and Y has 50% more money
than that of Z. If the average money
of all of them is T 110, then the
money, which X has is:

X, WYV dmome s ys oz
¥ 50% afux T h ok 96 $ T oW
dFE 110 %1t X % yw fad v &

(a} T 55 (b} T 60

(c) T 90 (d) T180

If x earns 25% more than y. What
percent less does y earn than x ?
x, y & 25% wfew su@ &, @ y, %D fEww
W 9w & 7

(a) 16% {b} 10%

{c) 20% {d) 25%
Tulsiram’s salary is 20% more than
that of Kashyap. If tulsiram saves ¥
720 which is 4% of his salary, then
Kashyap’s salary is

TR W A, TN ¥ 205, wE #) ak
EENM 720 ¥ wuw 4 &, 9 394 A |
4% ?, W FTEY T AT T w7

(a} T 15,000 by ¥ 12,000
{c) ¥ 10,000 (d) T 22,000 :
Two numbers are less than a tflgd N
number by 30% and 37% respe: ;
tively. The percent by which the sec-%,¢
ond number is less than the fcst is:
T demd, dwd dew § FW
37% 0 &, A wh w '%%
foaw ufem = § 2 g
(&) 10% {b) 7% 6% (d) 3%
Mita’s incomegis 28° than that
of Sita. Wh. 'is Sita’s in-
come les th of mita ?
5% st 2 At dm

!Iﬁma A ¥ 7
ta} 25% (b 24%
fc) 22%% (d) 20%

If A’'s income is 25% less than B's
income then by what percent is B’s
income more than that of A ?

a7.

88.

89,

90.

9l.

Q3.

A AT 9w, BR25% ww ¥, & B
M, A9 fem i afus ® 7
(a} 25% {b} 30%

1, 2,
A’s salary is 40% of B's salary and
B’s salary is 25% more than C’s sal-
ary then C's salary is how much
percentage meore than A?
AF S, BRI T A0% 3w B =
A, CF 4 W 25% w3, W C W
¥, A % frmn whrem aifies £ 2
fa) 50% (b} 100%
(¢} 150% {d) 200%
If A’s income is 50% less than that
of B’s, then B income is what per-
cent more than that of A ?
MW AF 5, B S0% s 2, 9t B
A, A W e witv o # 7
(a) 125% (b) 100%
(c) 75% (d) 50%
A’s salary is 25% more than B’s sal-
ary then B's sglary is how much per-
cent less than A's salary?
A® ¥, BR 25% afww &, 0 B

95.

96.

\ O

b

A B fram vfwm wm &7 i s ' %‘w
{a) 20% (b) 24% 'qw‘
(c) 25% (d) 27.5%

K A exceeds B by 60% and B is
than C by 20%, the%A‘ Cis
A, B 60% afes § %B C®
20% %3 ® 4 A C g m ?
fa) 32 : 25 _3[ :
€)&:5 di 5
In an exéflitiauuS% of students
passed and WY failed. The total
number df, Stidents appearing at the
m;ltlm was:
Foun BO3% BT e T T e 250
acrm & wm 2, @ vou F Bl )
mm ot 7
* @) 3700 {b) 3850
{c) 3950 (d} 4200
If 24-carat gold is considered to be

dhundred per cent pure gold, then

the percentage of pure geold in 22-
carat gold is :

M 24 #2 W N & shem o 99
%, 3 22 3% WA ¥, g O = vhe a2

(a) 91%% {b) 91%%

1, 2,
ic) 9!35 (d) 903/&
If 30% of A is added to 40% of B,
the answer is 80% of B. What per-
centage of A is B ?
e AF1 30% , B® 40% ¥ Wz W 3,
W IW B W S0% W R W AW Feam
shem, B 2 2
(a) 30%
{c} 70%

{b) 40%
) 75%

98.

99,

100.

101.
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First and second numbers are less
than a third number by 20% and
40% respectively, The second num-
ber is less than the first by:

Wl w T dem, dwd wer I wum
20% a0 40% Fu ¥, @ Tt e, we
e o e wivm w0 & 7

@ 7% (b 4%

{c) 3% {d) 25%
One-third of a number is 96, What
will 67% of that number be ?

et = o-wE 96 ¥ 9 T den W
67% TN ¥m?

(a) 192,96 (b} 181.44
{c) 169. 92 [cl] 204.48
If x% of same as Y% of b,

then fo

%y%aﬁw% b
%

Zx
{m%% of a =, % ofa

)

7%0&1 {d) %ofa

If y% of one hour is, 1 minute 12
seconds, then y is equal to

1% B y%, 1fme 129 ¢, a9y
Fum T &2
{a} 2 (b 1

1 1
(c) > d P
A team played 40 games in a sea-
son and won 24 of them. What
percent of games played did the
team win ?
T i TF w A 40 9 wort € shoog F
W7 efem wod & & d9 3t 9w = v
am #7
(a} 70% (b) 40%
(c) 60% (d) 35%
A number is divided into twe parts
in such a way that 80% of 1= part
is 3 more than 60% of 2™ part and
80% of 2" part is 6 more than 90%
of the 1* part. Then the number is:
T WEA F R umit ¥ W g at o g
T T H 80%, TH M = 60% A 3 iy
% 2, ot 3w am W 80%, W wm F
90% 4 6 i &, @ wen = 7
(@ 125 (b) 130 (o) 135 (d) 145
A number, on subtracting 15 from
it reduces to its 80%. What is 40%
of the number ?
TE el A 9w 15 ver ww §, @ ur weaw
80% ¥ =t 8, At =W wWew 1 40% fwEam

zm?
(@) 75  (b) 60 fc) 30 (d) 90
498 is 17% less than a mamnber then

the number is:
T d= W 17% =9 $® W 498 wra
W ¢, @ e I w5

(a) 610 (b) 580 (c} 600 (d) 620




102.
103.

104.

105.

106.

107.

108.

109.

110,

Given A is 50% larger than C and

B is 25% larger than C, then A is

what percent larger than B ?

fem ¥ A, CUS50% s ¥ SRB,CA

95% sfer &, AA B ¥ 5 wiwm afww ¥2

(a) 25% M) 50% (o) 75% (d) 20%

What is to be added to 15% of 160

so that the sum may be equal to 25%

of 240 ?

160 % 15%  fawen I W & 4 240

# 25% % WA w2

{a) 24 (b) 84 c) 60 (d) 36

A number when reduced by 10%

gives 30 as result. The number is :

o e T 10% werd wuh 24 wfom 30

s #, @t den w §?
1 1

(@) 33 () 33

c) 40 @) 35

If 15% of x is same as 20% of y

then x : yis :

X 15%, y @ 20% H TR E, Fory T

ay4:3 ) 5:4

{c}6:5 34

In an examination A got 25% marks

more than B, B got 10% less than

C and C got 25% more than D, If D

got 320 marks out of 500, the marks

obtained by A were

o uitw ¥, A, B % 25% i st wra

Zu BH C A 10% %7 3iF W= g i C#

D @& 25% siw sfuw wra g ot D= 500

# @ 320 i A g W, ® A fFR w

o gy
(a) 405 (b) 450
(c} 360 {d} 400

1
A number increased by 225% gives

08 as result. The number is:

1
T WEA F 225%-«@!11:5131%,?&3398

7 o @, @ wem R ?
(@) 45 () 18  (c) 80 (d) 81
When 75 is added to 75% of

Find 40% of that number.
o wEm ® 75% § @ 75 W A 8,
W o T gen ® W T @

{a) 100 (b) BO (). 4,20, {

The number that is to % to
10% of 320 to have t}g st %6 30%
of 230 is:

%,
320 3 10% ¥ A

oo fF 9iom

v

230 # 30% % NgoiE e ?

{a) 37 v 23 (d) 73
If X is an Y, then find
alue of ‘g 4
thevueoIY and =7

Y-X

o K, Y ¥ 20% w9 &, & —;,—aﬁx

X
—_ b
7 &1 A 7@ W

111.

112,

113.

114,

116.

Jc} 3o

15.

|
fa) %,-4 _ “ (b) 5,&

2.8 by 22
‘C] 5’ 2 [ , 5’ 5
In a vililage 30% 011 the population
is literate. If the total populatien of
the village is 6,600, then the num-
ber of lilterate is:
o T § 30% T # oz iy W T
wriE 6,600 ¥, A F oo e P
(=) 1980 (b} 4620
{c) 2200 id) 3280]
If A’s salary is 50%)| more than that
of B, that B's s is less than A's

by :
AW A, BY S0% aE &, A B
%, A § FEw wiawm ww 2 7

1
{a} 33% [{3)] 4030/0
(c} 441% ) 331%
3 3
Two numbers A and B are such that

the sum of 5% of 4 and 4% of B is

% e A 7 B w® yFR & 5
7 B ® 4% | am,

P

A,

B%'m"‘q‘mm%é,?h
P

m? 3 :

(@) 4:3 L j{lz“s ;4
(©1:1° M 2:3

ased by x%; to

iginal number, it
r

E

T IS "@en
iovE S 7

COne-fifth of half of a number is 20.
Then 20% of that number is

it wEm & o T ol feen 20 0@ I8
wem | 20% ¥
{a) 80 (b) 60

c) 20 (d) 40

1 .
335% of T 90 is equal to 60% of ?

1
T 90 Ssg%ﬁaﬁnkeo%%m%?

(a) T 122
ic) T 123

(by T125
(d) 7124

. 51% of a whole number is 714. 25%

of that number is
et ois @ 51% ¢ 714, @ W EE W
25% w1 Fm?

(@) 250 (b) 350 (¢} 450 (d) 550
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2 e
grdofthe sum of 6% of A %Bg}
of B. The ratio A 1B is: ‘&:X
A% N
d B+

Type C

118. Price of sugar rises by 20%. By how
much percent should the consump-
tion of sugar be reduced so that the
expenditure does not change ?
S % 7 ¥ 20% W TR B w2, A o
3 @ad %) e afe w9 w A ats <
w wHd smf@Efia w?

(a) 20% b 10%

2
ic} 163% (d) 15%
119. What percent decrease in salaries
would exactly cancel out the 20 per-
cent increase ?

¥ fed whee RAE20% 3 TR

my | #
g .
4 ) 16_00
(a) 20% Mm%% B 16 %
Byt hd 18%
=%
ﬁ%.a (1]

ption so as not to increase his
% ,eéXpenditure ?

120 3§ foolft prices go up by 10%, by how
% g& h should a man reduce his con-

Fafy s % 9F 4 10% g% @ o @, @
wF =fw A T § f e S waE
=t fi5 wd A W?

1
(a) 9% (b) 10%

2
©) 9;% (d) The data is
not sufficient
121.The price of an article is decreased

by 10%. To restore its former value

the new price must be increased by :
firdt 7 ® T W 10% 1w on e &,
ﬂﬂﬁ%gﬂaﬁmmﬁiﬁmaﬁqﬁﬁ

fr wiEm W g w0 o 2

{a} 10% i 11%

1 1
11—% 11— %
@23 g

122. In the new budget, the price of kero-
sene oil rose by 25%. By how much
per cent must a person reduce his
consumption of kerosene oil so that
his expenditure on it does not in-
crease?

7 7o ¥ B I W Fa25% 9 W
v =fm W A EE A w5 =i
i B fE A ™ H w sRaka W 2
(@) 20% (b) 25% (¢} 50% (d) 40%
Salary of a person is first increased
by 20%, then it is decreased by
20%. Then the percentage change
in his salary is :

o =i W A T 20% w9 fow S R
for 20% W1 frm 9 2, @ S A N fae
v = R gA?

{a) 4% decreased

{b) 8% increased

(c) 8% decreased

(d) 20% increased

123.




124. A number is increased by 20% and
then it is decreased by 10%. Find
the net increase or decrease
percent.
WS R OWA 20% wm W ¥ AR fm
10% e e ¥, & WheW 30 = 9% W w7
{a) 10% increase (b) 10% decrease
(¢} 8% increase (d) 8% decrease
The tax imposed on an article is de-
creased by 10% and its consump-
tion is increased by 10%. Find the
percentage change in revenue from it
el 99y W T T ECF 10% W R
Wt # o st T 10% W% 99 2, @ W
Y ¥ A et A § yhe i Tm w7
{a) 10% increase (b) 2% decrease
{c) 1% decrease (d} 11% increase
126. The price of an article was increased
two times successively by 10% each
time. By what percent should the
new price be reduced so as to
restore the original price.
UF AR P I ¥ TR 3 9K 10% #

125.

T g W T [ A A ST W

wa ww # o w1l g ww A e whke
=t FH woR TR

(a) 15% (b} 17.36%
{c) 17% {d) 16.36%

127. H price of a book is first decreased
by 25% and then increased by 20%,
the net change in the price of the
book will be :
ofe fadt forra W g W 25% e
wm # o fR 20% ¥ fen w2, At
Fooara 9} FHa ¥ Fora wrafam Titds am?
(a} 10% decrease {b) 5% decrease
{c) no change {d}) 5% incrase

128. A number is increased by 10% and
then it is decreased by 10%. The
net change in the number is:

s Hen ¥ 10% w3 #t 9 2, e @
10% == fen = , & w=m 4 fEEn sw
Fwn?

(a} 2% decrease (b} 1% increase
{c} 2% increase (d} 1% decrease

129. A worker suffers a 20% cut in hi¥g
wage. He may regain his origi§
wages by obtaining a rise of hd
much % ? F
wwaﬁﬂﬂ{ﬁﬁzo%aﬁmmﬂ
I 2, 3% T B TR @ e
Frr it gl =t
{a) 27.5% (b, %@ﬂxﬁ. :

(¢) 22.5% {0 B

130. The salary of a pe n"*@as reduced
by 10%. By #gh : cent should
his reduoed s sed so as to
bring it \this orginal salary?
wF wt|m W H0% = =it & W 2,
72 w3 Ay g g
fF 78 wa B A W A2
(a} % (b) 11=%

1
] 9H%% d) 11%

131. A number is increased by 20% and

then again by 20%. By what per
cent should the increased number
be reduced so as to get back the
original number ?
T HEn T TEd 20% T 9 & 3R e
20% 3 == = & e W wen # fF
Yiww w=rn W fF e dem wva o Sy
(a) 30%% () 19 16

ic) 40% (dy 44%

The number of employees working

in a farm is increased by 25% and

the wages per head are decreased by

25%. If it result in x% decrease in

total wages, then the value of x is:

felt wlt § vl W Wem 25% W@ 9

Rt & T 9T AR weeh W 25% T o

%q Tt &) o ool A x% e an

it #, 9 x F am Iw =

(a) 0% (b} 25%

132,

25
{c) 20% @ 5%

133. The price of an article was increase
by r%. Later the new price w
creased by r%. If the latest grick
¥ 1, then the original price Wa
it 9 B T H 1% W ghy WA
L r%aﬁﬂaﬂﬂﬂﬁl
ma?gmnﬁﬂ% ?hawq%%mqa

[ 10000 ]
@R 100002

_"pl‘l@é)f petrol is increased by
“HBy how much percent a car

ownier should reduce his consump-
@ tion’ of petrol so that the expendi-

134. 4

: creased ?

éﬂﬁﬁ*l{ﬁﬁ%%ﬁaﬁ;ﬁnﬁlwm
wieE # A @ e wfem Iw w5
writ wiE g v e g @

(3) 25% {b} 30% (c) 50% (d} 20%
135. A number is first decreased by 10%
and then increased by 10%. The
number so obtained is 50 less than
the original number. The original
number is :
oF HEN W W 10% wer w8 sk f
10% = foar s 2, & wra gom, aafas
wen ¥ 50 9 ¢, @ aafas gem a@ w72
{a) 5900 {b) 5000
{c) 5500 id} 5050
The Government reduced the price
of sugar by 10 per cent. By this a
consumer can buy 6.2 kg more sugar
for ¥ 837. The reduced price per kg
of sugar is:

%ture on petrol would not be in-

136.
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&R 7 W6 o w® 10% 5= e s
*W TF e T837 4§ 6.2 feu. 9 afu
iR wwa #, =W & wraw vy e 46
Lol i
{a) T 12.50 {b) T 13.00
(c) T 13.50 {d) ¥ 14.00
The price of sugar is increased by
20%. If the expenditure on sugar
has to be kept the same as earlier,
the ratio between the reduction in
consumption and the original con-
sumption is:
= @ T W 20% Y e e oA
Vo F T w @ w3 S
H =t qur m@'ﬁ w 3!3'11?[ ™ w2
@ 1:35 & %, b1
©1:8 ‘%, TRCRE
If the p '@%[ a commodlty is de-
creased % and its consump-
tiordis increased by 20%, what will
be;gttfb increase or decrease in the
,_Expeﬁ:hture on the commodity ?
ﬁgwﬁmzo%mﬁm%m
TE2% AR R, DT Es
ﬁﬁ-‘f wiaera *t =@t W IfF = 2
{a) 4% increase (b} 4% decrease
{c) 8% decrease (d} 8% increase
The price of a certain item is in-
creased by 15%. If a consumer
wants to keep his expenditure on
the item the same as before, how
much per cent must he reduce his
consumption of that item ?
fr o A #m ¥ 15% T/ & w2,
WEF T WY S A @ s
3w # e wfavm S wG we w2

137.

138.

139.

1
() 15% ) 132%

2 20
16—% 10—%
@ 163% (d) 1052%

140. If the price of petrol be raised by
20%, then the percentage by which
a car owner must reduce his con-
sumption so as not to increase his
expnditure on petrol is:

Atz e # Fm § 20% w7z ® T E,
a TF TR wew = oa =me d e whem
F o w R g afs SR v T R 0

1 2
(a) 16—3—% {b) 16-5%

2 1
ic) 153% (d) 15~3~%

141. A number is first increased by 10%
and then it is further increased by
20%. The original number is in-
creased altogether by:

T Hem T 10% weEt ww ¥ ok fe
20% werdt Wt # A Anfis wem § 3=
ot wfem %t 9fs 7

(@) 30% (b} 15% (c} 32% (d) 36%




142.

The length of a rectangle is in-
creased by 10% and breadth de-
creased by 10%. Then the area of
the new rectangle is:

w s W owad 10% TR T own e
10% Tertt T A T A W AveA Fa e 2
{a} neither deceased nor increased
{b} increased by 1%

(c) decreased by 1%

{(d) decreased 10%

143. B got 20% marks less than A What per

144,

145.

cent marks did A got more than B ?
BH AR 20% $3 5% TA L T AR B
¥t whim sifus i€ Wa g ?

(a) 20% (b) 25% (c) 12% (d) 80%
Priyanshu's salary was reduced by
10% and then the reduced salary
was increased by 10%. His new sal-
ary in comparison with his original
salary is :

fi | WA 10% "= o, fRowEm
) R 10% =@ e, @ e T A,
uel ool e R L4

(a) the same (b} 1% more

{c) 1% less (d} 5% less

If the price of a commodity is in-
creased by 50%. by what fraction
must its consumption be reduced
so as to keep the same expenditure
on its consumption ?

iz foret areq A F 50: 4 WA B, A
TG H B S W A T

g ® ?

1 1 1 2
@z B3 ©@3 @3

146. I the duty on an article is reduced

147,

148,

by 40% of its present rate by how
much per cent must its consump-
tion increase in order that the rev-
enue remains unaltered?

ot wg W (FF TR TEE T T 40%
= = e W, R e ww e afee
T W A I W S . w7

1, 7%
(@) 60% {b) 62—% % ga%
3 i)
2 s &
() 72% () 66-5:{-) )%i;’
If the price of sugar,agg i@by 154.
25%, find by how mu reant a
house holder must rdgdudg h con-
sumption of sugar go ot to in-
crease his ex en@i‘ Y
afy = ® 25% o 2, A
=t| W AW A ofrem F wA
155.

wh B m‘%{h w#?
@ 10% | % (] 18% (d) 25%
The price oftan article is reduced
by 25% but fthe daily sale of the ar-
ticle is increased by 30%. The net
effect on the daily sale receipts is:
fodt T F FPA 25% W WE ¥ A
it Ty Pt 30% wpd § d wfae
F 3@ W ¥ AR €W 7

149.

150.

151.

152,

153.

1
(a) 25% increase

1
(b) 25% decrease

[€) 2% increase

{d) 2% decrease

The price of sugar is reduced by
20%. Now a person can buy 500g
more sugar for T 36. The original
price of the sugar per kilogram was:
S F FmR § 20% F w9 oo ¥, A
wr =f 2@ 36 % § 500 M S S
iz wFw %, A wa fmEwm S H smE

v T o ?
ja) T 14.40 (b} T 18
i) ¥ 15.60 (d) T 16.50

The salary of a person is decreased
by 25% and then the decreased sal-
ary is increased by 25%. His new
salary in comparison with his origi-
nal salary is:

o b T W 25% F o e wm # AR

fipe TR T A W T 25% F9 Fom W ¥ 41587
& ardws AW A g A R ARy 2

{a] the same {b) 6.25% more

{c} 6.25% less

10% and 10% on an article argl
lent to a single price increase
1@ T T fee v $ o 9 10%
10% #1 2 fow 9 Y F T 5n-
(@) 19% (B} 20% {(cJgi%, () 22%
The price of an article gasifirst in-
creased by 10% and thén again by
20%. If the last incPé¥¥ed price was

T 33, the origﬁ;;p_riee was:
wE ST

i 19% =1 gfg a0 P
20% F 7% G § R oFm g 233
RS L e w

(aL,Z.306 &= () ¥ 27.50
l@e@ 6380;" (d) T 25
1 fn&gﬁr is increased by 20%

and; the resulting number is again
incragsed by 20%, what percent is

# the fotal increase:
o, K TH WEM 20% 9 W § s wa

wem g 20% W 9§, F R e |

Jfeoa 7@ & ?
(a) 48% {b) 44%
(c) 41% {d) 40%

A reduction of 20% in the price of
wheat enables Bhuvnesh to buy 5 kg
more wheat for ¥ 320. The original
rate (in rupees per kg ) of wheat was:
W @ T d 20% T F FEA TEA 320
= 3 5 fmm. W atvw Wik wea 4 @R
= s uEa (afa fem) W ?

(@) 16  (b) 18 )20 () 21

A reduction of 25% in the price of
rice enables Bhuvnesh to buy two
kg more rice for T 240. The reduced
per kg price of rice is

T & gl H25% F TR IR F T
2240 7 2 fem. waw sk oK T R, A
Tt % A e @ g (o ) w2
(@) T 30 (b} T 25

{©) T 20 @ T 15

{d) 0.625% less , 3
Two successive price increasts of %
vy ™

156. The price of an article is reduced

by 25% but the daily sale of the ar-
ticle is increased by 30%. The net
effect on the daily sale receipts is
wH 9 B T A 25% F T § W A
=aF shim @ faE 30% g T, 9 WA
# am § Fm HR T2

1
(@ 25% increase

i
{b 25% decrease

{c) 2% increase
{d) 2% decrease

157. The cost of an agticle was Rs. 75.

The cost wag fuq,i‘ increased by 20%
and later gn j# wis reduced by 20%.
The pr¢sent cégt Bf the article is
wF Tw Mewdg, 78 T B Fw wowd
20% g LA 20% FW ot
T, % AR I AR g w7

()X 72 (b} T 60
&) T8 {d) T 90

The price of a commodity rises from

1T Buper kg to T 7.50 per kg If the ex-

T
]sﬁmure cannot increase, the percent-

o age of reduction in consumption is:

™ T % 554 6 7 v fEm. § s 7.50
s mbhdmagPEad
fpm v 2 TOA F 9m e 3w W R
e Y THE ® 2

{a) 15% (b) 20% (c) 25% (d} 30%

159. The price of a commodity has in-

creased by 60%. By what percent
must a consumer reduce the con-
sumption of the commodity so as
not to increase the expenditure ?
wF T B T 60% 9¢ T €, R T A
A @ T A AR w5 wdE wE el
AfE o A W ?
(a} 37%

{c) 40.5%

(b) 37.5%
{d) 60%

160. When the price of an article was

reduced by 20%, its sale increased
by 80%. What was the net effect
on the sale?

W aq W 4 T 20% w9 6w ¥ A
s fadl 80% wg < ¥, A O v
wE T ?

{a) 44% increase (b} 44% decrease
{c) 66% increase {c) 75% increase

161. When the price of cloth was reduced

by 25%, the quantity of cloth sold
increased by 20%. What was the
effect on gross receipt of the shop?
=T W T 25% P9 W A L, @ FE
Tl 20% 7 WA 8, 3 A ® wA M
=1 WREA ¥ ?

(a} 5% increase (b} 5% decrease
(c) 10% increase (d] 10% decrease

162. The cost of an article worth ¥ 100

is increased by 10% first and again
increased by 10%. The total in-
crease in rupees is

100 % ¥ u& 7 & T H T 10% i
I 10% =t ofz odt &, @ 3@ 9%
(wmE W) fEw @

{a) 20 b 21 e} 110 (d) 121
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163. When the price of sugar decreased

by 10%, a man could buy 1 kg more
for ¥ 270. Then the original price
of sugar per kg is:

I ® T H 10% F1w 3R @ B, T
=f@m 270 % § 1 fem ot sfir ol
T & @ o fRm I e T e
w7

{a} T 25
cy T 27

(b) ¥ 30
) T 32

164. A reduction of 10% in the price of

165.

166.

167.

168.

169,

an apple enable a man te buy 10
apples more for ¥ 54. The reduced
price of apples per dozen is

Ha w g ¥ 10% W F F w0
=@ 54 4 10 T afies wis www ¥, 9
w0 3 91 W R @ w2

(2) T 6.48 b T 12.96

(c} 2 10.80 (d) T 14.40

if the height of a cylinder is in-
creased by 15% and the radius of
its base is decreased by 10% then
the percentage change in its curved
surface area is :

% AT Tt TR F 15% 5 XG ¢ Aen
& s w e F10% wem 9§ @
AT ¥ (= gwea o e vfeem @
uftady ¥ ?

(a) 2.5% increased

{b) 3.5% increased

[c) 2.5% decreased

{d) 3.5% decreased

A’s salary is increased by 10% and
then decreased by 10%. Then,
change in salary is:

AT AW 10% W@ g wm 2 edn e
10% =1 fem o ¥, & SO dW F Fw
e swm?

(a) 0% {b) 1% decrease

(c} 1% increase (d) 2% decrease

If the price of rice be raised by 25%
the percent by which a house-
holder must reduce his consump-

tion of rice so as not to mcrease

his expenditure on rice is:
af: TR F gee W 25% o 9fx o ™ Mg
wfEr # st ' § R wfim w5t =M
i #h afn erRt W e wE W
{a} 22.5% {b} 25 7532*"

To keep the epr .}
changed, the present¥gorfeumnption
is to be reduged %W

::1:._' : mw = | oA
T | =y wad

) (b) 18%

(a) 20%

2
fc) 10% @) 165%

If a number is increased by 25%
and the resulting number is de-
creased by 25%, then the percent-
age increase or decrease finally is

170.

171.

172,

173.

ofz uH Wewm & 25% wgrm ww € &k
war T HEW G 25% S o 2, A
wen 4 ufia = @ Jfe = e 2

{a} no change

1
{b) decreased by 63%

1
(¢} increased by 62%

{d} increased by 6%

The price of an article is first de-
creased by 20% and then increased
by 30%. If the resulting price is T
416, the original price of the article
15:

fast g+t F@ wa 20% 523§ w i
T 30% #9147 uRk vy e =
T 416 %, @ g W T g W w2
a} T 350 {b) T 405

{c) T 400 {d) T 450

If each side of a cube is increased
by 10% the volume of the cube
will increase by:

W W TS 0 A 10% "9 e 3,
W 3w sman A fem wfawm w1 3l gt 2,

176. In a factory, the production of cycles

177.

178.

(@) 40% b 30% % %
{c) 33.1% () 25% &0 % o
The difference between the viglue™

of the number increased by 20% #hd
the value of the nuigbec decreased
by 25% is 36. Find the mmber

= HWE ¥ 20% IS S
e ¥ 25% it T mey Eolrd
36 % wem wm w21 -

@ 7.2 . c) 720 (d) 80
A number M, ecreased by 20%.
The decmnas humber is then in-

sed. by; . The resulting num-

rds I“égsJ than the original num-

*hg 20' Then the original num-
bekyis

%wmwﬁiao%mmﬁm%aﬂt

4

|

firt w0 3t T WEw F 20% T oW R
T A W Wen AR §em § 20 9 1,
e i e

{a) 200 (b} 400

{c) 500 {d) 600

. A reduction of 21% in the price of

175.

an item enables a person to buy 3
kg more for ¥ 100. The reduced
price of item per kg is:

T I R oEmE F 21% W = A,
wedt 100 ¥ 3 At wm sifas wiw g
#| g w9 feel TM 9T gen T W R

(a) ¥ 5.50 {b) T 7.50
(c} T 10.50 id) T 7.00
The percentage increase in the sur-

face area of a cube when each side
is doubled is:

it 9 % Tew % duwa § & wiEm oAy
il v TR T T W PR R A AR P
(a) 200% {b) 300%

(c) 150% {d) 50%

ﬂm

rose to 48,400 from 40,000 in 2
years. The rate of growth per an-
num is?

T B F 2wl H wrefpst @ 3eare 40,000
[ FWH 48,000 & T G affE ofy o
M| H

{8) 10.5%( b) 9% ic) 8% (d} 10%
Water tax is increased by 20% but
its consumption is decreased by
20%. Then the increase or decrease
in the expenditure of the money is
| W ¥ 20% W1 e g e o '
20% wH g B @ W B = d gfg a1 TR
fawtt gE?

{a) 4% 1ncn;§as Fqﬁa

If radius of &

circle is increased by
S%w{hen\tﬂe increase in it's area

¥ e 5% 9% =7 4 I W I
% fewh 2w

4H0.25% (b} 5.75%
) 10% (d} 5%

v The price of an antique is reduced

by 20% and then this price is again
reduced by 10%. The total reduc-
tion of the price is

A et god o (e = FE 20%
T 4 i sl f e 10% ok = &
oy wem g fEe add gl

fa) 25% {b) 23%

{c) 30% d) 28%

Type D

180. In an examination, there were 1000

181.

boys and 800 girls. If 60% of the
boys and 50% of the girls passed.
Find the percentage of the failed
candidates ?

uF v ¥ 1000 ¥R% a0 800 wEfel
wie B #oak 60% T wmn 50%
aEfe <o ol #, @ sl @ smwe el
1 g W

(a} 46.4% (b} 48.4%

(o) 44.4% (d) 49.6%

In an examination a candidate musi
secure 40% marks to pass. A candi-
date, who gets 220 marks, fails by
20 marks. Find the maximum marks
for the examination ?

w T A Tl B % fAR 40% A%
sifrard #1 ww wiErl F 220 A% Tw ER
At = 20 A9 A oraww B wen ¥, & wien
Y sfuram S fFmt 6 2

(a) 1200 {b} 300

{c) 600 {d) 450

182. In a class 60% of the students pass
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in Hindi and 45% pass in Sanskrit.
If 25% of them pass in both sub-
jects, what percentage of the stu-
dents fail in both the subjects ?
TH F4 H 60% w9 d F awm aw 45%
o e o wed B A AR e @ 25%
o oA fawal F Tew R ¥, @ o fawal
o wirem B F9Ew qW ?

(a) 80% (b) 75% () 20% (d) 25%




183.

In an examination 70% of the can-
didates passed in English, 80%
passed in Mathematics. 10% failed
in both the subjects if 144 candi-
dates pased in both, the total num-
ber of candidtes was :

s i H 70% wiErt o #, 80%
il wfim & wew Bt 10% wheEe
<Al faedl § srgwe ¥R ¥ oAk 144 whwEnd
o faval # wwe oW, O TREARE ¥ 5@
HEE T ei?

(@) 125 (b) 200 () 240 (d) 375

184. The ratio of the number of boys and

185.

girls in a college is 3 : 2. If 20% of
boys and 25% of girls are adults,
the percentage of those students
who are not adults is:

wF Fie A e T wghe B HEn % T
3: 2 % 3k 20% wEH am 25% wEiEY
w5 ¢, @ e Thme 7 T w8

(a) 58% {b} 67.5%

c) 78% (d) 82.5%
The ratio of the number of boys to
that of girls in a school is 4 : 1. If
75% of boys and 70% of the girls
are scholarship-holders, then the
percentage of students who do not
get scholarship is:

w foowm o w5% aw @Rl W sm
4:1 ¥ 3% 75% wES T 70% wEhEA
gl firedt 2, & 1 = = vfow == #,
fo wrgfa =t fuewd ?

(a) 50% (b} 28% (c) 75% (d) 26%

186. A student has to obtain 33% of total

187.

188.

marks to pass. He got 25% of total
marks and failed by 40 marks. The
number of total marks is :

uF W H TE T F fou 13 ofF #1 33%
#F W TN B T R Ak W 25% IE
wrE A 3 40 ST A sEed 1 T 8,

dFmdE T
(a) 800 (b} 300
{c) 500 {d) 600

lin an examination, 70% of the can-
didates passed in English, 80%
passed in Mathematics and 1Q
failed in both the subjects. If 84 ca
didates pased in both, the tota
number of candidates was :

™ wa ¥ 70% whErt st MBO%

fara § et B E, A T
{a) 125 (b) 200
A candldatc

but another c who gets 32%
gets 42 i ¢ than the pass
marks. T percentage of

o Tl ¥ 20% #F W9
W ok 30 o | aEEw @ WA #
AT T whEr w 32% iF wra B R
i T8 iE A 42 ofF 9fuw Ta TR ¥ @
Tt aF w1 whEm o E 2

(a) 52% (b) 50% (c) 33% (d} 25%

i

189,

190,

191.

192,

193, In aff

194,

In an examination there were 640
boys and 360 girls, 60% of boys and
80% of girls were successful. The
percentage of faitlure was :

wF i ¥ 640 wm=% aw 360 weeal
mimm ¥ & Ak 60% wER T 80%
wfeal a9 ™ & @ amwa o B yRiea
A Hil

(a) 20% (b} 60%

(c) 30.5% (d) 32.8%

In an examination, 34% failed in
Mathematics and 42% failed in
English. If 20% {ailed in both the
subjects, the percentage of students
who passed in both subjects was:
W Ths W, 34% wferi m F [ 429%
st ot § smem @R H A 20%
wimEnlt SR fawal o wwna gU o @
i s <A e d wew wR # 2
(&) 54% (b} 50%

ic] 44% (d) 56%

A candidate secured 30% marks in
an examination and failed by 6

marks. Another secured 40% marks

and got 6 marks more than the pass
marks. The maximum marks are:

™ W3 W Tw e § 30% 3% A g
T 6 HAH q IHEA T W DR T
40% % T gY 3 TE A 6
wra g & s ofw w2
{a} 150 (b} 120
{c) 100 (™

Two students appear

amination. One of _-.tﬁe
marks more th:
marks were 56‘}’

ﬁ@wher and his

h@. sum of their
_}tmned by them

% #, A TR ke ¥
(b) 43,34
(d} 39,30
examination, 52% students
\failed in Hindi and 42% in English.
If 17% failed in both the subjects,
hat percentage of students passed
n both the subjects 2
o e # 52% o TR F 4w 42% T
A § ares W #1 Ak 17% e A
farwi § srawe §R #, df FRE whe B A

fawdl ¥ wEE gu?
(a) 38% (b} 33%
() 23% (d) 18%

In a group of students, 70% can
speak English and 65% can speak
Hindi. If 27% of the students can
speak none of the the two languages,
then what percent of the group can
speak both the languages ?

il & o e U 70% 9 st s 65%
ot ) s wd $ioai 27% o 5 @
9w T dm v ¥ W e vl
arr e s Je w82

(a) 38% (b) 62%

(c} 28% {d) 23%

165.

196.

197.

25% of the candidates who ap-
peared in an examination failed
and only 450 students qualify the
exarn. The number of students who
appeared in the examination was:
TF T Y 25% T AERE B oW ¥ sk
FaE 450 B THA Te 2, @ han § |
I F Hewm A Hi?
(a) 700

(¢} 550 (d) S00

In a scheool 40% of the students
play football and 50% play cricket.
If 18% of the students neither play
football nor cricket, the percentage
of the students playing both is :
qmﬁmﬁw%@%ﬁm T 50%

{b) 600

o1 fFge gel 18% o = gw 56
B ] 2w e &2
{a) 40° ¢ (c) 22% (d) 8%

In a class, %e number of girls is
20% more that of the hoys. The
stredijth of the class is 66, If 4 more

are admitted to the class, the

-¥atio @ the number of boys to that

i

%w

198,

199,

200,
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of@ithe girls is:

T ¥ wefedl w Wem, @Ew 4 20%
aﬂﬁmﬂlwﬂmﬁﬁmmﬁﬁémﬁ
w4 ¥ 4 wgheat o o S, A wew aw
wEfwal =i dem 1 s = w?

@) 1:2 (b} 3:4

fc)1:4 dy3:5

In two successive years 100 and 75
students of a school appeared at the
final examination. Respectively
75% and 60% of them passed. The
average rate of pass is:

T frEmE @ 2 well F 9w 100 v 75
o TF e H wive A # e |
75% T 60% B WEA T F, & wwam
it T AW w0

4
(a} 68; % (b) 78%

(c) 80% % (d) 80%

A student has to secure minimum
35% marks to pass in an examina-
tion. If he gets 200 marks and fails
by 10 marks, then the maximum
marks are:

F T § A9 T % U oF 9 S 35%
F W FH #1 f ITH 200 AF W@ a ¥
W W 10 SF ¥ smea 1w 2, @ stfvmm
#% I| FL

(a} 300 {b) 400

{c) 500 {d) 600

A candidate who scores 30 percent
fails by 5 marks, while another can-
didate who scores 40 percent marks
gets 10 more marks than minimum
pass marks. The minimum marks
required to pass are:

= gfwErlt W 30% AF A TR R Sk S
I F IEn B A ¥, wwfE g whwEed
40% 1% W oA ¥ sl 3@ wE @ 10
¥ sifas W ¥ ®, @ Yo T #2

{a) 50 (6) 70 () 100 (d) 150




201,

202,

203.

204.

205,

In an examination, 65% of the stu-
dents passed in Mathematics, 48%
passed in Physics and 30% passed
in both. How much per cent of stu-

dents failed in both the subjects ?

v wie ¥ 65% @@ TR §, 48% €
Aot § 7on 30% o M fawl f wEe B
2, o for v om 36 i o emea W@ 2
(@ 17% [b} 43% {c) 13% (d) 47%

72% of the students of a certain
class took Biology and 44% took
Mathematics. If each student took
at least one subject from Biology or
Mathematics and 40 took both then
the total number of students in the
class is : T T W 72% T
oa-faam 2 44% BE TR | WA W
#1 ofy v= B § Ha-fEE o e § ¥
9 § w9 0% faua fom w sk 40 oEi 3
AR AT i@ ¥ ?
{a} 200 {b) 240

{c) 250 {d) 320

In an examination, 60% of the can-
didates passed in English and 70%

of the candidates passed in Math-
ematics, but 20% failed in both of
these subjects. If 2500 candidates

passed in both the subjects, the

number of candidates who appeared
at the examination was:

ww gl ¥ 60% T S F Fen 70% B
s ¥ g%a qu AfFE 20% o A
¥ wawa § W AR 2500 v & faw
aHE €T W, O Ten § @ o H wEM
w7

(a} 3000 (b} 3500

(c) 4000 d) 5000

In a test a student got 30% marks
and failed by 25 marks. In the same
test another student got 40% marks
and secured 25% marks more than

the essential minimum pass marks.

206.

207.

208.

209,

In an examination, 80% of the boys
passed in English and 85% passed
in Mathematics, while 75% passed
in both. If 45 boys failed in both.The
number of boys who sat for the ex-
amination was:
o TiW § 80% @gd HSH H W 85%
S e & g 2 & EE75% e
a4 W & ARk 45 T O faw A
see T, o vl ¥ 513 e wee 4 ?
(2) 400 (b) 450
fc) 200 {d} 150
In an examination, 35% of the can-
didates failed in Mathematics and
25% in English, If 10% failed in
both mathematics and English,
then how much percent of candi-
dates passed in both the subjects ?
w e §, 35% wiEE nfom § 9w 25%
it aiisht W soww W AR 10% gfe
=l foel W srmee ), @ fEe wfaem wfadhf
Al fawal F wew @ 7
(a) 50% (b) 55% (¢} 57% {d) 60%
In an examination, a student had -
to obtain 33% of the maximum
marks to pass. He got 125 marks
and failed by 40 marks, The maxiy
mum marks were; "
= T ¥ §wa 61 # f@
33% iF WW 0 & T 125 A%
i A 40 sH ¥ SEFE B I, 6
Y afuwam o T A2 5 )
{a) 500 {b} §¢
(c) 800 (ch. 1
For an examinati required
to get 36% of imam marks to
pass, A ¥ ud?né got:' 113 marks and
failed by ¥ . The maxmium
marks fof #dugkamination are :
T & e afaeaw 5w
ik TR ¥ €1 TF BT oA 113
W 3R T 85w | aEE
e § afiran s T own §2

The maximum pass marks for the . @ . (b) 550
test were : {c) 565 id) 620
& T ¥ I F 30% FE W 313»"%‘% m{ A student scored 32% marks in sci-

ﬁxaz%mﬁmlﬂmilmw’i@i%

H g 9 A 40% ¥F W v ¢ ol I,
FHiviiE 4 25% 3w SfuF T @ o vhen F
sfuan ol % =0 A2

Vit

{a) 400 1] -
(c) 500 d ¥
In a village, each of t of fami-
lies has a co o%;h’e 30% of
families has ¢ b d each of

Wbe? How many fami-
& a cow or a buffalo?

30% ol # v\ s da ¥ @ 15%
wferd & wm m-dy 3 b afk gE ofEn
= e 96 2, @ frad ofeml ® 9w TF of
am g w
(a) 20 (b) 24

c} 26 (d) 28

id

.ence subjects out of 300. Kow much
‘should he score in language papers

“ out of 200 if he is to get overall 46%

marks?

uF oA w oo ¥ 300 ® & 32% 3% WA
R ¥, o W % faegi § 200 § & feen w5
W wE T A SEE 4@ T 46% B

W, ?
{a) 72% (b} 67% (c} 66% (d) 60%
. 90% of the students in school

passed in English, 85% passed in
Mathematics and 150 students
passed in both the subjects. If no
student failed in both the subjects,
find the total number of students.
e 4 90% om el &, 85% v A
4 wwm oW §1 150 oo Zef fawal F wew
TR # A i wi e ¥ Y fawal § amem
- ¥ &, 9 vt F w@ Tem b

{a) 120 (b) 220 {c] 200 (d) 300

212,

213.

214,«1!'1

216.

217.
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In a college, 40% of the students
were allotted group A, 75% of the
remaining were given group B and
the remaining 12 students were
given group C . Then the number of
students who applied for the group is:
7% Fem 9 40% o A TR A Y T ™,
Moo # 75% wni # AR B @ ™
ok ¥ 12 o Wt wE C W T, @ 59
ot 3 4 W & R sEm & w2
(a) 100 (B} 60  (¢) BO () 92
The ratio of the number of boys and
girls in a school is 2 : 3. If 25% of
the boys and 30% of the girls are
scholarship holders, the percetange
of the school stfdents whe are not
scholarshlﬁh ers is

EEEA F U 2 :

W 30% TWEHRG i
orgfy T T TR e

%o
(o¥:549%

(&) (b) 36%
! (d) 60%
» annual examination Ankita

10% less marks than Eakta in

marks of Eakta are:
ot i ¥ offea =i 7@ & wma o 10%
w9 FF WA T IR A w31 FF TR D
W T w fe HF WA W
(@ 90 (b)) 87 (c) 88

Ef‘?n hematics. Ankita got 81 marks.
e

;”*‘*‘w*

{d) 89

. In an examination, 19% students

fail in Mathematics and 10% stu-
dents fail in English. If 7% of all
students fail in both subjects, then
the percentage of students passed
in both subjects is:

uF wian ¥, 19% 9 7fm § Fen 10% =@
Sl F srEe @ IR & A oh o W 7%
o3 3 faed A smew B oW &, W@ e
wiwm g oA fawal o owe g ?

ja) 36% of all students

{b} 64% of all students

(c} 71% of all students

(d) 78% of all students

In an examination, a student must
get 36% marks to pass. A student
who gets 190 marks failed by 35
marks The total marks in that
examination is:

uF e 4 wF v W oaed W % T
36% ¥NF =feT) TF 913 H 190 3iF T 5
st =z 35 wa § wmea o ™ & viw |
i oF 7 &

(a) 625 {b) 450 {c) 500 (d) 810
The ratio of the number of boys to
that of girls in a village is 3 : 2. If
30% of boys and 70% of girls ap-
peared in an examination, the ra-
tio of the number of students, ap-
peared in the examination to that
not appeared in the same examina-
tion is

wF v Y wed o wiEd w3 i 2 h
R 30% TS T T0% wEhedl o wha §
wifte #dl #, 9 wha %3 A= e & =R wn oy
T 3 W@ v ® e TR w2
(aj1:1 (b} 27 : 23
c)9: 14 (d) 23 : 27




218. In an examination there are three

219,

220.

221,

222,

223.

subjects of 100 marks each. A stu-
dent scores 60% in the first sub-
ject and 80% in the second sub-
ject. He scored 70% in aggregate.
His percentage of marks in the third
subject is

= T & 4 v € ot wes @ afemm
#F 100 4 1F 2m wed famm § 60%
7t fama ¥ 80% SiF Tw w@ §1 3D W
70% % wa oN %, @ e P oW
fioa wievm % WA w7

(a) 80 (b 60 c) 65 (d) 70
A person gave 20% of his income
to his elder son, 30% of the remain-
ing to the younger son and 10% of
the balance, he donted to a trust. He
is left with ¥ 10080. His income was;
wF = el Am o 20% 92 R w1,
AW =1 30% B 4 A @ ¥ ik v afe W
10% U 7= F T T i & IEE W 9w
710080 ¥ ¥, & saF M@ w2

(a) T 50000 (b) T 40000

{c) T 30000 {d) ¥ 20000

Ram spends 40% of his salary on
food, 20% on house rent, 10% on
entertainment and 10% on convey-
ance. If his savings at the end of a
month are ¥ 1500, then his salary
per month (in ¥ ) is :

T AT W 40% HEE W, 20% 9 H
T, 10% T TSR 10% weam
Wy T § AR W o A e 9
21500 ¥, A suH wieF 3 fean 2 2
{a) T 8000 (b} ¥ 7500

(c) T 6000 {d) T 10000

Out of 2500 people, Only 60% have
the saving habit. If 30% save with
bank, 32% with post office and the
rest with shares, the number of
shareholders are :
2500 wi ¥ & BIW 60% W TR T )
% 30% @M ¥ A, 32% dm =H WU

= Hem ¥ ?
{a) 450
{c) 950

(b} 570
(d) 1250

Bhuvnesh spends 30% of his sal- -

ary on food and donates 3%.in a
Charitable Trust. He ap,ends 4
2,310 on these two itenis, then to-
tal salary for that month is:

qEn AT ¥ B 30%, e T 3 3%
™ W e W A TR W
72310 = m% A, 5TF AfwE 4
e &2 05

{@) ¥ 6,000% ° 5 " (6) T 8,000

(€) T 9,000 * . {d) T 7,000

A man had a certain amount with
him. He spent 20% of that te buy
an article and 5% of the remaining
on transport. Then he gifted T 120,
If he is left with T 1,400, the amount
he spent on transport is:

T S

w A T OES A % A W R W
20% TF IR WA W @Y F@ ¥, T W
1 5% T W @S F ae T €120
I & % fim, &R 39 9w T1400 Fig w9
B, & T= wew W R e e feu?
@ 2T 76 (b} T 61

fc} T 95 (d) T 80

224. In a big garden 60% of the trees are

225,

226.

227,

coconut trees. 25% of the number
of coconut trees are mango trees
and 20% of the number of mango
trees are apple trees. If the number
of apple trees in the garden is 1440
then find the total number of trees
in the garden:

o B¢ W 60% 93 TEa F #) FiEm
= T # v B 25% Vg am & ¥g 3 3
o Y # wem F 20% g W@ |
o a0 F ¥ 4 Fen 1440 ¥, W wik #

o fees g 22

{a} 48000 {b) 50000

(¢} 51000 (4) 45000

Out of his total income, Mr. Kapur

spends 20% on house rent and 70%
of the rest on house- hold ex-
penses. f he saves ¥ 1,800 what is
his total income {in rupees) ?

229.

230,

o

1 FF 3T T A A m%ma}ﬁmimﬁi" B

M T W 0% Eiﬁaa‘fﬂ?aémil
T T 1800 T &, ﬂmﬂmaﬁﬁl
(a) T 7,800 {b) T 7,000 ““
{e) T 8,000 (d}'T Fup0O0
Bhuvnesh spends 75%‘ his in-
come and saves the, r&t His in-
come is increased 0% and he
increases his exfndittire by 10%.
Then the.increade in savings [in
percentage}’ls o

T A AR5 % TE FE € e 9
Wwﬁmw%lmz\mzo%nwﬂ
ST e o 10w T B @ 3R
W i ﬁa‘cﬂ”&ﬁ?ﬁ + Iz ¢f?

{ay %':0% “(b) 52% (¢} 45% (d) 48%
Mr. 75 spends 35% of his salary on

# food” and 5% of his salary on
Ao F9 T R H e T, A R-ARE,, |, _children’s education. In January

228.

%2011, he spent ¥ 17,600 on these two
pe

items. His salary for that month is:

g, X o %@ T 35% WA W oA 5%

=i # fom = = =@ % wEd 2011 #
I2E TS A 17,600 v = fey, @
39 W T 9 oW ?

(a) T 40,000 (b) T 44,000

{c) T 48,000 {d) T 46,000

A man gives 50% of his money to
his son and 30% to his daughter.
80% of the rest is donated to a trust.
If he is left with 16,000 now, how
much money did he have in the be-
ginning?

T =i A0 4T w1 50% W AT T W
aihao% win s o A & de o
80% wm fFdt 7= ® % T s # e Al
0 =fm % W T 16,000 79 ®, @ 35S
e Tes | = oA uf oy
(=) T 4,00,000 {b} T 40,000
(c) T 90,000 (d) T 80,000

232,

233.
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Type E

8% of the voters in an election did
not cast their votes. In this elec-
tion, there were only two candi-
dates. The winner by obtaining
48% of the total votes, defeated his
contestant by 1100 votes. The total
number of voters in the election was:
T TN ¥ 8% WRAwE ¥ A T s 3w
T H Fw 2 TEiRER o fa w e ae
F 48% W T 9 I 1100 vl & faem
wa oA g A R e w92
{a) 21000 {b) 23500
{c} 22000 {d) 27500
In an election between two candi-
dates, 75% of the voters cast their
votes, out. offgwﬁkh 2% votes were
declaresi invalid. *A candidate got
9261 vVatesgwhich were 75% of the
valid votes. THe total number of vot-
ers enrolléd=in that election was:
wr TR § % Iudean #175% TRt 4§
3@? “gad ¥2% W sy afE W= R

; % el W 9261 A il W dw AR =
L79% 3, & 3T § %o e v §2

8} 16000
w(c) 16800

(b} 16400
(d} 18000

1
‘;Lﬁ 931.A man spends 125% of his salary

on item of daily use and 30% of the
remainder on house rent. After that
he is left with ¥ 2940. How much
is his salary ?

S - 12%% PPRp—

A wpll W wd F@ f ook W oAw W
30% W & 5 W @d v ¢, W W
o UM 72940 373 ¢, @ 39w A @
(a) T 4800 (b} T 5200

(c) T 4500 (d) ¥ 4000

In an election between two candi-
dates, the candidate getting 60% of
the votes polled, is elected by a ma-
jority of 14,000 votes. The number
of votes obtained by the winning
candidates is

= g ¥ 4 soiwan #1 e gl #@
w% W W 60% AR fiem 2, T 14000
dqef & wgwa | | A 2 @ i 9w
IHfEn & fHe ae wa g

(a) 28,000 (b) 32,000

{c} 42,000 (d) 46,000

A man spends 40% of his monthly
salary on food and one-third of the
remaining on transport. If he saves
% 4,500 per month which is equal
to half the balance after spending
on food and transport, his monthly
salary is :

s SfE R TfeE s E 40% e W
9 ¥ W wE-faeE e W owd wm
o 7 T 4500 WiTF IO &, I e aen
AR W e # A S o s 2§ e
e 495 T w1 ?
(a) T 11,250

(c} T 25,000

(b T 22,500
(d) T 45,000




234.

235.

236.

237.

238.

239,

In an election there were only two
candidates. One of the candidates
secured 40% of votes and is de-
feated by the other candidate by 298
votes. The total number of votes
polled is:

T g ¥ 9w 9 Tiean ¥ w suiEr
W 40% T R ol W Wt weiwam @
293 @ § T T, W TE °§ %w fw A
= My

{a) 745 ib) 1460

(c) 1490 (d} 1500

In an assembly election, a candi-
date got 55% of the total valid votes.
2% of the total votes were declared
invalid. if the total number of vot-
ers is 104000, then the number of
valid votes polled in favour of the
candidate is :

TF faF B R ¥ v sk = 3y O
& 55% dR el = oA = 2% iz adw
sife w it T o wEEmEed g wen
104000 ¥, @ fFrY &9 3k sofitar =
et ?

(a) 56506 (b) 56650

(c) 56360 (d) 56056

Two candidates contested in an
election, One got 60% of the votes
and won by 1600 votes. What is the
number of votes polled ?

o IEiTIN OF T W ) vw IufEan w5
60% a1 fret R 7 1600 A & i ™,
@ %7 fFe = =@

{a) 9000 {b) 8000

{c) 10000 {d} 7500

In an election, there are three can-
didates contested. The first candi-
dates got 40% votes and the sec-
ond got 36% votes. If total number
of votes polled were 36000, find the
number of votes got by the 3™ can-
didate,

wF 14 ¥ 7 ToiiTan #1 o wikan &
40% Fre i @ wt sefmEr # 36%
s fiEh IR 3| 36000 d= B, @ R
THflEr = PR ae T gy 2

(a) 8040 (b} 8640

{c} 9360 {d) 9640 B

Two persons contested an electw‘hA

of Parliament. The winning candi-%,

date secured 57% of the to votes
polled and won by g maj ity of
42,000 votes. The n b@; of total
votes polled is: . ‘*3'
ol T A & ?ﬁn o]
e TEiRw w1 g A= wra
W 5l 77 42040 %w,aﬁwﬁ
=0 R di Ty

(@) 5, b} 6,00,000
{c) 3,00, ) ' Z{d) 4,00,000
In an electiol, a candidate who

gets 84% of ithe votes is elected by
a majority of 476 votes. What is the
total number of votes polled 7

TF I ¥ U InieEn W 84% e foem ¢
R 7 476 R A e I 2, W@ T A
frt G T M ?

(a} 900 (b) 810 (c) 600 (d) 700

.4‘*’%"
l“%

241,

242,

243.

240. At an election there were two can-

didates. A candidate got 38% of
votes and lost by 7200 votes. The
total number of valid votes were:
w T ¥ 3 Toiwar 4 wr suiwEn
38% 4 wiw gy skt T 7200 9 ¥
™, A Ay 9 W 5= vem o

{a) 13000 {b} 13800

{c) 16200 {d) 30000

Type F

A district has 64000 inhabitants.
If the population increases at the

l 0,
rate of 25 Yo per annum, the num-

ber of inhabitants at the end of 3
years will be:

™= fir § 64000 fa & Ak wmEm

e 2—;-% A 3, @ 3 o B o A

ot § frey frEmat v
(a) 70000 (b} 69200
(c) 68921 (d 68911

every year by 10% of its va{ﬁe

the beginning of the ye
present value of the propert
8100. What was its value 2 yes

ago ? Ny
wmwwmaﬁ
#( af dufv = e e N
aﬂwﬁﬂ'ﬁwﬂm

@ ¥ 10,0 ’f HR(“J X100

The value of a property depreclategekl&

mi’lm
a2

..--QTELT{;;XBIUO (d) T 9801

The pulat:on of a village has in-

€ creased annually at the rate of 25%.

244,

t If at the end of 3 years it is 10,000,
i the population in the beginning of

ithe first year was:
T ia W owwdEn shd 25% @ @ A

T 4 A 3w 3 v A Wiz 9 T
10,000 ¢ w o  yeam o Tl w
TR fEwe o

{a) 5120 (b) 5000
(c) 4900 (d) 4500
The population of a town 2 years

ago was 62,5300. Due to migration
to big cities, it decreases every vear
at the rate of 4%. The present popu-
lation of the town is :

2 T T T WR B TS 62,500 o
= I F o v R e
4% ¥ T A =il & A e ) oados
e e &)
f{a) 57,600
(c) 76,000

{b) 56,700
(d) 75,000

245.

246.

The population of a town increases
every year by 4%, If population was
5,0000 in starting , then after 2
years it will be :

TF W W TAEen v 4% wga &) o
artw W W W wEE 5,0000 of, 6 2 =y
T AR T F VG R e 2

{a) 53,900 {b) 54,000

(c) 54,080 (d) 54,900

The value of a commodity depreci-
ates 10% annually. If it was pur-
chased 3 years ago and its present
value is ¥ 5,832. What was its pur-
chase price ?

(b) T 7862

O T Fi T 10% 9= #1 af =g
39 e P gl T aEE g
5832 =g, et v A o
SRy Al

-/ (d) %8500
*eived T 8,80,000 as his

) 1 salary of the year 2007
. h1§ was 10% more than his an-

salary in 2006.His annual sal-
in the year 2006 was:

g; :’% =R F 2007 ¥ afés ¥ T8,80,000
i

o1, 5t 2006 9 IO =fds A ¥ 109% oy
& o, @ 2006 ¥ 4w 9 w0 oM

(a} ¥ 4,80,000 (b) T 8,00,000

() T 4,00,000 {d) T 8,40,000

248, The value of an equipment depreci-

249,

250.

ates by 20% each year. How much
less wilt the value of the equipment
be after 3 years ?

et s o g gived 20% wem ¥ A 3
T % A= TN e F oy v w2
(a) 48.8% (b 51.2%

(€) 54% (d) 60%
Present population of a v;llage is
67600, It has been increasing an-
nually at the rate of 4%. What was
the population of the village two
years ago 7

= M4 F T T 67600 1 s a
% F TG vt ag o & D
Tis F wEn = e 2

(a) 62500 (b) 63000

(¢} 64756 (d) 65200

The value of a property decreases
every year at the rate of 5%, If its
present value is ¥ 4,11,540, what
was its value 3 years ago ?

el Wofy = oo s 5% i w { v
¥ aff Tow =R g 4,11,540 = &
a9 o wa Wl = g B e 2

(a) T 4,50,000 (b} T 4,60,000

(c) ¥ 4,75,000 {d) T 4,80,000

251.The value of a machine depreciates
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by 5% every year, If its present
value is ¥ 2,00,000, its value after
2 years will be:

wE Wt T P whEd 5% mIa #) Al
iR W wEE g T2,00,000 }, @ 2 =
F T W O e Fm?

(a) T 1,80,500 fbi T 1,99,000

{¢) T 1,80,000 (d) T 2,10,000




and its annual increase is 10%,
then its population at the end of 3
years will be :

% UF T 3 WEET 64,000 ¥ I W
10% fed st 2, @ 3 = B 3= R oW
TN R
{a) 80000

ic} 85000

(b} 85184
(d} 85100

253, The population of a village decreases

at the rate of 20% per annum. If its
population 2 years ago was 10,000,
the present population is
T e F e YhEd 20% e AR
2 o wmA WE &/ wEEn 10,000 o, @
AR e w8
(a} 4600
(c) 7600

(b) 6400
{d) 6000

254, A clerk received an annual salary of

¥ 3,660 in the year 1975. This was
20% more than his salary in 1974
What was his salary in 1974 ?

1975 § T® FaE W wiiE @ 3660 T

252, If the population of a town is 64000 259 Raman’s salary is increased by 5%

this year. If his present salary is ¥
1,806, the last year’s salary was
Mmoo T F A A 5% woagied g AR
o WA 4 T 1,806 #, @ fagd
T 4 fHam w7
(@) T 1720

c) T 1520

(b) T 1620
(d) T 1801

260.The strength of a school increases

and decreases in every alternate year by
10%. It started with increase in 2000,
then the strength of the school in 2003
as compared to that in 2000 was:

wr frrem 4 TS a4 10% | 9% W #
TR T 10% I/ w2 TR ¥ ol W FW
wa %, iz af 2000 ¥ ol =t dem § ofs
&, @ 2003 ¥ IEl F wEW 2000 F
T % I A TR ow vfeww = w7

(a) increased by 8.9%

(b) decreased by 8.9%

{c} increased by 9.8%

(d} decreased by 9.8%

o AE 49 1974 & =S 49 | 20% A 261.The pouplation of a town increases

o, @ 1974 § IR WA fEET o2
(@) T 3,005 (b) T 3,000
(c) T 3,500 {d) T 3,050

255,The enhanced salary of a man be-

comes T 24,000 after 20% incre-
ment. His previous salary was:
20% ¥ IF F MR UH AR F WA 24000
T N W 2, & S freen F T H
(a) T 2,0000 {b) ¥ 21,000

(c} T 16,000 (d} T 18,000

256.The value of a machine is T 6,250.

It decreases by 10% during the first
year, 20% during the second year
and 30% during the third year.
What will be the value of the ma-
chine after 3 years ?

wF Wi w gem T 6250 ¥ e w6 wmm
TFa 10% TR @ § 20% v dmt =l o
30% wem ¥, @ 3 @ % R W W I
w0 g ?

each year by 4% of its total at the
beginning of the year. If the popu-
lation on 1% january 2001§w
500000, what was it on 1 .ﬁn -
ary, 2004 ?

oF TR T TEEm T F amM W RjW

FiE 50,0000 A,
SEE e ? S %

(a) 562432 (
(c} 465223 -”E?d]‘ 4232
262.The popul#jioy dksa yillage increase

iy . s present popu-
hen its population

(a) 4800 (b) 4000

(@) T 2,650 (®) 2 3,050 (c) 3800 (d) 3500
© T 3150 id T 3510 %e population of a town increases
’ ; ' y 5% every year. If the present

257.The value of a machine depreciate!

every year by 10%. If its present dpopulation is 9261. the population

258.The value of a

value is T 50,000 then the valpe of

the machine after 2 years %
™ Wi e v ]
W& TR gea T 50,000, % *
o e W oy T g

(a) T 40,050
() ¥ 40,005 %

T %3,000

40,500

: e depreciates

every yedipggt theygate of 10% on its
value at theWgkifning of that year.
If the curreit Value of the machine
is T 729, its Worth 3 years ago was @
o WA T o el 10% # W ¥ we
3 afz wiiR = WO T T 7208, @ 3
=i T weiA W T oW 7
{a} T 1000 by T 750.87
{© € 947.10 d) € 800

3 years ago was
uF Wt F wmeEn whed 5% wed 1 aft
=R e 9261 2, @ 3 ad we W
e F AN
(a) 5700
{¢) 7500

{b) 6000
(d) 8000

264.The income of a company increases

20% per annum. If its income is T
26,64,000 in the year 2012. Then
ijts income in the year 2010 was:
oF w F o 20% W o = wm
ofz Tt s w2012 ¥ ¥ 26,64,000
o & i 2010 ¥ e 7

(@ T 21,20,000

{b) T 18,50,000

(c} T 28,20,000

(d) T 28,55,000

Type H

265.In an alloy, there is 12% of copper,

to get 69 kg of copper, how much
alloy will be required ?

wr fasug 5 12% d #, @ 69 fem dla
wd % fom fes Taaum = e el 2

(a) 424 kg {b} 575 kg

(©) 828 kg (b) 1736 kg

266.40 litres of a mixture of milk and

water contains 10% of water, the
water to be added, to make the wa-
ter content QO%Pin the new mix-
ture is :

1]

"AWfter & fm F 10%

i ¥ _ T SR frern
6 T oAl § W B T 20% B W 2
{a) 6 litreswy (b} 6.5 litres
(c), 5.5 litre id) 5 litres

AgS e of 50 litres of glycerine is

d to be adulterated to the ex-
of 20%. How much pure glyc-
e should be added to it so as to

f .
%}bﬁng down the percentage of impu-

rity to 5% ?

50 who friwada & v Hw § 20% frame
£, A feow v frfaedn doa e frern g
i foom %1 'R 5% ® A2

{a) 155 litres (b) 150 litres

(c} 150.4 litres  (d) 140 litres

2683.Fresh fruit contains 68% water and

dry fruit contains 20% water. How
much dry fruit can be obtained from
100 kgs of fresh fruits ?

A TE § 68% T & aw g v ¥ 20%
w2, 7 100 fRw. T8 wel | fF et
TS o PR W €2

{a) 32 kgs (b} 40 kgs

{c) 52 kegs {(d) 80 kgs

269.1 litre of water is added to 5 litres of

270.
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alcohol-water solution containing
30% alcohol strength. The strength
of alcohol in the new soultion will be:
5 ot % TewrEa-uE g § 40% seEew
#) @ 1 . T fremm oA #, @ R faam
Y SFEEs 1 AhIm ¥ O ?
(a] 30% {b) 33%

2, 1,
(c) 3373— Yo (d) 335 Y
200 litres of a mixture contains 15%
water and the rest is milk. The
amount of milk that must be added
so that the resulting mixture con-
tains 87.5% milk is:
200 9. % v fame § 15% T @ ¥ {
# 9 fom o frew 39 fram W oA
fogwr § 87.5% T W ?
(a) 30 litres {b) 35 litres
{c) 40 litres (d) 45 litres




27 1. In what ratio must a mixture of 30%
alcohol strength be mixed with that
of 50% alcohol strength so as to get
a mixture of 45% alcohol strength ?
30% FTHEA T 0H A H, 509 wmwee
™ ©F faam 6w squm o fammn e R
W Tasor § 45% sewes 6 7
@) 1:2 m1:3
() 2:1 id3:1

272, The ratic in which two sugar solu-
tions of the concentrations 15%
and 40% are to be mixed to get a
solution of concentration 30% is
= HF B sl fa wue 15% a9 40%
4t 2, # fFa s o faern W R
fasor § 30% = K'T ?
fa}2:3 b}3:2
fc} 8:9 {do:8

273. A vessel has 60 litres of solution of

acid and water having 80% acid.

How much water be added to make

it a soultion in which acid will be

60%?

™ U ¥ uEE v w60 = fism #)

fod 80% wiz ¥ = feam writ fimn

e f5 T famor § 60% wHiE @ 2

(a) 48 litres {b) 20 litres

(c) 36 litres {d} None of these

75 gm of sugar solution has 30%

sugar in it. Then the quantity of

sugar that should be added to the
solution’ to make the quantity of the
sugar 70% in the solution is :

75 Tm F A % W § 30% W f @

wa ¥ e S Seh o fF o oue |

70% = & 2

(a) 125gm {b) 100 gm

{c) 120 gm (d) 130 gm

How much water must be added to

100 ml of 80 percent solution of

boric acid to reduce it to a 50 per-

cent solution ?

100 fasi 3 fram § 80% =wfiw whig #,

274.

275.

mmmwmmﬁﬁlmﬁk

50% d=ifts wHiE 1w W ? <

(a) 30 ml {b) 40 ml

{c) 50 ml {dy 60 ml
276.
and water, water is SO%@“The
amount of alcohol tﬁ.at .must be
added to the mixture so that‘the part
of water in the mlxture bécomes
15% is :
1# % a:aﬁzm
ok 31 A e
& fram Qi{i%i } & g 2
(a) 1000 {44 * (b} 700 ml
(c) 300 ml ‘L d) 900 mi
One type of liquid contains 20%
water and the second type of liquid
contains 35% of water. A glass is
filled with 10 part of first liquid and
4 parts of second liguid. The water
in the new mixture in the glass is:

ﬁ‘%ﬁmﬁ&‘(}%
mmm

277.

({;_

In one litre of a mixture of alcohel

get fasor § 20% 9 & qen gEt faso A 35%
urft #) W v | 10 S TEen T & 9o 4
om T fawm &, @ =W ® 4 faw F feew

yfoer Wt &2
{a) 37% (b) 46%

1 2
=] 12? % (d) 24?%

278. 15 litres of a- mixture contains alco-
hol and water in the ratio 1 : 4, If 3
litres of Water is mixed in it, the
percentage of alochol in the new
mixture will be:

15 d F fosm d aewEw aw TR W
A 14 ¥ 3f 3 e T e e o
e A T fasm A seERS = vave |noEmy

2
{a) 15% (b} 165%

1
(¢} 17% {d} 18—5%

279.In what ratio must 25% of alcohol be
mixed with 50% of alcohol to get a
mixture of 40% strength alcohol ?
25% FTHER T RN F, 50% FEHEA A
ﬁmwma'ﬂaﬁﬁammﬁs?ﬁﬁm

T 20% :ﬂaﬂm &?
al: h)2:
fc) 2 3 {d) 3: 2 &,

280. 20 litres of a mixture contains 20"/’0".'

alcohol and the rest is water. if 4
litres of water be mixed in it, the
percentage of alcoh@dd ” 1n the new
mixture witl be: . i ©

20 = 'q:qa:ﬁmnzo% amzaamm
i ¥ e 4 ﬁmﬁﬁwﬁmwm
T4 fago ﬁ snw’lza Ll vﬂtw w1 H 2

.\'\

% 1 2
{a) 335/9 % !y 163 o

,@ 2‘5%

281. The’ percentage of metals in a mine
of Jesd ore is 60%. Now the per-

() 12 %

. 3
7. centage of silver is ry % of metals

‘and the rest is lead. If the mass of

i “ore extracted from this mine is 8000

kg, the mass (in kg.) of lead is:
sﬁmma&wmﬁ&%ﬁ@%lﬁm

ufem o %%aﬁiﬂﬂvﬂwil

EHﬂSOOOﬁFJJL aF e WA 2, @
T fwem e, sien =2
{a) 4763 (b} 4764
{c) 4762 {d) 4761

282.300 grams of sugar solution has 40%
of sugar in it. How much sugar
should be added to make it 50% in
the solution?
300 m W % W@ ¥ 40% ) & o
Rt < st foomd I Cerfey, fred w3
i W 50% ® wm?
() 10 gms/wm (b) 60 gms/um
(¢} 40 gms/mm  {d) 80 gms/Tm
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283, In 2 kg mixture of copper and alu-
minium, 30% is copper. How much
aluminium powder should be added
to the mixture so that the quantity of
copper becomes 20%7
i oin wgiefem 3 2 S, faw § 30%
#1 mm fosm § feen wfifrm TEEE SR e
w1 Wi frd & AT 20% B W
(a) 900 gms {b) 800 gms
(¢} 1000 gms {d) 1200 gms
I

Due to an increase of 50% in the
price of eggs, 4 eggs less are avail-
able for ¥ 24, The present rate of
eggs per dozen is :
A2 F B ¥ S0k T B Fwor 224 F 4
2 wu fet, %‘Jﬁ‘l TR 42 W
A 3 A
@24 (b ©%36 (@F 42
Due to™ crease of 20% in the
price of e;g 2 eggs less are avail-
ablg, for ¥%24. The present rate of

s per dozen is :

i F 209 B §fE @ wm 24 F
o R2 W Fm R d R W R AR W

284.

285.

A
s LaMm T o R ?

™% “a) Rs. 25.00 (b) Rs. 26.20
5 7% (¢} Rs. 27.80 {d) Rs. 28.80

Qﬁﬁ If a man receives on one-fourth of
his capital 3% interest, on two
third 5% and on the remammg
11%, the percentage interest he re-
ceives on the whole is:

1
wwfqam’tmz W T R 3% =M@,

2
3 W W 5% = oA WY v W 11%

u femm 2, @ ¢ oW W SH g e
gfT =T W gan?
(a) 4.5% (b) 3% () 5.5% (d) 5.2%

287.A reduction in the price of apples
enables a person to purchase 3
apples for T 1 instead of ¥ 1.25. What
is the % of reduction in price ?
W F g § w9 F o ouw =fEm T 125
F3fm s eI 438 g 550
9 ¥ B e A St wfem St =0 g
{a} 20% {b) 25%
() 30% (@ 333%

J

288.The expenses on rice, fish and oil
of a family are in the ratio 12 : 17
3. The price of these articles are
increased by 20%, 30% and 50%
respectively. The total expenses of
family on these articles are increased
by:
wH AR www, wetl aw % W wd W
A 12 : 17 : 3 8 W oAgA @ W
wE: 20%, 30% T 50% W; W, @ =
g W I @Sl § e vievm Tt gfe

® At
{a) 1410 {b) 72%

8 8

. .
ic) 285% (d) None of these




289. The bus fare and train fare of a
place from Kolkata were ¥ 20 and ¥
30 respectively. Train fare has been
increased by 20% and the bus fare
has been increased by 10%. The ra-
tio of new train fare to new bus fare
is:

Femm ® 5 A % fau w8 R a3
feum wum: 320 @ 730 41 [ fFm A
20% % 7o w8 X 9 10% ¥ R @
e &, @ T e 3w W T8 fen w®

() 44% (b) 34% (¢} 54% (d) 64%
HTE AT FE? 296. In a town, the population was 8000.
{«} 11: 18 (b) 18 : 11 In one vear, male population in-
c)5:3 (4)3:5 creased by 10% and female popula-
200. Ram’s expenditure and savings are tion increased by 8% but the total
in the ratio 5 : 3. If his income popublatmtprri:lcre'asii by 9%. The
increases by 12% and expenditure number of males in the town was :
by 15%, then by how much percent Wwﬁmmm‘@“ﬁw
does his savings increase ? ® Hew 10% w1 “fﬁ"ﬁ ®1 wem 8% T
™ % T T T R S 3 B Ak It & A g e 9% T ¥, /W
TR T 12% 9 9 2, o wd 15% A sl @ wen w o ?
w7 &t # 9 SuaE w=m fean Wi w1 2 Ea:;ggg fg]]zgg?)
? { &
() 12% (b} 7% (o} 8% () 13% 297, The sum of the numbers of boys and
291. The ratio o.f two r_mmbers is4:5 girls in a school is 150. If the num-
when the first is increased by 20% ber of boys is x, the number of girls :
and the second is decreased by becomes x% of the total number o&&.
20% , then the ratio of the result- students. The number of boy s » .
ing numbers is: v fomr § wg® o agfed E@lil@ ik
Zt el W A7m 4 : 5 ¥ e s 3 o wE W oW x ¥, A ik
20% wgE Wt € TN g FEm 20% W mmmmﬁ@mwm
@ 2, @ e T SR o 2 7 W 2, W TS I A A
@4:5 ()5 : 4 @90 M7S ()RS () 60
(C]S:ﬁ (d}6:5 298.“1:]16381&51:&}(011&*1 iof set in-
292, A man spends 75% of his income. -1 ‘*‘@ :
His income increased by 20% and he creases from 7 hyto 8%, what more
increased his expenditure by 15%. His amount Wil l;av"& to,’be paid for the
savings will then be increased by: television &hgse ‘pnce {exculding
w s AT wE W 75% @ wa @ sales taxes ) i 19000 ?
T A 20% T3 D W ¥ AR = A & 1
] w B TS % kil
s  15% % ofE T §, @ v aw A Xy %"’Ti" ¢
fed R ) i B 2 ﬂﬂﬁé%ﬂﬂﬁmmﬁfﬁlgoooaé
(fawt = afem) @ fom fooelt
o 33 - e ufn SR 2
(a) 33% ® \(a} z 190 (b) T 95
() 35% @) 40% ”E > :lf? o @
293. A man spends 75% of his 1nco& ruit selier some appies. e
His income increases by 20% and¥, ; sdl? 40“3 app;if a%d flt;ﬁ has 420
his expenditure also increasgs by ¥ app esﬁ Erlg;;n ¥ _;a ¥ % 38
10%. The perccntage of m:&es = T e | 7€ 40%
in his savings is: ‘ ﬂﬂiﬂl%mﬁmﬁﬂmmoﬂaﬁ@%,
GWMWQ'TS" a’(sqa}ma@ﬁmﬁﬁaﬁ?
uw @ 20% H jfm {a} 588 apples (b) 600 apples
o4 ; {c) 672 apples {d) 700 apples
10% %8 TR, 300. If the monthly salary of a fan em-
wam # 9 oy 5
; 3
{a) 40% (b} 3 Q 50% {d) 25% ployee is increased by 2— , he
294. K the se in the popu-
lation of be 4% and the gets 72 rupees more. His monthly
present pop on be 17576, what salary (in rupees) is:

was it three fears ago?

af% T WA ¥ AR wwem 17576
st 9% 4% wfts = 4 =g ¥ @ 3 =W
e W ST A w7

(a) 15675 b) 15625

{c) 15624 (dy 15728

Miscellaneous
295. A student multiplied a number by

3 5
ginstead of 3 .What is the per-

centage error in the calculation ?

@m@maﬂ FH|A — ﬁuﬂlaﬂm

LA mmﬁmmaﬁaﬁzm

o T 18§ wi o A 2a% @

P o % & = 72w ot W wW
o T i Y A T # 2
(a) T 7200 (by T 3600
c) T 2700 (d) T 2000
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301. If the total monthly income of 16
persons is ¥ 80,800 and the in-
come of one of them is 120% of
the average income, then his in-
come is:

=f% 16 =fwEl F R TigE 9@ T80,800
% o =i A W oM, s am W
120% #, # Tost wa fead # 2
{a} ¥ 5,050 (b T 6,060
{© T 6,160 ) T 6,600

1
302. A spider climbed 625% of the

height of the pole in one hour and
in the next }_;a.Pur it covered

1 i A
12 > % qﬁggh%reﬁ;‘aining height. If

pole’s Hhighdss 02 m, then the dis-
tance climed In second hour is

.é@lﬁﬁwmat 621% S

aa?ﬁﬁsﬁtmﬁﬂéﬁagﬂqﬂaﬁm

B

‘w @é—% =z wH 1 AR Um W S 192

P&

» ﬂ?.?ﬂ{@ﬂéﬁﬂ?ﬂﬂé#ﬂﬁmﬂﬂﬁm?
(@) 3m (b} 5 m
fc) 7 m d @m

303.An individual pays 30% income tax.
On this tax he has to pay a sur-
charge of 10%. Thus , the net tax
rate, he has to pay is
AR 30% F| F qEA T 3 W W
o 3 10% afifen @R 3 e a9 5|
wdwm) W 2
() 45% (b) 40% () 33% (d} 27%
304. A batsman scored 110 runs which
included 3 boundaries and 8 sixes.
What per cent of his total score, did
he make by running between the
wickets ?
T oo 3 110 7@ T faad 3 o T
8 oas wine o, ® W F@ @ & fe
i ™ e w2

5
{a) 45% (bl 453 %

6
ic 54ﬁ Y (d) 53%

305. If the numerator of a fraction is in-
creased by 20% and the denomina-
tor is decreased by 5%, the value of

5
the new fraction becomes 3 The

original fraction is:
7z fpdd fa= W W 20% T fm AW 3w

RS%Wﬁurw,zhﬁﬁ%s’tmﬁ%.?h
arfaE o= T &7

95
© g5 @ 35

24 3
@ Tg ®1g




306,

307.

308.

3009.

310.

.Aa.ndBa.re

An interval of 3 hours 40 minutes
is wrongly estimated as 3 hours
45.5 minutes. The error percent-
age is:

3 w40 fre % uF i B e Y3 W
45.5 fre wm fam T, & gfem gm wm ¥
(a) 5.5% (b) 5.2%

ic) 5% {d 2.5%

The ratio of the number of boys and
girls in a school is 3 : 2. If 20% of
the boys and 30% of the girls are
scholarship holders, then the per-
centage of students whe do not get
scholarship is

@ e § wyad e rgfed o o 3
2 ¥ 3k 20% wF AW 30% wfe =
orgfa faerdt 2, &t fee whm ool =
gt et fowe?

(a) 50% {b) 72% (c) 75% (d) 76%
If the income tax is increased by
19%, the net income is reduced by
1%. The rate of income tax is:

e s § 19% W oAfE e d o yamh
3 4w vfem B e #1 e W o
M H?

{a) 6% (b} 4%

c) 5% (dy 7.2%

The population of a village was
9800. In a year with the increase
in population of males by 8% and
that of females by 5%, the popula-
tion of the village became 10458,
What was the number of males in
the village before increase ?
wﬂhﬂmgsoozﬁlwaﬂﬁw
Ft wEm 8% T wfgwrsl W Hew § 5% #
g5 =t # & i @ e 10458 & W
%fﬂﬂﬁ'ﬁf'ﬂ‘qﬁ@q’fﬂﬂm;ﬂ&ﬂ?
() 4200 (b} 4410

{c) 5600 (d) 6048

In the expression xy?, the values ﬂ%
d

both variables x and v are decre:
by 20%. By this, the value ofm
",

expression is decreased by:

= oy 4, ﬁaﬁxm;zmgin 20%
w4 & 4 v g m?ﬁm
U w9 E AR 2

{a) 40% ..
(c) 48.8% c

.r

B‘pomtsScm
apart a nt on AB such
that A N the length of AC
is increas 6%, the length of
CB is decreised by:
AmBﬁﬁs?ﬁ?ﬁa‘\aﬁ{&sﬂlﬁil
ABW uF fig C & won AC %) = 3 4t
#1 9% AC %) v 6% @ A wm A OB
=i v e wfawm 92 w2

(@) 6% () 7% (o) 8% (d) 9%

312,

313,

314,

315.

3k

’-(_ tracted from another number, the

M

s

317.

A man invests a part of ¥ 10,000 at
5% and the remainder at 6%, The
5% investment yields annually ¥
76.50 more than the 6% investment.
The amount invested at 6% is:

& =R T10,000 F |8 9W W 5% 7w v
oM H 6% BE W R e =@ §1 5% F)
T W R R 6% F1 R W FEm
& T A ¥ 76.50 = fuw s we ¥,
& 6% B 3w Ry v Flg & T o
(@) € 3,600 {b) % 3,550

{0) T 3,850 {d) T 4,000

Each side of a rectangular field is
diminished by 40%. By how much
percent is the area of the field di-
minished?

AR WA W U O 40% e fo
@ ¢, 7 Tow dawE o R i W e
Fmodt ?

@32 (b}64 (¢ 25 (d) 16
Ram saves 14% of his salary while
Shyam saves 22%. If both get the
same salary and Shyam saves z
1540, what is the savings of Ram ?
W A q W 14% 96w R owE

mmz\mmu%mm%wﬁzﬁ’f&

aﬁmﬂmﬁm%aﬂrmli@‘;m
T ], W TN RN T o _, S
{a) ¥ 990 {b) T 980 !"v

{c) T 890 [dﬁs?
%a s and
20% of

The ratio of the numbs
e girls are

girls in a school is & :
the boys and 25%@
scholarship hoﬁ%rs, then the per-

(c) 60% (d) 55%
Wheh 60% of a number is sub-

second number reduces to its 52%,

jthe ratio of the first number to the
#second number is :

UF WEr # 60% F, W oh wewm ¥ D
e e €, v e Wem e 52% w
s 2, 9 vEe W N Wem @ sTuE ww
Tt ? )

ia) 6:5 5.3

€)5:4 id4:.:5

In an examination in which full
marks were S00. A got 25% more
than C, C got 20% less than D. If A
got 360 marks. What percentage of
full marks was obtained by D ?

T it F sfuwan o5 5004, AH C A
25% sfum s yw Rt R cw D
20% =9 &% 9T #W #1 AR A T 360 HF
R @ % W D% sfmm odw = Feen
wivwa wra gan ?

(@) 72% (b) 80% (c) 50% (d} 60%

318.

319.

%Qﬁ

321.

322,

323.
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In an examination,1100 boys and
900 girls appeared, 50% of the boys
and 40% of the girls passed the ex-
amination. The percentage of can-
didates who failed:

o W § 1100 e v 900 wafwal
it w31 50% wIH w0 40% st
e eri 3, 9t Feet TR o sReE w7
{a) 45% {b) 45.5%

c) 50% (d} 54.5%

In-a factory 60% of the workers are
above 30 years and of these 75%
are males and the rest are females.
If there are 1350 male workers
above 30 years, ghe total number of
workers mﬁth

ctory is:
st 39 30 9 @
ndall NG5% T8¢ e Wy wfgemd
%laﬁlasoawmﬁaraﬂsusoaﬁaﬁ
mg,a’t Y
300

(b) 2000

&) (@) 1500
M class, the average score of girls
n examination is 73 and that
boys is 71. The average score for
the whole class is 71.8. Find the
percentage of girls.
s wia 4, s w3 ogfe w1 o
Wi 73 % am wwa = ofvm w71 8
T = W dm wdw Afr 71.8 @, @
wEfwal w1 wfwm T = 7
{a) 40% (b) 50% {c} 55% (d} 60%
Tickets for all but 100 seats in a
10,000 seat stadium were sold. Of
the tickets sold, 20% were sold at
half price and the remaining tick-
ets were sold at the full price of T
20. The total revenue from the ticket
sales, (in T) was :
w wfem # 10,000 W= § ¥ 100 df
Tl oigw vt 9 3 e ey i ™
foal ¥ 20% fewz Ay =M W aor T fomm
2W0F g R MW @ e oz

¥ e o oo
(a} 158400 {b} 178200
(c) 180000 (d) 198000

31% of employees pay tax in the
year 2008, Non- tax paying employ-
ees are 20,700, The total number
of employees is :

=t 2008 ¥ 31% wHER dwa(F) W PAW
W@ B IF) T H o s W

A 20,700 #, & @ fea sdard 2
{a) 31,160 (b} 64,750
{c} 30,000 id) 66,775

The allowance of an employee con-
stitutes 165% of his basic pay. If
he receives ¥ 11925 as gross sal-
ary, then his basic pay is (in 7 ) :
TF FHER W oam IR U 4 W 165%
¥ AR 3R 9 % 711925 frem 2, @
IHH 9T A Twaw 32

{a) 4000 {b) 5000

{c) 4500 (d} 5500




324.

325.

326.

327.

328.

329,

A saves 20% of his monthly salary.
If his monthly expenditure is ¥
6000, then his monthly savings is:
A AT Wi F9 W 20% 90 S 3 AR
EE AiEE @9 260008, @ Tom e
T=F 7 37

{a} Rs. 1,500 (b} Rs. 1,800

{c} Rs. 1,200 (d) Rs. 4,800
The population of a town is
3,11,250. The ratio of women to
men is 43 : 40. if there are 24% lit-
erate among women and 10% illiter-
ate, among men, the total number of
litreate persons in the town is:

w W B wAeen 3,101,250 ¥ ofeensd
U1 [ BT AT 43 140 B Al wlEensd §
24% finfem & aen Tewl F 10% Fraw 3, A
e fifel 3t dem T 2

{a) 1,70,700 (b) 1,73,700

{¢) 1,75,700 (d) 1,73,200
31% of employees pay tax in the
year 2008, Non-tax paying employ-
ees are 27,600. The total number
of employees are :

= 2008 ¥ 31% FH=d dm(w=) gwER
FA § F(F) T B 9w s )
Hem 27,600 &, 9 wi=iEl S §= wen
7 #?

(a} 31,160 b) 64,750

(c) 40,000 (d) 66,775

The population of a village is
25,000. One-fifth are females and
the rest are males, 3% of males and
40% of females are uneducated.
What percentage on the whole are
educated ?

w 1fa # wEen 25,000 f1 wEen d

%ﬂ&ﬁﬁ?mﬁuw%‘ls%wam

40% vt from €, & fead sl a@im
wew #7

(a) 75% (b} 88%
A box has 100 blue, 50 red balls,
black balls, 25% of blue balls and 508
of red balls are taken away, Precentag
of black balls at present is

™ TR § 100 WA, 50 @ TNGE0 A

4 ly
'E i;ll%

A dozer gairs} quoted at T
180 are aablE at discount of
20%. How fmarfy pairs of socks can
be bought for*T 48 ?

U =9 S el W o T 180 # sk
%8 W 20% 72 O WA %, 9 748 ° fEet
S T =i W o f

{a) 3 pairs {b) 4 pairs

{c} 2 pairs {d) 5 pairs

{a) 50%

{c) 33%%

(c) 55% (d) 85%

330. The price of a school bag and a shoe

331.

332.

333.

%@1
& {a) %
e} 32%

"ccmtain 20 and 30 students. The

335.

are in the ratio 7 : 5. The price of
the school bag is ¥ 200 more than
the price of the shoe. Then the
price of the shoe is :

T e A T R T G IR 7S
3T oW gm, R R T ¥ 200 TR
wiew &, @t 9@ W 7F 9@ w=

{a} T 200 b} T 700

{c} T 500 {d) T 1,200

Three sets of 40,50 and 60 students
appeared for an examination and
the pass percentage was 100., 90
and 80 respectively. The pass per-
centage of the whole set is

40, 50 AW 60 BT F T W T vl §
wife {1 T WREE W iaeE w100,
90 T g0 ¥, FA Tl w oo AEEm W
wftera =0 @72

2 2
(@) 883% () 843%
88tos 4 8419%
() 885 (@) 843
The sum of two numbers is 520. If

the bigger number is decreased hy
4% and the smaller number is in-

creased by 12% then the n ersy &,
obtained are equal. The s kllﬁ%}i&sﬁ

i "
oped

number is
2 dems | Am 520 R TH

w1 @ wm s 9@ dEm 12% W@ 9@
W e AT T 2,
(a) 280
[c) 210 :
In two successive

students of a schopl appeared at the

final examination, 8 which 60%
and 80% ‘padsedrfspectively. The
average ratdydf.students passed ( in
percent }¥s:

A

A

vy TF faoe # 80 aW 60
gian 3@ 2 f w: 60% aw
e 0 2R &, A o mww ol W
g7

(6} 65=%

{d} 36%
class has two sections, which

pass percentage of these sections
are 80% and 60% respectively. The
pass percentage of whole class is:
wF war ¥t TE T, P wue: 20 @
309H 4 W 9 TwE W AmEa = vl
w9 80% @ 60% #, 4 @ @ =t
e fea i peic i Ci Tl

(a) 60% {b) 68%
) 7% id) 78%
In a factory, the production of cycles

rose to 48,400 from 40,000 in 2
years. The rate of growth per an-
num is?

wF w1 § 2 76l § anfEa 1 3R 40,000
W TR 48,000 7 ™ W widw gfz =
A wl

336.

337.

A

339.
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"

A

{a) 10.5% (b) 9%

ic) 8% (d) 10%

In an office, 40% of the staff is fe-
male. 70% of the female staff and
50% of the male staff are married.
The percentage of the unmarried
staff in the office is

feft Friea § wre ®1 40% wfeerd #
70% Wieen €% @ a9 50% [EH =WE
femfin %1 wraferd o sfawied =rF W= whRE
T #?
{a) 65% (b} 42%
ic) H60% &ld) 64%
From 1980&99%::e population a
country Masfgc ed by 20%.

L the population of
s increased by 20%.

the couhtry B
From 20002010, the population of
the &untry was increased by 20%.

Mtion {in percentage) of the
untty from 1980-2010 was in-
ise by

880 # 1990 o fesl ¥ %1 swdt 20%

adh
1990 % 2000 & 39 W H JEE 20%
2

2000 ¥ 2010 ¥ 39 <W F et 20%
T A 1980 ® 2010 W TH W W Imn
FA 1 wiawm =9h
) 72.2%

c}) 60%

(b} 72.8%
(d) 62.8%

. A number is increased by 15%

and then decreased by 25% and
the number becomes 22 less
than the original number. The
original number is

foreit s i 15% wgrn ST ¥ R fis
25% 2R 9 € 3iR 74 TEm gm wemn
q 22 F9 ¥ W #1 @ Gewn Fu 7
(a) 140 (b} 160
(c) 120 (d) 100

(8SC CPO 20-03-2016, Morning)

If a person spends 40% of his
income on food, 20% on house
rent and 70% of the remaining
on children's education, then
the percentage of his income left

18
oy i =f@ A s W 40%
a9 W, 20% wHF fHFTd 1 99 Fl
70% T=ai 1 foen W = w7 R, W
THHI AE F Fwraw wfavm w=m?
(a) 6% (b 8%
{c) 10% (d) 12%

(8SC CPO 20-03-2016, Morning)




340. What percentage of the whole
week does Ajay spend in of-
fice, if his office hours are 9
am to 5 pm from Monday to
Friday?

IfE ST B FEEE F I GHAR o
YHAR 9 79 gE ¥ 55 v 7F §,
@ 9 [ wae * fean wfawe W
S wEleE § = e 82

(a) 33.33% (b) 23.81%

{c) 25.86% (d) 42.23%

{S8C CPO(Re} 04-06-2016, Morning)
There is a ratio of 5 : 4 be-
tween two numbers. If 40% of
the first number is 12, then
what would be 50% of the sec-
ond number?

% g 1 IEm 5 4 $1 o Teeh
TEm W 40 Wovm 12 2, 9 @
e 50 Wawm ¥ OEm?

{a)12 (b) 24

()18

(d) Data Inadequate

(SSC CPO{Re} 04-06-2016, Evening)
In an election 10% of the vot-
ers on the voter's list did not
cast their votes and 60 voters
cast their ballot paper blank.
There were only two
canditates. The winner was
supported by 47% of all the vot-
ers in the list and he got 308
votes more than his rival. The
number of voters on the list wasg

TF gE T 10 fave Hagared 4 o
T 7 fgn s 60 TER@edf § W

341.

342,

343,

344

. The ratio of the number of boys -

et 7 oraft sm w1 10 wiaem
ST & E 2 T Rt W
20% WETH oM 9% | SW A
fram 3T 3@ 39S W T 720099

(a) 3600 (b} 6200
(c) 4575 (d) 6028
(88C CPO(Re) 05-06-2016, Morning)

The price of an edible oil.is il:l- # 3t 3o o Teadt &2
creased by 25%. To maintain ()2 10000 (b)2 8000
the budget, Sush reduces

¢ budget, Sushma (€)T9000  (d)T 8500

the consumption of this cil by
20%. The increase in expen-
diture due to this edible oil is:

TR @ ® e ¥ 25 wfava gfg g
# 99 W9 ® = W B
U 79 99 & Iusr § 20 wiawE #t
FH! FA 2 TEA GG B BRU AR

{SSC CPO|Re} 06-06-2016, Bvening)

2
346.1f Rajdhani is 165 % slower

than shatabdj
is faster €h

then shatabdi
Rajdhani by:

frt e 1 o e '16‘°"*‘f"‘”f€“‘

(a) 0% (b) 1% mgr mﬁm‘f 3 o whwm & &
o o @% (b) 25%

() 2% (d) 3% o oo

(88C CPO{Re) 05-06-2016, Eveniag) A” g}i CPO(Re) 07-06-2016, Morning)

: “fhe red blood cells in a blood
and girls in school is 8 : 12. _1 jgmé sample grows by 10% per hour
S0% of boys and 25% o in first two hours, decreases
are getting scholarsh by 10% in next one hour,
their studies, what is remains constant in next one
percentage of scMo%stuclents hour and again increases by

who are not gé an 5% per hour in next two
getting any hours. If the original count of

scholarships 7y Y -

the red blood cells in the
ﬁﬂﬂfﬂwﬁﬂtﬁ ﬁtmﬁ sample is 40000, find the
T AW é‘&w%mﬁsom approximate red blood cell

count at the end of 6 hours.

! I vla@ﬁ?eira?rmﬁ s A e T e T
T BRSO 3§ 09 oy 2 9 A TR
B, 1 e R 3 3, fFt oT W W 10% wedt ¥ iR
(2)65% (b) 66% et W W feoR T § i fo omTel
- (0) 67% (d) 68% 2 5 § 5% 9 R # T A T

"= (88C CPO(Re) 06-06-2016, Morning)

}45:

¥ Aft Ye@: W A HIABN

Christy donated 10% of his 40,000 4t 4 6 5 ® AT A T

® @l Bg R e F 3‘“’!"\?31'{ income to an orphange and HITerRst F ST TS TE F2

& e IeiTER wf*wﬁ £ deposited 20% of the {2) 40000 (b) 45025

47 s w9, by A remainder in his bank. If he (c) 48025 (d) 50025

o whEEd § 308!“"{3 i e E'fas now T 7200 left, what is {SSC CPO(Re] 07-06-2016, Evaeing)
. B 3 15 11COoImMe.

T 3 g 4 Sttt 4

1. (9 } @ | 9. (a
2. @ |6 (g | 100 M
3. @7 9| 11. (@
4 @ s @] 122 m

13.
14.
15.
16.

ANSWER KEY

@ | 17 | 2. ®!| 25 @} 29 (© | 33 @
@ 18 M| 220 | 26 (= 30. B | 34 M
| 19 @| 238 ® | 27 @] 31. (@] 35 ©
@| 20 (@| 24 @ 28 (@) 32. @ | 36
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| 71, m | 105 @] 139. @ ! 173. (@ | 207. (@ | 241. (¢ | 275. & | 310. ()
38. @ | 72, (o | 106, ) | 140. ) | 174. @) | 208. (a} | 242. (=) | 276. (a) | 311. (d)
39. @ | 73. (9 | 107. (¢ | 141. () | 175. {b) | 209. ) | 243. (@ | 277. @ | 312 ©
40. @ | 74 (@ | 108 (© | 142 | 176. @ | 210 @) | 244. (@) | 278. @) | 313 O
41. (@} | 75. (o) | 109. (@) | 143. ) | 177. ) | 211. (¢} | 245. (¢} | 279. (o) g:‘; (o)
42, @ | 76. @ | 110. (a) | 144. () | 178. (a) | 212. (c) | 246. (c) | 280. ®) | 316 E'-:la))
43. (@ | 77. () | 111, (&) | 145. (o) | 179. d | 213. (&) | 247. () | 281. O} | 317. (q)
4. () | 78. (a) | 112. (&) | 146. (d) | 180. (¢} | 214. (a) | .248. (a} | 282. () | 318. @
45. (a) | 79. (o) | 113. (a) | 147. () | 181 (¢} | 215. (@ | 249. (a) | 283. (¢) | 319. (o)
46. (©) | 80. [ | 114 ®) | 148. () | 182. (o) | 216. (&) | 250. (@) | 284.4T0) | 320. (&
47. {a) | 81. (@ | 115. @ | 149. (v | 183. (¢) | 217. @} | 251. {(a) é~23&. 1;-1) 321. {b)
48. (a) | 82. (¢ | 116. () | 150. (c) | 184. () | 218. (d) | 252. () &a@e@ % (b) ggg (c)
49. @ |83 (@] 17 B | 5L (@ | 185 @ | 219. @ | 253. () | 287 @ | 55u :‘2)
50. (@ | 84. (a) | 118 (o) | 152. (@ | 186. i} | 220. () | 254 4d):| 288. () | 335
51. () | 85. (@ | 119. @) | 153. () | 187. {c} | 221. () .25&» (@ 289. M) | 326. (¢
52. (c) | 86. (¢ | 120. (a) | 154. (a) | 188, (d) | 222. () 2@& ) | 200 B | 327. (M)
53. (b | 87. () | 121. i@ | 155. (a) | 189. (d) | 223. _(d)+ 25 (@) | 291. @ | 328. (©)
54. (b) | 88. (b) | 122. (a) | 156. (b) | 190. () | 224.%(a) |, 258. (a) | 292. (o) | 329. ()
55. () | 89. (a) | 123. (& (b} szdf& i"259. (a) | 293. (¢ | 330. (©
56. (b} | 90. (&) | 124. (o) {a) | 226. 260. (a) | 294. () | 31 @
57. (b | 91. (&} | 125. (9 (cr‘%_f\; 227, (b) 261. {a) | 295. (d) ggg g
58. @ | 920 () | 126. () (b} I8 (@ | 262. B | 296. (@) | 334
59. fo) | 93. @) | 127. (a) -tb}“\f% 229. (d) | 263. (@ | 297. @ | 335 (@
60. (a) | 94 @ | 128. (@ A496. %r 1 230. (¢ | 264. (b} | 298. B | 336. (b)
61. (¢} | 95 (@ | 129. () 1% 1(b) 231. (a) | 265. (b | 299. @) | 337. ()
62. () | 96. () | 130. ) () | 232. (o) | 266. (@) | 300. (¢} | 338. ()
63. (@ | 97 (@ | 131. (q) @ | 233. ) | 267. ®) | 301. () | 339 @
64. (@ | 98 (o) | 132. (d) . (a) | 234 (© | 268 ®) | 302. (@ f;;’:? ()
65. (a) | 99 (@ | 138 (@ | . @) | 235 @) | 269. @) | 303. (o) | . g
66. (c) | 100. (0 | 134. (g (d) | 202. (0 | 236. () | 270. (¢) | 304. () | 5,5 (@)
67. ) | 101 (0 | 135 (B’g( %691 ) | 203. @ | 237. (o) | 271 @) | 395 (| 4., (@)
68. () | 102 @ | 136 ()" A170. © | 204 @ | 238 1 | 272. (a) ggg' g 345. (a)
69. f(a) | 103 (&) 1__31@.,&%(:} 171. (¢) | 205. () | 239. @ | 273. (b 308: © 346. (a)
70. (o) | 104 ©) %ﬁ%»—fb) 172. (@ | 206. () | 240. ) | 274. ®) | 309, (g | 347 ©




P

7////////////////7//////////.!//////7////////////#7///////////////////4"////.{////////////%6-7////7///

1. {e) '80% of A = 50% of B Alternate (dsfevs fafi) .
80 A 50 20% represents — 120
= T A
slfo 53100 1oy 120
= *= 20
A S 20
= 8 So, 120% = = x120=720

Put value of A in given equation, g mQ
& a 8. (a) According to the question

FHHETT H AT WA WA R,
B = x% of A O, y
° o 75 100
x 5
= —x—B
= B=150"% +25
_ 100x8 35
=  Xx=73 Required % (314 %) = 7§x100
= x= 160
2. (d} According to the question _ 33l%
(W Fgan),
. 80 6. (¢} According to the
= X= 700 (FrgEmn),
P
4 P =
= X= gy x]OO 36
= P? = 3600
Y 10p- 22100 =P = 60 =
Required {snfreo,= 4 ¥ _ T
S &HOO: 4%
= 125%

3. ({a) According to the question (N¥THN),

x 100 = 200%

9;‘\ (=) ccoding to the question
;

do 20
100 100

]

J (IFITER), xn
m_20_2

n 10 1
m:n=2:1
10. {a) Required % (31¥= %)

=32 100
4. = 125%
According to egtion (WEAITHR), Always write a : b in% = %xlOO
20 .
T 11. {(a) Required answer (3 IWY
x = 600 1,15
=¥ 10000 x —x =3
Required answer (31 IW) 3 100x100
120 _ 30 x=72
- 600x123 =720 12. () 55"

B B B B B S o

o B o B o

¥ 18, (b)
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T T

AR

R

B e L e o

15 25
13, {d) 100 A+B)= 100 {A - B}

= 15A+15B=25A-25B
= 10A = 40B
> A=4B ¢

= 400%

= 300><l><l=15
4 5

25 x
2 100

=150

150200
*T T 28
16, (&) SO (x - ¥} = 30 (x + ¥}
= Sx-5y=3x+ 3y
= 2x= By
x= 4y

= 1200

1
Required % (31%1%2%)= %x]o() - X100

- 25%
17. (¢) 50P = 25Q
2P = Q

Then, P = 2P = x= 850

100
X 204 50B
8. ™ 750 " 100

24 =5B = A= B

(S YR

Required % (21%=%)
B 2B
= —x100= =-x100 =
a x 5B ® 40%.
19. (a} Let the number (WFI & &) = x
According to the question (WFIER),
18 12
100~ 100
= 18x =12 x 75
12x75
18

Hence, required number (3 w®m) = 50

= xXx x 75

=X=-




1 1
12—% = =
20.(a) 5 8
9 —>» Income of Ram
= 8=> Income of Syam
According to the question (WFITHR),
Ram : Shaym

Ratio of
Income —a 9 : 8

s

1 1
Required % (H¥fs2%) = 3 * 100 = 11%

o=

21.(b) 20% =

=

Y

6 : 5
e \_—/
-1

1 2
Required % (35I%%) = G * 100~- 165%

Alternate (3Ffeqs fafr).

20

. —22 _ 00
(100+ 20}

Required % (50#%)

163%.
3

"
_
+
I
"
I
g

22. (b)1 hour 45 min

Required % = x100 = 7.291%

7
4x24
23. (b) Required answer

= 100x EXM
100 100

60
- 90x 22 _
“Joo = %4

24. {d} According to the questioy;

(rETaR) ,“%
30 1
To5A=0.258= gc\)

10
RequireclratioofA:B:C=?:4:5

A:B:C=10:12:15

23. {a) Required percentage

0.01 _
o1 x 100 = 10%
26. {a) Let the numbers are a and b where

a>b.
w6 S o 70 bE Sl s p
According to the question,

(a-bj= %[aﬂ)}

3
(a-h)= 20 (a+h)
20a - 20b = 3a + 3b

o]
-

> A:B=1:4
Hence required ratio = 1 : 4

. 32
35. (d) Required percentage = %XIOO =

40%
9 . 30
90,305

36 756"~ 160

= 3=B .. (i)

B=x% of A &

17a = 23b . ® ,\
a 23 =— .
b 17 100 \
Required ratic = 23 : 17 34 = Ax
27.(a}According to the question, = T 100
P : Q X 5 3%?
6 : 1 37 Mr A=30% of B
W -::_:;: = 30B
A ... i)
. 5 250 i, By
Required % = 6"100 3 333!‘5 B=£XA
; 100
. 6
28 .{a)Required percentage = 5000 t] 24 =£><A
100
A = x = 150
38.(|d) Required percentage
o __L (1206}
29, [c' 2 1002 = % = mxloo
) +£] = 402 x100 = 300%
30. (b) Requir, 60/ 100 134
24 50 LQ.EQ 80
165100 1 700"~ 100
24« 60 = 3a=2b
= 11.45% 5
1.14 a =§b put value of a in given equation
) Required percentage= 1.9 %100 |
: (fw T TR § a w1 AW T,
1140
32, (d) Reguired percentage= 0.001 x bta = 2 =h =5
100 b-a b-Z 3
= 0.1%
3 b+a _
33. (d) 60% of A= 7B = p_a-3
S 40.(3) —= (A +B) = —— (B
2A + 2B = 5B

= A:B=5:4

o>
I
£,

30 18
34.tb) 755 (B-A) = o5 (B*A)

30B — 30A = 18B + 18A
12B= 48A
B = 4A
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2A = 3B
3 N .
A=5 B Put value of A in given equation
(f&u T T § 3 A T ),

2A-B 3B-B 2B 1

24+B 3B+B 4B 2




3 From equation (wviwe (i) ¥
$@&-B 20y

W=

2
41. (a) E{A + B)=

Required answer = 002 10% of ¥
24 + 2B= 3A-3B
A = 5B 49. {d) Aocordmg to the question
Put value of a in given equation (ffg A: B : C
TRF § o W I T 1: 2 5 (60A = 30B)
2A-3B _7B _7 (%=%]
A+B 6B 6
42, {d) Required percentage i = ?
72
= ————x100 =9 ¢
3.6x1000 2%

5
Required answer = 1 100 = 500%

43. (a) xxﬁ=1002>x=80 50. (d) According to the question,
’ 100

204 _30B_C
100 100 6
a4, (b) 2 p-q)- —{P+Ql
100 A,
SP-50Q =3P + 30 _15.:/91
2P = 8Q i
= 40Q A:B:C=15:10:18
Put value of P in given equation (f§3 ™
I H P A @ W) 51. (d) 50% of x = 30% of y
x x_30% EV
Q=P Joo v 50% A% (S
x: y=3:5 %’
Q = 4Q x
100 4 A
x=25 82. (¢) 80% = . %,

5 iy
Hence required value of x = 25 Note: In such type of %a to make

me number

25 your calculation eas;g
4%, (a) 120 x — + 380 = which is multlple off
100 100 . % é
= x x 637 "”"'Wﬂm
= 30 + 152 = x x 637 o
& =) = 5x
= ;g—g =x e question (Y¥ATLAT),
.2
> x= 7
e _2
= Tequited answer T v eqyjred number (e TE)

486. {c) Required answer = 5x = 80x5 = 400

27 36 5 b 2
=100 100x9x4500 > 53, (b) 663%—3
= 243 Let the income of the person = 3 units
a5 o % =i 9t 913 = 39
47.(2) 1000 x 100 Expenditure (&%) = 2 units {JR)
Required answer ¥ Savings (499) = (3 - 2} = 1 unit {GFE)

48.(a) ; 5 A
According to t B

According to the question (YFIER),
1 unit @@ = T 1200

8x 2 units {JfR}= 2 x 1200
100 100 = T 2400
Bx=4y L (i) L N
2=y (i} mq. b} 0%, =§, 2505 = E

20
- Case |i B C
20% of x 00 x (i)

Wizard of Maths - Rakesh Yadav Sir

Ratio of Salaries (@@ &1 3T7H)

3 6
Case (li) A B
Ratio of Salaries [@aHi &1 U
4 S
From, Case (i) % ({ii)
A : B : C
Ratio of salaries 4 5 6

N

Required answer (32 T

o 8

- 50%

Y
-1

 20% = 3

. {c ¢ C

[y

%_{?@‘ B -

e . C - \l\

A: B :C= 28 : 20 : 25

Hence, Required ratio (JA¥ftse s1qwid)

A:C=28:25

56.(b) Girls's % (@ZfFA H %) = 70%
Boys's % (@gHI H1 %) = (100 - 70/%

= 30%

According to the question (YFITIR),

30% of students (@A F1 30%) = 510

Total number of students in school

(et ey =

87.(b} Required number of Boys (ISH

x100 = 1700

972

stefee . —22 60
* qem) (100-60) "
- 272 60 = 1458
- 2= -

Required number of boys @53 #iaHe F=m
= 1458

Alternate: (J%fers fafir) .

Ratio of No. Boys and Girls

Boys Girls (100% - 60%}
60% 40%
3 : 2

Girls — 2 unit —— 972

972

1 unit ————}7—485

Boys — 3 unit ———33 % 486 = 1458




58. (d) Note: In percentage always as-

sume data. Which make your Calcuta- o fis diad e 100 #
tion easier.

Ae; yrrwEn § wT S avE w T 4 According to the equation (F¥IHHER),
TR T ST T D st n™d m ™
20 @ 50 : 100

62. (d) Let the I number is 100

3
60% = g

. 20
Let the number (A1 % ¥&m) = Sx Required % (Ievs) = EXIOO = 40%

According to the question (F¥ITHR), 63. (d) Let the third number is 100

T f5 ded wem 100 §

According to the question (YEIAR),

120 I ynd e

x=—=40
= 3 75 80

= 5xx%—60- 60

100
Hence, Reguired number 75 3

=5t =5x40 Required % (313w -gaxloo= 937 %.
= 200

64, {d) According to the question

3
89. (e} 75% = (FETER,
: = 125x1
Let the number (7 fF HE) = 4x =125 + 10}:)0_ 1375
According to the question (T¥TTHR),
3 137 5x10
= 4xxz+75=4x x=137.5 - ——+——

x = 137.5 - 1375
x = 123.75

= 3x+ 75 =4x
x=75
Required number (¥ &)
= 4x = 4x75 = 300
60. (a) Let the larger number (91 % FE  According to the questio

30% of studeqnts = 504

HEA) = 5x
Smaller number (B &) = 20 [Given ) 70
(fem %)] Required number of o ®
According to the question (WFFER), = 168x 7
20 = 1176
= Bx-20 = x3x Alternate:
1000 @ irls
= Sx-20=x
= 4x = 20 :
=5 30
Hence, Larger number (81 we) 3
=5x5=125
61. {c} Required answer A= I .\ x 168 . 168
40 40
" w0407 = o *100 [ 1176 | 504

_ = 66.6 Hence required number of boys = 1176
llot_e: Fc_rr de!*.suled solutiop foll he 66. (c) Let the third number = 100
earlier given important ndt®, % . . .
Fe: faem ¥ w7 B fore e fiy It SRS According to the question (YFFAR),

T [ R |
Alternate (3t &ﬁx)@ - 120 15 100
40% = 3 \ & 50%
+ 20%
A :

) 120
a Ys Required answer = ﬁx100= 80%

o

2
Required % (3142 %) = 3% 100 = 665.66%

67. (d) Let the third number = 100
According to the question (¥FIHR),
I N | ur
112.5 125 100
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Required percentage(315e%s)
112.5
125
68. (&) According to the question

{TETTER),

x100 = opo

60><_1L=75xi
100 100
4A = SB
B = iA
=3 )

Qm,

= x=80

69. (a} Let th bers are 2x and 3x
respecuve&ql‘-'ﬂ gl 2xd 3x d
the question (TFIIAR),

10

+20 3xx
1

+25]

3x+20 = —x+25
S 10
65. [a) Percentage of girls in sch
= (100 - 70) = 30% Sx2e-5

10 5
Ix-4x=-50 = x =950

Hence, required smailer number
= 2x = 2x 50
= 100
70. |c) Let the third number = 100 units
Mnum  :  IMnum 111 Hium
120 150 100
+ 50%
+ 20%
Required Ratio = 120 : 150 = 4: 5

71, (b} Let the number be x

15 45

= **160 *100

= x = 1560

=105.3

23 1560
100

= 374.4
72. (¢) Income of the person = T 13,500
Expenditure of the person = ¥ 9,000
Savings of the person = ¥ (13,500 - 9000)

= Required answer =

= T 4500
Expenditure Savings
7% x%
Ratio of Expenditure 900 4500

and savings—a 2




T=2+xxl -

=14
2+1
14 + x =42 x =28
Hence, required increase in savings
= 28%
Alternate:

First of all find the ratio of income,
expenditure and Savings

Income . Expenditure Saving
13,500 : 9000 4500
3 : 2 : 1

Let the Income ; Expenditure : Saving

300 - 200 = 100
+14% 1+7% >+23
New—» 342 - 214 = 128

28
% change in savings = mxlOO = 28%

73. (¢) Let the larger number is @ and
the smaller number is b.

oA R =< T o ® 9 99 wEm b
According to the question,

45
(a-b) = oo (a+b)
20a - 20b = 9a + 9b
11a = 29b
a_29
b 11

Required ratio of a : b = 29 ; 11
74. (a) Let the number = x
According to the question,
X x{100-25)
100

o 225x100
75

=225

300

(375 - 300)
300
= 25%
75. (¢} Let the greater and smaller ny
ber is a and b respectively(mm f& = we!
I wE wA: A T B §)
According to the question{swagam),

Required percentage = x100

C i ax—ﬂ-:bxﬂ
ase (i} 2X755 100
2a = 3b )
W
a=5b ....... {i)

Case (ii)a + b =
From equatiog {i

S5b =300 = b=60
Value of b = 60 put in equation (i)

-3 60 = 90
as= 3 =

Hence greater number = 90

76. (d) A B

Height =11 10
~1

Required percentage = 1> 100
- 9Lo,
11
Alternate:
By using formula,
10
Required percentage = m"mo
_ 1o0o
~ 110
_ 100-_ gi %
11 11

77. {¢} According to the question(swam),

10A = 15B = 20 C

A:B = i5:10

e - 7

B:c = 200158 o
A: B:C= 300 200

A:B:C=6:4:3
(6 + 4 + 3) units

13 units - %
1 unit =T6 }
4 units =§ g x 4

0

n "X.

z: M1 (avT ),

78. (&) Let th
According to

Required percentage
S0

= —_—x 100
{100 + 50)
S0 =100 =331%
150 3
1
Alternate:- 50% = 3
A B
3 : 2

Required percentage =

-4
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80.({b} Required percentage

25
= {100+25) * 190

25
- ————x] =
= [W00+25) <100 = on

Alternate:- 25% =

6 : 3 : 2

6+3+2)
3

units = ¥ 110

=¥ 330

1 unit =¥ 30

6 units = 30 x 6 =7 180
Hence, X has T 180,

= 11 units

82. (c)
25
Required percentage = m"mo
= 20%
Alternate: 25% = —
Y
5 4
1
Required percentage = EXIOO = 20%
720
83. (a)Salary of Tulsiram = T »100
= T 18,000
100
SBalary of kashyap = 18000 x
120
= ¥ 15000




84. (a) Let the third number = 100
- " m m

89, (a) Required percentage
25

70 03 160 = ——x 100
-/ (100 + 25)
7 = 20%
Required percentage = 0~ 100 = 10% 1
Alternate:- 25% = —
85. (d) Required percentage 4
A : B
= -——Lxloo
(100 +25) 5 4
25 \'-L/
= x 100 =
125 20% 1
Required percentage = 5 x 100
1
Alternate: 25% = y = 20%
- + 3 l
Mita Sita 90.4a}60% = =, 20% = —
- 5 5
5 4
W A B = 8.:/5
1 B: C=]4: 5
Required percentage = gx 100 ABC = 32 2025
= 20% A:C=32:25
86.(¢} Required percentage 91. |a) Percentage of failed students
o5 = (100 — 93)% = 7%
= ————x100 _ 1 x 100 According to the question,
(100 - 25) 3 7% > 259
o 37
- 33-1-% 1% ~
3 100% — 3700
1 Total students 3700 N
Alternate: 25% = Py
92.{b) Required perc 57 % 100
A : B
3 4 - 27 1
\"J—/

the question,

93. {d) Acco

1 1
Required % = 3" 100 = 333%

+ w
;é}
]

S
n

2
87. (b) 40% = 35 25% =

B =|2 :_5
C=15":/’4l
C

= 10 : 25 :

-

B
= 75%

+10

Let the third number = 100

' 0&% i

10
Required % = - x 100

10 ur
88. (b) Reqmred percent 80 60 100
—20
(100 50} 20
Required percentage = 0" 100 = 25%
M 1 95. (a} Let the number = x
Alternate: 50 =
2 1
A ¥. B = g 96
1 : 2 = x =288
W 7
1 = Required answer = 100 x288
Required % = —=100 = 100%
1 = 19296
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96. [b) According to the question,

x

x =
100 100

xa
xa=yb = b= Y
Put value of b in given equation (ffu T
T 4 b % WH T W),

xXa  zx
==,

¥ ¥ %e of &
97. (a) 1 hour = 60 min.

. L12 6
1m1n+1236c=1+ft60—*" min

exﬁ}?n,
y=2

100

98. (c} Magches wWon by team (1 § 30 S|
%}2 :

2% of b = z% of

According to

60 %

A 24
percentage = EXIOO

. {¢} Let the first and second part of a

is a and b respectively.
© WM TR U e & use a0 SO 9 R o 3

b
According to the quesion,
60

Case : ) 750 100 “Teo? =3
8a-6b=30 .. )

. 80 90
Case : i) mb-ma 6
8b-9%a=60 ... (i)

From equation (i) & ({ii)
a=60, b=75
Hence required number =
{fa+h =(60+ 75
= 135
100. {c} Let the numbers =
According to the questions,

s . 80x
- = 100
15 = X
x- T s
5x - 75 = 4x
x = 75
Required 75 0 . 0
- kg -
ST answer 100

101. {¢} Let the number = x
According to the question,

X J17x = 498
100
100x - 17x = 49800
83x = 49800
_ 49800
x = 23 = 600




102, {d} Let C = 100 units
According to the question,

A : B : C
150 : 125 : 100

Ratio of

numbers —m : S : 4
41

1
Required percentage = 3*100 = 20%
103. (d) Let x to be added,
According to the guestion,

25
100

160 = + x = 240 x

S

100
x = 36

Hence required number = 36

104. b} Let the number = x

80
X% 100 =30
100 1
= — = 33—
= = 73 3

1
Hence required number = 33-3—'

105. (a)According to the question,

x:y=4:3
106. {b) Marks obtained by D = 320

125
Marks obtained by C = 320 x = 400

100
a00-10} ..o

Marks obtained by B = 400 * 100

125
Marks obtained by A = 360 x = 450

1G0

107. (<) °= 200 = 40
lmt.lal Final

5\,

Let the number ( E) = 4x
According to the question, (Y¥ITER)

Hence, required marks obtained by A
i e MR - 450 W“e_
1 45 9

40

108. (¢} 75%

3
4x % r + 75 = 4x

x=75
Number = 75 x 4 = 300

0
= 120

300 > 700

Required answer =

3
Alternate: 75% = “4'

3 +1 =54
75% 100%
1 unit — 75
— 300

300 x40
100

109, (a) Let the number = x
According to the gquestion,

4 unit

40% of no. = = 120

+ 320 x - 230 x —2
x 100 - 100
x+ 32 = 69
x =37

Hence, required number = 37

1 4

110. {a) 20% = g=g
X Y
4 : 8

Hence required ana%%g , —4]

111, (a) ReqWr

ber of literate

30
- 6600x—
W) “00

50‘}‘-1'
c 2

= *100 =

331%
3 3

Required Answer =

113.(a)
According to the question,

S 4 21 6A 8B
— A+—B=2| 2 2
100 100 31100 100

2
5A + 4B = 3 1A + 8B)
154 + 12B = 12A + 16B
3A = 4B

A

4
— T — - »
B 3 AB=4:3
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AN
= x=Rs. 125

114. (b} To get back to the original
number it is to be reduced

by (3% U0 WA & fau ™ &% F
T,

X
. x100%
100+x)

100x %
= (100+x)

115, (d) Let the number is = x
According to the question,

1 flf = 20
g of Zofx=

CLeal
L »Q\

X

20
. o 200 =
S 20% of 20 100 x 40
116. ( ording to the question,

1
g3l
o 3

%= x x 60%

90x 230

% = xx 60%

=714

117. (b) xXx o1
x = 1400

. 25% of x = 1400 x 2 350
. 9 DI X = 100 =
118. ({c}

1 Increase in price (977 ¥ gfg)

0% —

20% S T initial Price (s )
Initial Price Final Price
( T ) (alfm H7)

S : 6

Moo 8

2
16—y¢
3 Yo

Hence, Required reduction

o . (—xlOOJ-m%%

7R T 20% 7§ T 79 T STRafia
® & 9 T = R g s & €A e
o B T S e ad wa S ¥ sha a3
d A & N SRS T 6 LCM=30F

5 Rs. Kg

@ %—{Ratio of
consumption}

(Ratic
6 Rs./Kg (—or Price)




¥a: 9% o wHE @ B A o s o g
iR B 3% 3w AT o WA H ufed g
IM: TMYFR % 9T & F F1 g9y e O #
fF Jwd9E T (Initial Price) ¥ 100 = a1 &
9 A @ (original consumption) 1 fEamm
oM & 9 TW ¥R @ @9 (Original Expendi-
ture) 100 ¥ ¥ WM A W SR HA gfiEdT
T | T 9 ufesdn wd F @ dom) RiRE w@wa
=t & T 1 fepmiom & arm
;g3 we

20

120
Note: {{) If the price of a commodity de-
crease by r%, then increase in consump-
tion, 80 as not to decrease expenditure
on this item is
(if) If first value is r% meore than the
second value, then the second is

r

[100+r

e (i) ot feddt o = g9 O ro F F S
g @ wd ¥ B wi T e faw udm

=100 = 163%
3

x 100}% less than the first value.

¥ o,
[100+l" x100:| Yo 1 WA B

(id) TR 7o WA, T TE A% ATS W H

,
100 |%
A, e 71 9 [100+rx ] > % Tl

Alternate (dwfeas fafu):
Required answer (33% I9Y

20
T (100 +20)

x100 = 16-2—%

T

119. (b} Required answer (¥t= T9Y ™= M*:,-g Net effect% = X + Y+ XY

20 5 \
- (100+20)><100 - 165}"{" :
Alternate (3feas fafy) 3

Initial Salary
5

o 15,
. "35 1 2
Required % (379w %) = g»<10 - 163%

120. {a} Required answer (#= 3w

10 100100
“00+10)

11

100

% = Qi%
11

‘Always use +ve sign for increment
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121, (d) Required % (3TR%)

126.(b) 10% =

= —!-0—;(100 10
(100 -10)
Initial Price Final Price
10
= —x100
S0 10 )X ll)x
1 10 11
= 11=-%
9 100 121
Alternate:
Initial Price New Price - 21
lw
21 _#
1 1 % Reduction = E be
Required % = —x100=11-% 'Y \
9 9 oh
122. (a) Required % (3f1@%) 1 17.36%
25
= ——x100 . 1 1
{100+25) " 20% 127. 14%@ =2, 20%= ¢
123. (&) )
Note: If the value of a number is first it ice Final Price
increased by x% and later decreased by 7§
x%, then net change is always a de- b P4 )x 3 )x
it o et 0 oo s AN ¢
crease which is equal to 17504, : %&#
20 : 18

Ar2: afy feell wEw | 0T W % w% e

& s # R x % v e g g, A e @
| s

T H FH

2 )
X% 3 e w0 W
&

100 %
Hence, Required chag’e ‘:'n Ysalary % decrement = %X]O’O = 10%
(G H iz ‘ % = 4%, Decrease  Alternate:- By using below given
g % ; formula,
& X 3

124.(c)

ty¥e of questions to save o, Net effect = X+ y+%

your le*#¥ime you can use below
given 2520
A, 78 TR T H o W H I A W % Change - ~25+20—%
g A9 e 7w frm o a &
% Change = - 10%
Note:- Negative sign shows decrement.
¥ 100 iE: TS Tha A H i &)

Hence Required decrement = 10%
- ve sign for decrement

X (10)2
20x10 128, (d) % decrease = ——= = 1%
Required answer = 20 - 10 - — 100 100
Alternate:-
=10-2
= 8% Initial Final
Hence, Net q% Increment = 8% 10 11
128.|¢) Net % effect on revenue )x )x
10+ 10. lox10 10 °
B 15T 100 99
=- 1%
Hence % reduction in Revenue = 1% -1
Alternate:
. x* _[0F _.,
% Reduction = m—mnlfo ohdecrease =




by 20% = = =
129 ) 20% = F 7 5 —» Initial

Initiat wages Final wages
S 4

v
Required percentage

= %x 100 = 25%
Alternate :

20
Required answer = mxloo

20
= —x100 =
80X 25%

J 0
Note:- By using formula,| 7507 <1

130. (b) Required answer =
Lxloo
{100 -10)
100 1
=—= 11—-%
9 9
1
131 (a) 20% = <
Initial Final
5 6
) )
5 6
a5 36
-11

Required percentage of reduction

132. (d)25%=

Employees S
Wages — 3

6 15
N~

1 25
Required reduction = ——x100 = T%

.

r
133. (d) 1% = 100
Initial Price Final
100 (100 +1)
100 (100 ~1)

10000 (100 + 1) (100 - 1)

According to the question,
{100 + 1) (100 - 1} units =T 1
(10000 - r% units =71

1
e

Original Price (e Aw)= (

134, ({d} Required percentage of reduc-

tion (¥ = sd=  whem)

_ 25 j00-2
= {100+ 25) -

= 20%

x 100

1
Alternate:- 25% = :

Initial gl \
Price —» 4

135. et
R E

Accordiffg to the question(v=sram),

90 110
2 L x=50
AQ **110 100 ~ 7%

#d xx 29 =x-50
100
99x = 100x - 5000
x = 5000

Hence original humber = 5000

Alternate: Original New
10 9
10 11
100 99

N

According to the question(¥FsR),
1 unit = 50
100 unit = 50 x 100= 5000

Original numhber = 5000
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10000
10000 -7*

Required perdfpt eduction
@ 3 * 100 = 20%

original number(wr T fF

136, (¢) Let the initial expenditure = 100

units

+10% -10%

()

E_l _E—bNew Price
90 9 g —Original Price
Reduced pri S87
educed price 62
X13.50/kg.

E 3
4"\
1
137. (¢} 2&

Initial Final

l price  § 6
sumption x6—_1><5
expenditure 30 30

ired Rate = 1:6

125
, Sternate :
et Initial expenditure = ¥ 100

Required ratio = 20:120 = 1:6
138. (b} By using formula,

x2

100

x = 20%

20x20
100

139, (b} Required reductien in con-

sumption (UM § v Hddh

15 i00=23,
T {100 +15) 115

% decrease =

% decrease = = 4% decrease

100

300 1
-3 “B3z%

3
Alternate:- 15% = 20

Initial Final
20 23

s

3
% Reduction =33 % 100

300 1
23 ~ 23




140. (b) Required Reduction in price
(g o snite iy
20 20
s —— %100 = —-x100
100+ 20) 120
= 16—2-%
1
Alternate: 20% = E
Initial Final
5 6
=1
1l 2
% Reduction = —x100= 16=%
6 3
141, (e}
R ired 0 + 20 10x20
= + +
equired answer = 1 100
=10 + 20 + 2 = 32%
1
Alternate: 10% = 0’ 20% 5
Initial Final
10 11
5 4]
50 66
+ 16

Required percentage increase

16
50 * 32%

142. (¢}
X o o 101
. - % =
decrease in area 100 100 1%
Alternate;  Initial Final
10 1l
10 9
100 99

% decrease i

143, (b}
Alternate: )
AT B
5 : 4
\ﬂ/
1
Required % = ZXIOO = 25%
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149. {b) Let the initial expenditure

1 .
144, (c) 10% = -—— = 100 units
10
Initial Final @
16 9 +20 - 20%
i0 11
160 Qg @
Sl : _ o o 201
ncrease in consumption = oo =7
Required % reduction = Too * 100 Ss New
= 1% - E-Ongmal
Alt tNet Reducti = - iginal Pri = 36)(_100[1
ernate:Net Reduction = 100 Origina ice = 4;@0
s
_H0pF 500
508gm = ——Kk;
=60 = 1% dog 1000 ©
R Original Price /kg.
148, (b) % change = lOOiRXlOO% 150. {c} By usipg formula
50 1 -'*-‘7‘3-;:_,.;. Net decrease '1_;;)'%
Required answer = (100+50) 3 xw 25554,
146. |d} % change = o d _ @57 825
e _ g:e_‘?ﬁecrease = 1000 100 _ & 2%%
02RO AR
L% Ty .. - 1
| 0 a?% .. Alternate:- 25% = 7
Required answer = _{100_ 40) &_ initial Final
A 4 3
= ﬂ)flOiIJ-
60 4 5
16 15
147.(b} % change = ;= W
4% 100
L 5 % decrease = ~—x100="——=pg 5gq;
; ayiwm ————— %100 16 16
Required per(!:_%.t%?' (100+25) .
F 151. (¢} Required % increase
3( e = 20% 0410
# 10+
i 1 = 10 + 10+ = 21%
% = — 100
4
" . 1
Initial Final Alternate: 10% = 1=
5 Initial Final
=L 10 1
o 1
© % reduction = = x 100 = 20% 10 1
5 100 121
1 Y g
148. (b) 25% = 2 30% = T 21
Required % increase = ——x100= 219
Initial Final 100
Price —e 4 )x 3 )x 152. (d} Let the original price = 100 units
Sale — 10 13 @
40 39 +109%
el @
1 +20%
2, = — x
% decrease 20 100 @
- 2_1_% decrease According to the question,
2 | 132 units =% 33




33

1 unit =2‘T3—2

33
i = 100 =
100 units = ¥ 135 x 25

Hence original price = T 25
Alternate:

Initial Final
10 11
5 G
50 66
I I
33

153.{b) Total % increase

20x20
=20+ 20+

= 0,
100 44%
1
Altemate:- 20% = E
Inicial Final
5 3
5 6
25 36
S~z

. 11
Required % increase = EXIOO = 4%

154, (a) Let the initial expenditure =

100 units
@ Initial
+20% —-20%
@ New
1 | done 2221
ncrease in consumption = 27 = o
1 unit = 5 kg.
Original consumption = § x 4 = 20 kg.
New consumption = 5 x 5 = 25 kg. o

hS

320
= ——= ¥ 16/kg.

Original price 20

Alternate:

Saved money due to reduction %ﬂcé

[@ﬁﬂﬁmm#lm}u "

e /

—Qﬁx—e Rs. 64

New price/kg.[ 80

' %
old price;kg'.m Rs.16 /kg.
155. (&) Let Intid expenditure =100
units
+25 -25

Ratio of Increased and orginal
consumtions
=25:75=1:3
New consumption = {3+ } 2=8kg
244

Reduced price per kg = —g— = T30

Alternate:
Due to reduction, he will save (FHI *
H0 IGF) T94q)

240x25 Rs. 60
0 T
. . 60
New price of rice/kg. = - = Rs. 30
% = L_2— Final
156, (b) 25% = 2”2 — Initial
3 13 — Final
30% = 1510 — Initial
Initial Final
( 4 3
10 13)
40 3
-1
Required % decrease = Lxloo % E%
40 &,
o,

- 2;0/0 i, ‘::

157. (a) Cost of the achc 2 Rs. 75
Net decrease in price

20%20 e
10075

= 20-20-

4% (decrease]

Rs. 72

Hence present price =
138, (b) Initial
6

s

Required percentage reduction

1.5
= — 100: 2,
7.5" 20%

159, (b} Required percentage of reduction
60
60 0 = 37.5%
1
160. (a) Price = 20% =3

(SN

sale = 80% =
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s*“‘“‘

Price = 5 4
E o
Sale —» 5
Revenue —» 25 36
+11

11
Required increase in sale = ExIOO
= 44%
Alternate: Use successive method:

20x 80
%A =-20+80 - — o5

=+ 44%
& 1

161. (d} Price® £%5% = 2

SN

Sale = % AL

BB
P};Jce—)‘@tf 3

»%.

ok @aleas 6
:};}t

venue —> 20 18
~2"

2

20 x100 = 10%

Alternate: Use successive method:

25x20
0 /\ =-25+20- o0 - - 10%

‘&g

equired % decrease =

1010
100

162. (b} % increase = 10+ 10 +
=21%

100x 21
100

(b} Let initial expenditure =
units

(109

=10%

©

Required increment

_lo_1_ 10— Final
9 — Initial

Total increase = = Rs. 21

163. 100

+10%

90 9

1 unit = 1 kg
original consumption= ¢ x 1 = 9 kg

Present consumption= {9 + 1)x1 = 10 kg

270
Required original price = 35 =Rs. 30/kg

Alternate: Due to reduction, he will save

270 =10

(B FOREH T = — oo

Rs. 27

27
New price of rice/kg. = 4 - Rs. 27

Mew price (90%) = 27
Old price (100%) = Rs. 30/kg

[30]



164.|a} Let initial expenditure = 100 168. {d} Required % rteduction
units
20 100
@ (100+20)
2
+10% -10% = 163%
1
Alternate: 20% = -
10 1 S
Required increment = % -9 Initial Final
5 6
1 unit = 10 apples
original consumption = 9 units \—_1/
=9 x 10 = 90 apples )
New consumption = 10 units = 10 x 10 Required % reduction= = x 100
= 100 apples 6
34 2
i = %12 - oy .
New price 100 = 163 Yo

= Re. 6.48/dozen

169. (b) Required % decrement
Alternate: Due to reduction, he will save

x°
54 x 10 - %
M%mm-ﬁm=—i&—-ns‘s.4 100
2
5.4 S o1,
New price/apple 0 - Rs. 0.54 100 4
New price/dozen = 12 x .54 Alternate:- [nitial Final
= Rs. 6.48 dozen 4 5
3
165. (b Increase in height = 15% = 2
1
Decrease in base radius = 10% = 14 A
' Initial Final Required % decrease T“; 900 =
Radius—» 10 9 1
6-—%
Height —» 20 23 4
Area -—» 200 207 170. 30% = —
5 10
+7 units . Final
ired % increase in area = x100 5 s * Y.
Required % increaee | 200 10 1)
= 3.5% 50 52
118 =8
166, (b) Net decrease = Z00 416

0,
/'\ Hence required price = ¥ 400
1 _1i-final

167. (d) Required % x100 171 e} 10% = 15 =94 Tnidal

O 25} M
i Initial Fini
= 20%
N 10 11
1
Alternate:- 25 10 11
10 11
Inital inal 1000 1331
> s
. . 331
Required Reduction (e =) Required % increment = Jooo X
- %x 100 = 20% = 33.1%

=1

100
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172. {d) Let the number = x
According to the question,

o x 120 “X 75
100
120x - 75x = 3600

45x = 3600

Hence required number = 80

1
fe) 20% = <

173.

Accordinguto th¥ question,
i it = 20
= 20 x 2§ = 500

21 21
* 100-21)"79
Initial consumption = 79
New conumption (79 + 21) = 100
According to the question,
21 units = 3 kg.

I |
1urut-21 g = = kg
100
1
100 < =
7

T 7/kg.
Alternate:
Due to reduction in price saved money

R 100x21
(e ® ¥ & FRo =g i = #

= 21
Quantity purchased from this money (994
oftr 9 =g W A = 3 ke

Required reduced price =

' 21
New price/kg. = 3 " T 7/kg.

175. {b) We know that @1 WR ¥ )

=  Total surface Area of a cube M #
TAE 1 HH TAFA) = 6ar

= Ifeach side is doubled (2R ¥ o1l

F oo w g W, ah
1= 2
1 2

T.SA—1 4 «NewT.SA

3 —increase
Surface area of cube will increase (99 3

o s | 5 <100% o i
= 300%




176. {d} The production of cycles rose
to 48,400 from 40,000 in 2 years

2 9dl § uRfew W SRR 40,000 9 9

48,400 7 THM

= Present production = 40,000

= Alter two years = 48,000

= Time = 2 years

= Rate of increasement = ?

According to the question,
Production after 2 years

R

L
= 3 1+ —
Present producrtion [ 100]

2
— 48,400 = 40,000 1+l]
100

484[ RT
= —=[l+——

400 100
LR 2

= 100 20
R _1

= 100 10

= R = 10%

= Rate of increasement = 10%
177. (b) Shortcut method {wfirer fafa)

20x%20

= +20% —20% -

-4
= 4% Decrease

178. (a} Quicker appracch (i@ fafi)

T b ab
= + _—
naA=a + 100
Here a=b=>5%
5x5
i = [5+5+ %
T inA [ 100] ¢
= 10.25%
179, (d} Here, Let a = —20%
b = -10%

Total reduction of the price (7 ¥ %@ §

—fat bt =%
100

- [_goﬁlmﬂiﬁk %
100

180. (c) Passed boys mﬂﬂi as%} = 60%

Failed boys (ala?i’mf IR -
= (1G9 6‘0]“}:—40%

Failed girls (37 WF}
= ﬁ 0.~ 80)% = 50%
Failed boys (ag-\ﬂdi E'SH;‘) - 100020 40?)
= 400

Failed girls (373 wgr)= 800 x 150%

= 400

”f?ﬁ%ﬁaﬁﬁm

I'\Qaﬂed candidates in Mathematics

Required % failed Candidates (370 foenfi

I 37 %, )
. 400 + 400 <100 - 800 X100
1000 + 800 1800
= 44.4%
181, {c} According to the question

(AT,
Pass marks (SHWF)= (220 + 20) = 240
40% — 240
Maximum marks (IREREH 3¥F) (100%)
- 239 100 =600
40
182. (c) Percentage of students passed
in Hindi =
60%
fet F =itof ot 1 % = 60%
Percentage of students passed in
sanskrit = 45%

Hepa § Wl e w Y% = 45%
Percentage of students passed in both
subjects = 25%
A fawdi e et a1 = 25%

Hindi Sa.ns!_crit-
Venn diagram. ¢f mssed students
St kAL AT ST
Percentage of fa.ﬂed studets (SISl Bl

o

- {35 +25 + 20
= 100 80 = 20 %
(¢} Failed candidates in English
= (100-70} =30%

(EOO-70) =30%

183.

o = (100-80) =20%
: ﬂﬁmﬁw{tﬁuﬁm = (100-80} =20%
English Mathematics
A TIfT

Venn diagram of failed students

STt Brsi w1 A eTE
Percentage of passed students in both
subject (&4 fawai % 39 o = Wiy

= 100-(20+10+10) = 60%
According to the question (Y¥IHEN),
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60% of students= 144
Total students (FTA FTF 100%)

144
- 100 -
5 240

184, (c¢)

Note:- In such type of questions assume
the values of ratio as per your need or
which make your calculation easier, but
the ratio of values should not be

changed.
AT: TATE F T | ST F UM S FEw B
e T3 71 i A AT9ET VAl Y STEA T A
aﬁmlﬁﬁﬁmﬁnﬁﬂkméqﬁﬂﬁﬁ
A T T i ,;g

Let number & (m & wget =t 9=
ﬁ 300
Number o{ glrls"f‘%l?:ﬁrz‘!ﬁ H =)
_ = 200.
. Boys Girls
) Ratlo of Boys— 300 200
“and Girls
B80% 75%
Not adults —s 240 150 =390
(=F ) v
+

390
Required % (%=%) = 5002200) 100

= 78%
185.(d) Let the number of boys = 400
Let the number of girls = 100
Total number of students who do not get
scholarship (@Fgf T 1R @@ o F1 TI
TE)
25 L 100x30
100

100
= 100 + 30 = 130

= 400x

130

L 100 =
500 26%
186.(c) Let the total marks = x
According to the question (¥¥FER),

Required percentage =

x 33 =xx-——2—5—+40
100 100

100 {33x - 25x] =

= 8x = 40x100
= x = BOO




Alternate (SFfeF fafi):

Pass percentage = 33%

Marks obtained = 25%

Required marks to be pass = [33-23)
= 8%

According to the gquestion (TFTITAR),
8% of total marks = 40

40
Total marks {100%) = ?X100=500

187. (¢) The number of candidates
failed in English (38R & orfeiel g =t
Tl W1 T = (100-70)%=30%
The number of candidates failed in

Mathematics (0 ® el 3R T oE #
e = (100 - 80)% = 20%

English Mathematics

Venn diagram of Failed students

Fl e o o TR A % B

Percentage of passed students in both
subjects = [100 - (20 + 10 + 10)}% = 60%
According to the guestion {W¥AIHI),
60% of students = 84

Liail

60 * 100 = 140

188, (d) Let the maxirmum marks = x
(O Rped o)

According to the question (WETTAR),

Total students =

20x
Case (i) Pass marks = +30

100

Case {il) Pass marks =

Note:- Pass marks would be same m":“-

both cases.

=ie: g feafa o sdtwiw T wm,

20% L 30-32% _42 -~
100 100

12x 72
100

x = 600 T

Pass marks -600%*%%*30 150

i
e

“150

Required percenfage = =00 100

= 25%

Alternate:

Note: In such type of questions to save
your valuable time follow the given be-
low method.

o W aE E T U N e PE S W
for = # g fafu w TwEm =)

20% - -30
diif. ( )dijli
3I2% - 42
{32-201=12% [42+30)=72
From above figure , 12% = 72 marks
1% = 6 marks

30,
Percentage of pass marks = 20% + =~ Yo

= 25%
Hence required percentage of pass marks
(F: UH % ) = 25%
189, {d} The number of failure boys

. 83040 o6
100
The number of failure girls
_360x20 _
100
percentage of failure students
(72 +256)
m———x100 =
640+ 360 32.8%
190, {¢) Failed students in Mathematics
= 34%
failed students in English =

42%

e
E_né\@isﬂ:-'

Mathematics

[ Venn diagram of f,mled students |
Percentage of passed students in both

subjects = [100 % {14 Fho o+ 22)] - 44%
191. [b) Let the wma¥imum marks = x

Accordmg to the questlon (YT TER ),

36x

Case [i}PaBs marks = ""66"'6
C ii k ﬂ"
ase { } Pass marks 100

Note:- Pass marks would be equal in
‘Both cases.

__'-iE A4 Rearferai & wefilE ww w,

30x . _d0x

100 100

0% 630X 12

100 100

10x = 1200 = x = 120
Alternate:

Note: To save your valuable time try
foliow the given below approach,

e T AR F U W A g W R I R

foy A % g fafu = swEm w4
Percentage Marks
30% = -6
diif. ( ) diif.
40% = +6
10% 12
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According to the question (YT¥RIER),
10% of total marks = 12 marks

12
Total marks = "l'axmo- 120

192, (a) Let the marks obtained by first

student =g

then marks obtained by second student
=(a+9)

T 6 TR B % Werh a . 9 g o W

WEF (a+ 9) T

According to the question,

{ FFER)

56
100\ a + a +9)
100 at+ 900 ="’~112ﬁ + 504
12a= 396, .. ‘%
= 33
Marks of first student
Marks Qf second student =
Alternate%“

a+9= ——

33
33 +9 =42

-llotq. . such type of questions to save

your valuable time take help from op-
tidps™

‘-ﬁz TITE R T T A T T T @

_ ,{‘m ST faped #1 Ter A wEA #)
“:» Option {a) Marks of students be 42, 33

Case (i):-Difierence (3 = 44 - 33 = 9
Case (ii):- 42 = (33 + 42) * oo

42 = 75 % 100

42 = 42

Option (a) satisfies both the conditions
of the equation. Hence option (a) is
correct.

faFea (a) TN F W W @ ¢, WA T

e B
193. {c¢) Students failed in Hindi
= 52%
Student failed in English = 42%

Students failed in both subjects
= 17%

Hindi English

| Venn diagram of failed students l

Teotal percentage of passed students in
both subjects

= 100 - (35 + 17 + 25)
= 100 -~ 77 = 23%
Hence required percentage = 23%




194, (b} Students who cannot speak En-
glish (30T T&1 s w3 ot o w9 Hen)
= (100 - 70)
= 30%
Students who cannot speak Hindi (f&=
TH 9 IR T B R @) = (100 - 65)
= 35%

8%

English Hindi

Venn diagram of students who
can not speak these langauges

Percentage of students who can speak
both the languages i 91 Fier a1A T H
TR = [100 - (3 + 27 + 8)|%
= (100 - 38%])
= 62%
195, {b) Percentage of failed students
= 25%
. Percentage of passed students
= (100 - 25/%
= 75%
According to the-question,

450
Total students = 75 x100 = 600
196.
both

{d) Percentage of students playing

= {50 + 40 + 18) - 100 = 8%
1 E - Girls
20% = e 5 == Boys
Boys Girls
5 : 6
According to the question(vwrwm),

197. (b}

Required percentage(aivie gfam)

120 - 122 <100

= —= 100
{100+ 75)

- 68 %
ST

199. (d) Pass marks (Sl
= (200 + 10) = 210
Required maximum marks

2150)(100- 600

200. (a) Let the maximum marks (A1
& afaway 9%
According to the question({W¥TIHN),
Case {ij Minimum pass marks

= Xxx %+ 5= % +5

Case (ii) Minimum pass marks

=X

X 40 -10
100
X_10

X
HOx

100

Note:- Pass marks will eqmal in both
cases N
e 4 ffel F advis LTl

30x +5< 40x _%
0 0

10

150

15 + 6) units = 66 e maximum marks =
11 units =~ 66 30
1 unit =6 sggmarks = ISOXI.T0+5=SO
Hence Boys =6x5 = 30 .
girls =6%6 = I Alternate:
The number of girls when g ig a ed
= (36 +4) Percent Marks
Required ratio = 30: 4 : 4 _
198. (a} Passed studegts rst year .o 30% 5 Diff
wem Y A TEa , : "'( )’* .
@5 40% 10
x 1_66 =75 10% 15

second year (fg¥™

Passed student
T # awew Bm)

60 — 4§
100

Total passed students(®HT TEA BH)

=75 + 45 = 120

- 75x

s 15 0+5
Minimum pass marks = EXS +9=80 (age {il} Pass marks

201. (a)

Students passed in mathematics = 65%
Students passed in physics = 48%
Students passed in both subjects = 30%
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number of students 16
= 2%0
. 203. (d)
Candidates failed in English

18%

Venn diagram of passed students

percentage of failed students in both

subjects = 100 - (35 + 30 + 18)

- 100 - 83

= 17%
202. (c) . *{
Percentage %1 took Biclogy

= 72%

Percentage o students took
Mathematics = 44%

= (72 +44}) - 100
= 16%
g to the question,

40 100

= (100 - 60)% = 40%
Candidates failed in Mathematics
= {100 - 70)% = 30%

English Mathematics

| Venn diagram of failed students

Students passed in both subjects
= 100 - (20 + 20 +10) = 50%
50% of students = 2500

2500
100
50 o

Total students =

= 8000
204. (a)
Let the maximmum marks = x
According to the question,

30x

Case (1) Pass marks = ——+25 (i)

100

40x 25 ( 30x
= 100 “100(100 25] ()
Note:-Pass marks will be equal in each case
site: AT fefaal o 2dals v T




Percentage of failed students in both

30x 40x 30x 25 .
100 +25= 160 700 4 subjects
4 = 100 - (5 + 75 + 10} = 10%
10x 30x 25
- 0x _Shx 25 45
100 400 4 Total number of students = Taxloo
25 40x 30x = 450
2+ = %200 " 200 207. () Candidates failed in Mathematics
= 35%
125 10x - 1250 Candidates failed in English = 25%

4 400 — %
Maximnum pass marks

0
= 1250 x 100+ 25
= 375 + 25 = 400

Mathematics English
Alternate:

Note: In such type of question to save
your valuable time take help from op-
tions.

T W WE F TH 4 o wEye W R aw ® fom
ELRLn Rl R

Option:-Maximum pass marks = 400
{400-25)

| Venn diagram of failed students |

Hence percentage of passed candidates
in both
Suhbjects = 100 -

(25 + 10 +15) = 50%

208. (a) Maximum marks

o 1% T
Y 1w

211%.(c)
Percentage of passed students in both
subjects (I faw o sl o= =1 vimR)
= (90 + 85) — 100
75%
According to the question,

x 100G

Total number of students=

N’gf t@j‘nammg students = 20 - (9 + §)

Maximum marks = ——-— 100 {125+40) .., %) =3
- 1250 33 i % §§ %ordmg to the question,
According to the question, 165 0 k\"ia& ‘5,{ L% 3 units = 12
Required maximum pass marks = x100 - 500 £ 12
3
o 1 unit = —/ =4
= 12500 _400x-2> 13+85) 3
- 160 100 209, (b) Maximum marks &W 20 units = 4 x 20 = 80
= 500 - 100 = 400 100 ;o ‘Q% Hence total number of students = 80
Hence, the required answer is same as g 213. (a)

in option (a). Hence option {a} is correct. _ 193 LOO §5b 'V

205. (b) 210. (b] Total W‘ks = {300 + 200)
45% a6 7% &
- 30
A s
Cow Buffalo Marks ined by the students in
L\ferm diagram offamj]jeswhich—I science %,
have buffalo and cow. %, &
ey 32
gl T 300 x =96
Required families which do not have y 100

cworabuffalof@ﬂﬁaﬁﬁmﬁ#

qum'ed marks in Language Papers
@&t IR W F = 100 - (45 + 15 +15) “%%

= {230 - 96) = 134

= 25% 134
According to the questlon -3 n Reqmred percentage = 500 ®
= 67%
i = 5
Required number 100 2 % ﬁt Hence Required percentage = 67%
206. (b) ' ; Alternate:
Percentage of stud@ts % in English use alligation method:
Op5 8 L
0,
percentage OfMUd _passed in Math- 32% x%
ematics =f 85%
e {x- 46)% 14%
English Mathematics T 2%7
x- 46 = 21
l\fenn diagram of passed studentsl x= 67%
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Note:- In such type of questions assume
data as per your need but remember the
ratio mention in guestion shouid not be
change. _

WE: 0 WE F WA ¥ T Sl T S s
F F TN AR T 90 1 s v e e | Rl

T S i wwemE Tl
Boys Girls  Total
Ratio of  — 200 300+ 500
numbers
+ T5% T0%
Not holding— 150 210—*=360
schaolarship
R ired% 60 x 100 = 72%
equired% 500
214 10% i
b (a) 10
Ankita Eakta
9 10
l"" l"g
81

Hence, marks obtained by Eakta (U@
i) = 90




218, (d)

Students failed in mathematics = 19%
= 10%

Students failed in English

3%

Mathematics English

Fr’enn diagram of failed students |

Hence, required number of share hold-

222.

@ Total income

- 20% (Older son}

- 30% (younger son)

food

ers (W9 WITH &+ e T@M) = 570
{d) Let initial salary = 100 units

@ Totat salary

charitable trast

According to the question,

~ 10% {trust) {30 + 3} units = Rs. 2310
Students passed in both subjects 33 units = Rs. 2310
=100 - {12 + 7 + 3) @ & 2310
= 78%
216. (a) 1 Lln}l %&F Rs. 3_3
Student gets 190 marks and fails by 35 " :
marks total marks need to pass According to the question (YFTTER), ‘m» 2310 100
=190+ 35 50.4 units = 210080 100 umtswf -5
- . e
B H 190 3% WA gQ ot 9w 35 A P om - 1080 Totalsalg}y_ks 7000
S & T R SHAE = 190 + 35 50.4 223. @j “bet the total amount =
"+ 36% marks are pass marks G9F 36% ¥) 100 units = 200 x 100 = ¥20,000 . Accbrting to the question,
= 36% = 225 Hence, Required income = ¥ 20,000 _
Alternate:- Initial Final 80
225 * o0 * Too " (120 + 1400)
= 100% = %100 5 : 4
36
= 100% = 625 10 X%XQ_?) - 1520
= Total marks = 625 10
217. ((}] . 500 1520100
According to the question, -—— = 2000
Let the total number of students = 100 76
Boys 3 Total amount = 2000
Ratioof Girls 2 L e Amount spent on transport
- | ¢ - 10080
S units ... 100 Fo 80 5
1 UNEtS..ooveereaneenns 20 Hence required “‘C‘.. ¥20,000 = 2000% [o-*Tos = Rs. 80
3 UnitS......eereriinins 20x3 = 60 O ¥R b L !
2 URitS...cceeeennenen. 20x 2 = 40  220.4h) Expemm&m ( ) Alternate:
Boys Girls ?.Fa." —_—40% Note : In such type of questions try te
60 + 40 = 100 e] t (mjg‘- Rty ————320% follow the given below method to save
30% l lm% feat (TRRGT) 210% your valuable time.
e (T 2109 e TWAE F T H A 9gNed A § A
Appeared in Exam 18 + 28=46 arfge ( ) 10% % fAu ama 2 & ™R fafy w5 s B
‘Iotal expenditure (%8 @H) = 80% Sl
Students not appeared in exam ™S = 100% — 80% = 20%
= 100-46=54 & Savings = 100% - 80% b Lo 1 19> Final
. o = — = —  ————n—
Ratio of students appeared in exam - 20% 71500 20% =35, 5% = 35 % 305 Inital
Not appeared in exam 19 —— % Total amount = 100 units

-46_23 ‘.
54 27 % ﬁ .
218. (d) According to the
First subject § 6 o
Second subject =830%

Agoregate in all
Sum of all those

Flrst + % hird = 210
+ Third = 210

‘lo- 140 = 70

Tl'nr
219 d20‘%’-— 30‘5"-i
M ( , .= [ T = 10’
10% 1
°7 10
Let total income = 100 units

1500
Salary(100%)——3 20 x 100

= Rs. 7500

221. (b) According to the question,

1 unit
4 units

Share
holders

Post
office
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4 units
Transport

@' Total

$

©

%

(9

Remaining after
purchasing

Remaining after
transport

According to the question,
76 units= (1400 + 120) = Rs. 1520

20
20 x 4 = Rs. 80




224, {a) 60% = T, 25% =

0w

1
4)
20‘}’—l
°~ 5

Let the total trees in the garden (A1 %
wid | H@ g4 F W) = 100

According to the question,
3 units= 1440

1440
1 unit=—3—= 480

Total trees = 100 units = 480 = 100

= 48000
% ! T0% = l
225, (d) 200—5, * = To
Let total income = 100 units
-20%
Remaining alter (W = fma 3
house rent % W% 9w
- 70%
Remaining alter (i %

According te the question,
24 units = ¥ 1800

- 1800
1 unit = —24
1800
100 units = >4 x 100
=T 7500
1
Alternate: 20%=-5w s ot
—_ 7 — Expeniditifie
°" 10> Fgoome
Income
5
10
50
lx 150
7500 1800

Hence total income = ¥ 7500

226. {a) Let the income of Bhuvnesh
=% 100

According to the gquestion,
Income Expenditure Savings

Initiel —s 100 75 25

l+ 20 I‘ 10% l +12.5

Final —s 120 82.5 375
Required % Increased in savings

12.5
25

x 100 = 50%

Alternate:
By Alligation rule (faswr fafa gr)
Expenditure Savings

10«3 +xx1

@iy —20

30+x
4

x = B0%
Hence Required mcrement in savmgﬁ

227. (b) Let total salary
100 units i

;1 unif = ¥

wmg Ay
%V\umts = % 440 x 100 = T 44000

*ﬁgnce required salary = ¥ 44000
| < : 8 ' E'q* ﬂ = 16000
(228 (@) x > 766" To0
x = 4,00,000

229, (¢) Let the total number of voters =
100 units

Loser

Winner

4 1nits
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=20 > 30+x-80"0 :

votes get by Loser = (92 - 48) = 44 units
According to the question,
(48 - 44) units = 1100
4 units 1100
1100

1 unit= T =

Total votes

275

= 100 units

= 100 = 275 = 27500
Alternate:- Let total votes = x
(9 H/E 79)

92
Votes polled (FF Ha9H) = XX 00
Votes polled for winger {ﬂ’ﬁﬁﬂlﬁ W )
- 48K %
gy

92x 48
= 1100 100

’ Agcm'dmg to the qustion (TFHTH),

__:48x 92  48x =1100
100|100 100

48x _Hx 1100

100 100

4x = 1100 = 100

x = 1100 x 25 = 27500
Hence, total number of voter = 27500
(3A: |A )
230. (¢) Total valid votes got candidates

o 3261 100 -
75

12348

Let total number of votes = x

75
100

Total votes polled =- XX

75x
100

75x 98
100 100

According to the question (YFHITHR),

75x 8 19348
100 100

Hence, total votes = 16800
Alternate

Note: In such type of questions try to
write the statement in one line.

A2 T WE B WA § H F1 oF viaa o ferew

Valid votes

1 YA H
Let total votes = x
75 x£=9261 100
100 100 75
x = 16800
Hence required number of total votes
= 16800




1 3
12 %==,30 =—
231. (a) =g 10
Initial Final
8 7
10 7
80 49

1)(60

Required salary = T 4800
232. (e} Let total number of votes polled
(¥ % A W9TE)= 100 units

According to the question,
20 units = 14000

14000
1 unit= 20 = 700

60 units = 700 x 60 = 42000

Hence votes polled for winning candi-
dates (SHa T THIRAR Ht W@ FR2) = 42000
233. (bjLet total salary = 150 units

Remaining salary after expenditure”
= 150 - {60 + 30) =
According to the question,

3 units = T 4 (\

1 unit = ? 50

5 = 150 x150
0
umber of votes

Monthly salary

234, () Let a
= 100 ;

(100)

40% H0%

CEO R

Loser Winner
+20

60 unityy,

20 units = 298

298
20

298
20

= 1490
235. (d) Total votes = 104000

{100 -2)
100

1l unit

100 units x 100

Total valid votes = 104000 x

I

104000 x 100

101920
Votes polled in favour of the candidate

etz @ e W w2 S 7

5
101920 % 100

It

56056
236. |b)
Let the total number of votes polled

(M f% /& 792 = 100 units

According to the q 1on n
20 units O 4

1 unit’

100 unit: x 100 = 8000
237. (b) 3\

a.l%huiﬁ)er of votes = 100 units

" According to the question,

100 units = 36000

1 unit = 360

24 units = 360 x 24 = 8640
Hence required number of votes got by
3 canditate [Tl I0ER F @ B Fi
e = 8640
238. (¢)
Let the total number of votes = 100 units

(43

Winner Loser

+14
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54:%”% &

According to the gquestion,

14 units = 42000
1 umit = 3000
Total votes = 100 units = 100 x 3000
= 3,00,000

239. (4)

Let the total votes polled (W % F@ Tagm)
= 100 units (3fR)

According to the iuestion,
68 ugits =476

‘.
!%3 .

476

1100 units = x 100 = 700

68

kz-m (d}

Let the total number of valid votes = 100
units

According to the question,

24 units = 7200
1 unit = 300
100 units = 300 = 100
= 30,000
Hence, total number of valid votes
= 30,000
S 1 41 —» Final

241, 2 %= —Y%=—= —
te) 27730 " 30 - Mitial

Initial Population Final Population

40 41

40 41

40 41
64000 68921

Hence required population = 68921




1
242. {8} 10% = 1o
Initial Final
10 9
10 9
100 81

= 81 units = {8100

= 1 unit = 100

= 100 units = T10000

= Value of property 2 years ago
i@ i = T 10000

1
243. (&) 25% y

Initial Final
4 s
4 5
4 5
64 125
125 units = 10000
1 unit = 80

64 units = 5120

U 4y

5120

1
[1} - e
244, (a) 4% 55

Initial Population

Population at the beginning of I* Year

Final Population

25 24
25 24
625 576

lﬂOO lXIOO

62500

Hence present population of the to
(I F} TAWR IFTESA) = 57,600

Initial

245. (c)

According to t
625 units =

I unit = = 80

625

676 units = 80 = 676 = 84080
Hence population after two years

= 84080

W

Alternate:
Population after two years

g 8
§ ¢

1 9 - Final

246. () 10% = 75 = 75 - Initial
Initial Final
10 9
10 9
10 9
1000 7290
| |-
5832

R +#h
+ P=P|1t——
Alternate: ( 100)

Note: Rate decreasing so use - ve of R.
3 years ago so use — ve sing of n.

A2 s A T @ @ 2 uia - ve HRa

wEm )

According to the guestio
Value of commodity before s

(3 =l & =g w1 g - 58%9 x?ox%
&

880000

247.(b) Salary 5 = e

110
248, | % =

x 100
= T 8,00,000

1
5

nitial Final

3
4
125 64

M6l

61
Required percentage = ——- *100 = 48.8%

125
1
249, (=) 4% = 25
Initial Final
25 26
25 26
625 676
leoo lnloo
62500 67600
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3af wrd TH W n F THEHF (-ve @
T )
Present value = 5832 (Gi

Population before 2 years = 62500
Alternate:
Let the initial population = x
According to the question,
104 104

100 x m = 67600

X

= 67600x100x100
104 =104
Hence required population = 62500

= 62500

250. (d)5% = 55

¢, value before 3 years =
0000

R m
- p[1z X
P [ 100)

After n years use +ve sign of n. For de-
creasing rate use -ve sign of R.

ng ARG F T n P tve T T TIW H
AN T [ F A R F —ve WHT 1 W& FX

roate;

100
= Rs. 4,80,000

1 19 — final
20 20 — Initial

5 =3
4,11,540= P [1——]

251. (a) 5% =

Initial Final
20 19
20 19

400 361
% 500 ><5001
2,00,000 180500

Hence, value of machine after 2 years (2

7§ & AT HYHA ) = Rs. 180500

R in
. b= Pllt—
Alternate : P [ 100 ]

Use sign of R and n according to rate
and before or after n years.
WA 1 T B W 9% F e A9 R4 n
dadl F TEm HBi
Value of machine after two years (2 99 F
AR LA FT )
{100-5) (100- 5)

100 100

2,00,000 x

Rs. 180500




1 11 - Final 1 1
= —— . = —, 0/ = -
2852. {b) 10% 10~ 10 5 Initial 2856. (c) 10% 0 20% 5
Initial Final 3
10 11 Of = —
10 11 30% 10
10 11
1000 1331 Initial Final
1’6“ - l 10 9
64000 85184 5 4
Hence population after 3 years = 85184 10 7
Alternate:
population after n years 500 252
R} x12.5 x12.5
= p' P = [l t‘ﬁa) |
6250 [ENIT)
) 1+ 10 Y Hence value after 3 years = ¥ 3150
P’ = 64000\ =755 = 85184 Anernate:
Alternate: H(:i;;rent value of machine (@¥iA # FHuA
present population = 64000
1st year 6400 - 6250 x 90 ><___8_0_)( 70
2nd year 6400 640 10C 100 100
3rd year6400 2 x 640 64 = Rs. 3150

Total population after 3 years

1
= 64000 + 3 x 6400 + 3 x 640 + 64 267. (4) 10% = 75
= 85,184
25 o L 4ofina Initial
3. ) 20% = 5 = Tl ig
Imstlal Fglal 100
5 4 %500
25 16
30,000
vJ'><4oo x4001 b e
Hence value of machiie after two years {2
10,000 6400 ¢ wel H TFEHH %:40,500
Hence population after 2 years = 6400 ) i i
1 258, (af: 10,0 = %
254, (d) 20% = 3 »2_,% :
. .
Year 1974 . Year 1975 ‘_“'“"’ F';"l
{1}
Salary —s 5 6 - 10 9
10 O
> 610 * 610 1000 729
: 3660 IX 1 lxl
Hence required salary = 7 3050
Alternate : e 729
Note: To save your valuable‘gmu in. such Hence, worth before 3 years (3 T8 w&a
type of questions try to ﬁg;pt& the state- = T59) - 21000
ment in one line. ) Alternate:
AE: [ @ S Tl R V" o
= fA Fo %) = P(li—] -729[1—
ferg bl _ F 100 100
. % = T1000
Salary in 19%@ 120 100 289, (a) Required last year salary (fvod
=T 3080 1806 <160
255. (a) Required previous salary o ot s 1) = 1100 + 5) = 1720
24000 _ 24000 1
=020 100150 *100 260. (a) 10% = 1o
= 20000 According to the question,
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{2000) {2003}
Initial Final
10 11
i0 9
10 11
1000 1089
+89
Required % increment 2 100
1000
= 8.9%

Hence, strength after 3 years will in-
crease by 8.9%

3 a4 % v v 8. Q‘%aawﬁn

261, fay a0 - s 260 Final
. {a) 0{3% 425 — Initial
i
Initial ¢ Final
ok 26
: 25 26
715625 17576
l,,c a2 lx 32
500000 562432

Hence, population on 1* January 2004 was
562432

Alternate:- Required population
- 500000« 100+ 4} (100+4) (100+4)
100 100
= 562432
1
262. (b)S% = 5
initial Final
20 21
20 a
400 441
‘ ~10 [ x10
40001 4410

Hence required population before 2 years
(2 = wire THEn = 4000

Alternate:
100 100
= 4410x
Required population 105 105
= 4000
263. (d) Present Population = 9261

Increasing Rate = 5%
Time = 3 years
Present Popopulation = Population

R T
1
3 years [ +100J

S 3
= 1+—
9261 = P [ 100]

9261 = P x —ax21, 21
=P x 26720720
P = 8000




264. (b) Let the income in 2010 be P
o & 2010 F 3 =P
- R= 20%

— Income of year 2012 (2012 & )
= T 26,64,000

R 2
= 1+ ——r
= Income of 2012 P[ +100]

1+—2 ’
= 2664000 = P 100
664000 - Pxox2
= 2664000 = 55
= Income in 2010 = 185000
65.(b) 12% = =
265.(b) o 25
Copper Total Alloy
3 : 25
x 23 x 23

Hence, required quantity of alloy (fasvrg
F shiled T = 575 kg.

_1_ —» Waier

266.(d)10%= 10 —» Mixture’
1 = Water
5 - Mixture
Milk ¢ Water
Initial —» 9 ., * 1.,
Final — 4 , 1.,

Note: Quantity of milk is same in both
cases s0 equate the quantity of milk.

te: 2 feufival & 9 ®t T WA T, TS

T H WA H A R
Milk : Water
Initial —> 36 4 )
+5
Final —= 36 3 9

(36 + 4) units = 40 litres
1 unit = 1 litre %
Reqmrecl Quantity of water
= B litres
i Q% TR ﬂ?ﬁ@ﬂﬁ%Smn
= 5 litres %

20

Impurity Pure glycerine

1 4
)+ 15 units
1 : 19

According to the question,

{1 + 4] units = 50 litres
1 unit = 10 litres
15 units = 10 x 15 = 15Q litres
Required quantity of glycerine (e #
a1 ) = 150 litres
Alternate:
Initial Mixture Amount of glycerine
(glycerine added (% content = pure)
80% 100%
1 unit 3 hsnits

Initial mixture 1 unit—— 50 Litr.
Amount of glycerine added 3 units
—33x50= 150ltr.

2 b 0, _H 0° 1
68. (b) 68% = 25,2 % =

5
Water Pulp
Fresh fruit —* 17 : 8
Dry fruit =—* 1., 4.

Note: The quantity of pulp woul.;i bc"

T E\H\ﬁmﬁzﬂﬂ@ﬁmwmt ;
fardi wa B T TR (Water) 3 TR {Pl:llp}"ﬁ
firer N g # off-ofit Tl (Water) T @A
H% 0 W 3 WY R (Pulp)an@mﬁmw%

Accordmﬂ to: 4 thé glestion (YHHEA},
25 qus » 100 ke.
1 i e 100 L4k
unlt? . 25 ° g,
10 units = 4 x 10 =

40 kg,

_2 == Alcohol
_. 269&,?[:1] 40% = =, Mixture
‘- Water Alcohol
3 2
2
Required percentage = (g +1]"100
= E =100
6

1 1
= —x = 33=%
3 100 3 o

3 -+ Water

20 =» Mixture
87.5% = = Mille
8§ =+ Mixture
Milk Water
Initial == 17 : 3

1.3

270. (¢) 15% =

Final — 7,

Note:- Milk is added in the mixture
hence quantity of water will be same.

Hre: % fasm § g Ten T & ek 9eh 1
o gEad @l

Milk

RO

According to the question,
20 units = 200 litres

200

1 unit = =20 htres = 10 litres

4 units = 1Q = 4\ = 40 litres
Hence, requnre,d quanﬁty of milk

Water

Initial 3 b 30 uniis

Final

271. [b]

i i 30°f0x50°f ()
- Ratio of 5 : 15
Quantity —- 1 : 3
Hence required ratio = 1 : 3
272.(a)
By using Alligation rule,
I I
Ratio of 10 : 15
Quantity -2 3
273. (b 80% = i 60% E
. [Bb) 6= 5 o 5
Acid Water
4, 1,
3. 2.

Note: Now we are adding water hence
quantity of acid will be same

Az 5t o 7w fagm O T @ ¥, e
TS @ AT T T

Acid Water
12 : 3) + 5 units
12 : 8

According to the question,
(12 + 3} units = 60 litres

15 units = 60 litres
i L 60
unit = 1S

&0
S units = "Ig x 5 = 20 litres
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274. (b) 30% = 15, 70% = I&
Bugar Other
3. : Ts
Tr : 3,

Note: We are adding sugar so other part
will be same.

e IfF 70 < e ® ¥, safae gm0
Luciked fi

Sugar Other
+4:0 9 : 21
units\ 49 : 21

According to the question,
(9 + 21) units = 75 gm

L unit = 3
umit 3Ogm

40 units - %x‘io = 100gm
275. (d} 80% = —, 50% = 1
5 2
Boric acid - Water
4 : 1
1, : 1.

Note: Water is added hence quantity of
boric acid will be same.

We: e fram F et wen w3, gab A T

FY Hrn W
Boric acid Water
4 : 1 .
)+3 units
4 4

According to the question,
(4 + 1} units= 100 ml
5 units 100 mi
1 unit =20 ml
3 units 20x3 = 60mil

276. (a) 30% =

Alcohol
7
17
Note : Alcohol is
80 quantity of wat
st W6 fism
T A T
Alcohol
7 ! 3
+10 (
17 : 3
According to the question,
{7+3) units = 1 litre = 1000 ml
10 units 1000 ml

Hence, required quantity of alcohol
= 1000 ml.
277. (d) By Alligation rule,

I"type ™ type

5 : 2
20x5+35x2

512 =x = 100+ 70 = 7x

170 2
Tx=170 = x= - - 24;%

278.(b) Alcohol : Water
Ratio of
Quantity
According to the question,
(1 + 4] units = 15 litres
9 units = 15 litres
1 units = 3 litres
Quantity of alcohal = 1 % 3 = 3 litres

— ] M 4

Quantity of water = 4 x 3 = 12 litpes _& +
New quantity of water = (12 +3} =}5¥it %
3 o 1 Sugar should be added 60 grams because

3 % 1 N
18
= 1
A 4
279. (c) By Alli h@ ule,

3t Hnd
3]
&5% 50%

)

“\ 10 15
tio of —
nantity 2 : 3
enCe required ratio = 2 : 3
280. (b)20% = L
5=+ Mixture
Alcohol : Water
1 : 4
According to the question,
S5 units = 20 litres
1 unit = 4 litres
Alcohol =1 x4 = 4 litres

Water >4 x4 = 16 litres
New quantity of water (Tl %t T AmM)

= (16 + 4) = 20 litres

2

4
Required % = {55, 4*100 = 162 %
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281. (b) Mass of lead ore (W 3R
=¥ A =
8000 kg
= Mass of metal in lead ore (W% sow
H 9y 1 WY = 60% of 8000 = 4800 kg
= Mass of silver in metal (g & =&t
=1 7)

= %%of 4800~ 36 kg

= Mass of lead in ore (3T W & & 5
= 4800 - 36 = 4764 kg

282. (b) 300 gm
0%
12
Sugar
Sugar %{ solution = Mixture
12 . lao = 300

+ 60

[Check with
option to
save time]

180 = 360

120 + x =180 grams

x = 60 grams
283. (¢} According to the question,
Mixture of copper and aluminium = 2000 gm

30
30 % copper = 100X2000= 600 gm
Copper aluminium
600 gm 1400 gm
20% = 60 +
lunit = 30 X
20% %ﬂ
2400gm
Let the additional aluminium
powder = x
1400 + x = 2400 gm
x = 1000 gms
Alternate:
copper : Aluminium
30 : 70
20 : 80
copper : Aluminium
3 : 7 —10 units = 2000gm
1 unit =~ 200gm
1 ' 4 53x3

We have to equal Copper amount because
only Aluminium is added @% % Ht W= ¥
SR HET TN F6E s F S wepifem
faema T ).

coper Aluminium

3 : 7
> +5 unit
3 : 12

We have to add 5 unit (% 5 g MET M
= 5x200 = 1000gm




284. () = 1200

Let the initial expenditure = 100 units

286, (b) Let the total capital
According to the quesion,

. . _ 950 _1
Decrease in consumptioh = g 3
1 unit = 4 Eggs less
Original consumption = 4 x 3 = 12 eggs.

New consumption = (3 - 1) = 4

= 8 eges. Total interest = {9 + 40 + 11) = 60

i d - 2.2 36 0
Present price per dozen = g Required percentage = 7550 100 = 5%
Alternate:
287. {a) i i
Note: Reguired more money when The Quantity price
Initial— 3 1.25

290. (b)

Note:- In such type of questions to save
your valuable time follow the
Alligation method.

e @ T R T an A faam frl @ owEm w

waa £
Expenditure Savings
15% }% x
o H 3
12-x _ 5

= x=T%
Hence ed increase in savings = 7%
291

] ) -0.25 t fhefgjumbers are 40 and 50 respec-
price is increase 50% = 24 x 100 = T12 Final — 3 1 i
50% WEd T W e s T Required % reduction = A : B
1 25 40 : 50
50
= 24 =212 = 20 N 20
1400 48 : 40
12 Required ratic = 48 : 40 = 6 : 5
Present price = T =~ = 3 Y/egg 292. {c)
4 288. (¢ :
. . e} Let the income of the man = ¥ 100
Present price of 1 dozen eggs = 3 * 12 Note:- In such type of you can
=2 36 take values as per y (1% but remem- Income Expenditure  Savings
$ i : g mentioned in
i:s‘tl:d]' itial dit 100 | 100 5 25
t the initial expenditure =
T W Eﬁ_‘iﬂﬁ* + 20% +15% +8.75
@ fF oua W %
120 86.25 33.75
a, Rice Fish Qil Required percentage increase
g 120 170 30
penses —» _ (83.75-25) 106 - asu
s 1 20% |30% {50% _ 25
Decrease in consumption = 120 = s Alternate: Expenditure = 75%
) . 2 24 51 15 Savings = (100 - 75)% = 25%
unit = 2 eggs. : ioati
Original consumption A Required percentage increment By alligation rule,
= 6 % @ (24 +51+15) _ 90 Expenditure  Savings
New consumption =5 x‘ eges = —————(120+170+30] 320 * 100 5% .
4
Present rate of € x12 1 20)
= 28 ‘g %
- ¥ 28.80 75 : 5
289. (b) 3 1
24): 20 '
Alternate: [ncrea in cost = Bus Fare : Train Fare
3x15+xx1
=4 Initial — 20 : 30 3e1 20
4.8 +10% 1+20% 45« x = 80
New price/egg = — =24 Final — 22 36 = x

New pricefdozen = 2.4 x 12 = Rs. 28.80 Required ratio = 36 : 22 = 18 : 11
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293. {e) Let the income of the person
T =t w1 9™ = 100 units

Income : Expenditure : Savings
100
1+ 20% + +12.5
120 82 5 37 5
Required % increase in savings
12.5
= =100 = 0,
25 50%
294. [b) Population before 3 years ago =
x
ATQ
x—ﬁ ﬁ4-><—1~(ﬁ—17576
100 100 100
X - 15625

298, (d) Let the required number (1 %

s W)= 15

(8 we=i o T T fraction F denominator

(%) 1 LCM =% W= 1F &4 ¥ faed 3 3

o= o g o)

According to the question (TFITHR),
Wrong answer {TTdd I

3
5 =2

Correct answer (9el EXR
5
3 x 25
Required % error (3141% % &)
MXIOO
25

16
= EXlOO- 64%

Alternate (Iwfeas fafir):
Let the number (WM & TN = x
According to the question (WFER},

3
wrong answer (Tdd 3G = gx

5
cotrrect answer (W8l I3 = 335

Required % error
296.(a)

Note: In such type of questions use alli-
gation method to save your valuable time.

W2 WA F wE § wa F g9q # fi e
Tsror forem 1 v == wEA

ﬁl\z%m-m%

T et
Male Female
10% B%
Ratio of Male and Female
TR A g 1 @ 1

Required number of Males {=qi &t W=
we)
8000

- x 1 = 4000
L+

297. (d) Number of boys (F8H T =)= x
Number of girls (F3f#4l ®t deEm)

= (150 - ¥
According to the question (T¥TIAR),

= 150 x = {150 -

X
100
= 3x =300 - 2x
= 9x = 300
= x=60
Hence, the required m.tmbar of boys (?-l'gﬂ-fl
T @i TE=:A)= 60
298. {b) Required price *

S,

4
100 =
60 x 700

A .
ygz;.l{e%e required apples = 700
300. {e) Let the monthly salary (T

T ) = x
TETEE, (According to Question)
Y £ = x= 2700
3Ix100

[220/0 :>§°/o}
3 3

301, {b) Average Income (3l =)

80,800
=T 16 = TJOSO

Hence, required income

120 7606
100 °

= TZOS0 x
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'64 umts =
l&unﬂ- 3m

::;SI.imts =3x3=9m

: H‘ence distance climbed in second hour

2 EEUE F @ W qll) = 9 metre

1

S qale
8

1
62=% - — 12
302. (d) 3" B >

Let the total height of the pole = 64 units
(9 Bt 5 1 FaE)

(T 9 H 78 T w5 S F Y ABY W
A # i F0 H S 64 WH A )
According to the question (WHIAR),

PEET
i
4
i

“» distance covered in 2*hr,

192 m

Alternate:- Total height = 192m
Distance climbed in second

R W e g

hour

- 192823 1
8

192x 2L _om
88

303. {c) Net Tax rate
30 + 30x10 = 33%
100
304. {b)Total scere = 110

score made by the bastman by boundries
and sixes (AF &k vl ® 0 AW IO
ELLRLES) =8x6+3 x4 =60
Runs made by running between the
wickets {9 # 99 9 = T ™ T)

= (110 - 60) =
50 500 5
i = *100~—-——=45-=%
Required % 110 11 b
x
305. (¢} Let the fraction (7 fF firmr ) = ;
According to the question(vergam),
xx120 5
yx95 2
x_5x95 95
y 2x120 ~ g




306. {d)Ermor = 3 hours 45.5 min ~ 3 hours
40 min
error= 5.5 min

5.5
Required % error = mx 100
350
= ———=2.5%
220
307. (d) Let the total number of boys

= 300
total number of girls = 200
Number of boys who do not get scholar-

ship (@rgfa = A T TS ¥ Fen)

(100-20)

= 300x =240

Number of girls who do not get scholar-
ship (ragfa 7€ W are FEfFal 7 demn)

{100 - 30)
0

= 200x =140

(240 + 140)
Required percentage = m x100

= T6%

309. [c)
Increase in population= (10458 — 9800)
= 658
658 658 47

LY = ——x100 = =—9%
Yo increment 9800x 98 7 °
Use alligation method:

Male Female

8% 5%

Note: To make your calulation easier
multiply by 7 to all data.

22 AT A B SHE T W W A
7 ® 7om F=)

Male Female
56% 35%
12 : 9

Ratio of Maje
and Female = 4

312.(¢) Let the part investedon 5% = ¥Tx
Remaining part = T (10,000 - xj
According to the question,
xx5 10000 - x)x 6 - 76
100 ~ oo - Tes0
- 600 + 6_x 76.50
100 100 :
LX . 76,50 + 60
100 - .50 + 600
‘l“li 676.50
100 )

67650 _'“-;

= X=

= X 3» 6153& “

Amount mvem & =(10,000 - 6150)
= 3850

Alternate; e

In such type of questions to save your

valuable time go through options.

ﬂ’lz FOaE P T § o g T T

m%aﬁrﬁarw} F1 IFE@ W T B
oﬁ {e)Amount spend on 6% = 3850

308. (c)Let the income = 100 4 In - 3840x6 % 231
Let tax rate% = 1% Hence required population of xpalcs - terest 100
Income Tax Rate  Net Income : \’% i Amount spend on 5% = (10000 - 3850)
" =¥ 6150
100 X% (100 - x) ¥
6150x5
-1% Interest = T I 307.50
100 1.19x (100 - 1.19kx 310. Difference in interest
. . = {307.50 - 231) = ¥ 76.50
According to the question, Now option {¢) satisfy both the
9 conditions.
{100 - x3 > 100 = (100 - 1.19x} Hence option (c) is correct.
- = - 2 3 — Final
9900 - 99x = 10000 - 119x 313. (b) 40% = 2= !
20x = 100 5 5 — Inital
x= 5% .. .
Hence required tax rate = 5% In;_’tla,l 12&]
Alternate:
Note: To save your valuable time you can § 5 3
take heip from options. o T W 25 o
ﬁzmm%wﬁﬁaﬁwm%a‘@ym% -16
% fog o et A wE A TR Y T ﬁ’eqxéred 9 = 21 oo Blx4 244 6
Option (a) tax rate = 5% " _?f 125 5 5 Required decrease in area = —— =100
Income Tax Rate Net Incorg n 244 6‘2!"?‘
% Siogs 3 Required % = — = 48.8% = 0%
100 5% 95 0 d ° 3 Alternate: By using successive formula,
R _0 95 Net decrease in area
5%19 2 si1. (@ «—Iom ———2em —» 40 x40
100 5+ = 5.95% %, 0 A . B = 40+40 - —— = 64%
™ 395@;%&05 c 10 o
SN . Scm *  314. (b)
Required red%%) % After increment of 6% new length of AC 15 40
a“ = - 0.95 00 Salary of shyam = =100 = Z 7000
T = =x1 = 1% 0, M
- 95 6% T I F A, AC T T According to the questlon,

Hence reduction in net income is 1%
same as mentioned in question. Hence
option (c} is correct.
™ YHR FH A H 1% H FH W F awm )
THfer faaed (o) w81 #1

= 3+3><6
100

=3.18cm.

8x100= 9%,

Required % decrease =
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Salary of Ram = Salary of Shaym
Hence salary of Ram = ¥ 7000

7000 x
T 980

14
100

Savings of Ram =




315.{a) Let the number of boys = 300
Let the number of girls = 200
Boys Girls
Total students — 300 200
BO% I?S%
Not holdes —=240 150
scholarship

Total students whe do not get scholar-
ship (@Fgfa T = = o= = 79 T
= (240 + 150} = 390

390
Required percentage = 500 x 100

= 78%

316. (d)
Let the first and second number is a and
b respectively

M1 o6 TEel Ao T dem A o @R b
po 20 52
“100%7 100
52 60
b- oo P To0 @
A8, _ 60
100 ~ 1002
4b = 5a
a_4
b S

= a:b=4:5
317. (a) Marks obtained by A

= 360 marks
360
i = x 100
marks obtained by C 125
= 288 marks
288
marks obtained by D = 5 x100
= 360 marks
Required % marks obtained by D
318, (d)
Boys
1100
150% , )
Failed ‘;fﬁ i

Candidates»550 {7, %, 840

Total failed cingidatéy = (S50 + 540)
% T = 1090

Required percentage of failed candidates

1090

o e 100
(1100 +900)

1080 x 100
= ———— = 54.8%

319 23 %= >
B 60% = =, 75% = o

Let the total numbers of workers = 200

60% above|30 years

According to the question,
90 units = 1350

1350

1 uni =
unit 90

1350
200 units = —g= %200 - 3000
Alternate: 75% — 1350
1% — 18
Workers above 30 years (100%)
By
= 1800 e
Given, :
Workers above 30 years 560%;} — 1800
L
1% 75 -330%

/100%% - 3000

320. {a) By aligation Rule,

e

2
C o= m x 100 = 40%
321. (b) Total seats = 10000
Ticket sold = (10000-100} = 9900

According to the question,
Total revenue

9900~ E *10+9900x 80
100 100

9900 x 2 + 9900 x 16
9900 (2 + 16)
Rs. 178200

x20

1
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322. (o)

Percentage of Non-tax paying

employees (9 &l 3% A HAE T T
= (100 - 31)% = 69%

69% of total employees = 20,700

20700

Total employees = x100 = 30,000
) 11925 100
323.({c) Basic pay = m"
1 1925 4100
265
. =.Rs. 4500
324. (a) " E
Let the salap 1@* units
savings = 3
_ 20
savings = 100 x So—= 20 units

L 100
. Expenditure = (100 - 20) = 80 units
“Accgrding to the question,
% BO units = Rs. 6000
"1 unit = Rs. 75
Savings 75 x 20
Rs. 1500

325. (b
Population of town (87 F SEeE)

= 3,11,250
Number of women in town (912X o Afgenait

311250

A AL A S
(43+40]x = 161250

A=A =

Number of literate women (fofera afeensa
)

i 24
= 161250 x 100 - 38700
Number of men in the town (FRT ¥ T&al
311250
- x4 -
F HE) [43+40]>< 150000
Number of literate men in town (fafim oot
. . (100-10)
i Hen = 150000 x ~———
= 150000 = | 100 = 135000

Total literate persons in town (Fgd H kS
Finfiga =aferm

(38700 + 135000
173700

It

326.(c)
Total number of employees

27600
(100 -31)

40,000

%100 - 27600

= 100




1
327. (b) No. of females = 25000 x +

5
= 5000
No. of Males = 25000 - 5000
= 20000
N f ed d females = 5000 £
o. of educated females * 100
= 3000
95
No. of educated males = 20000x——
100
= 19000
Total educated population = 22000
Percentage of educated population
22000
faferd = gfeera) = 100
(o et = 25000
= 88%
328. (e}
Blue Red Black
Total Balls —» 100 50 50
25% l 50%
Taken out —» 25 25

Remaining Balls = (100 + 50 + 50) - 50
= 150

Required percentage of black balls

- >0, 100 =33-1—%
50 3
. 180= 80
329 .{b)Price after discount = —— o=
100
= Rs. 144

Price of 1 pair of socks {I 9% Y™ & T

144
= Rs. —

e Rs. 12

Required number of pairs (S0

According to the“};uestion,
2 units = ¥ 200
1 unit = ¥ 100
5 units = T 100 x 5 = T 500
Required price of shoes = T 500

331. (a)

I - -
Appeared—> 40 50 60
students

100% 900/0 BO%
Pass — 40 45 48
students
{40 +45 + 48)
Required pass % = {40+ 50 60) =100
- E@_ 100 = Q_GE =88 = 2 %
150 4 3

332. (b}

Let the bigger number is a and the
smaller number is (520 - a}

[qmﬁ:agﬁmaamaﬁt#mwm-am

According to the question,

335«

Required % average rate

(48 + 48)
= (80+60) *
L %5100, 20
140 14
68 4 %
7
334. {b)
Msection II” section  Total
Number of— 20 30 —+—= 50
students }:»..
-. 60%
Passed
studentis -Qég?% 18 —d—r 34

Required % of pass@ students (39l BT

27 34
mmm -ﬁxloo 68%

di‘

(100 - 4) 100 +12 e d&.lctlon of cycles rose to 48,400
ax —1o5 (520 - a) * | " 100 _ ,000 in 2 years
p % 8 § wiEfee ® IARA 40,000 B TR
- 8,400 § T
96a _ 520~ a]112 " %j@
= Present production = 40,000
96a = {520 - a) 112 = After two years = 48,000
13a = 3640 S = Time = 2 years
a = 280 — Rate of increasement = ?
Hence, bigger numbe According to the question,

Smaller numbeg 4‘53 !Bo; = 240

Alternate :
Note: In su of questions take

a
help fromg, p‘zi?’%to save your valuable
th

time .94 satisfy the question
canditi

*z: ™ .!:.‘.! .
mmm’aﬁmwmﬁnﬁ
T FE T faee F T T 2

i
tig’n:- Smaller number = 240

Rfience, Bigger number = 520 - 240

= 280

According to the question,

96 112

= 240x 12

280 * 150 *100
268.8 = 268.8

Both sides are equal hence option [c) is
correct.

333. (b) I year " year
Appeared—= 80 60
students

60% 80%
Passed
students —s 45 48
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Production after 2 years

R Y
- ; 1+ ——
=  Present producrtion [ +100]

R 2
48,400 = 40, 000[l+—]

= 100
484 [ R T
= —_— |l
400 100
1 R_2
= 100 20
R_1
= 100 10
= R = 10%
= Rate of increasement = 10%

336. (b) Let total staff =100

100
{female) 40‘3’}/\60% (rmale)
40 60

Unmeuried {30%)1 l(SO%] Unmarried
12 30

— 42 is unmarried staff out of 100 (100
el § § 42 Fard afeentea

42
= 100 = 42%
00 o Ans.

. 2

Percentage=




337. (b} According te the question.

1980 - 1990 — 5 6
\-r/
20% increase % X
1990 - 2000 — 5 6
20% increased x x
2000 - 2010 — s 6
N 125 216
20% increased }
In 1980 In 2010
+ = . 1
Popuplation increase in % = x100

125

= 72.8%
338. (b) Let the number is = 100
(wrn €§=) = 100

According to the question.

(TTFER),
0
15% 13.75%
increase decrease
115 86.25 )
25%
decrease
13.75 units » 22
1 t —"—22
unit — 13.75
100 it: 2 x100 =160
unts = 1375

~. Original number = 160

100 N4
40%

Rema_lmn@mgll) y_40-20 = 40
R I““ 70%
* children

education 08

- Income left (v afer) = 40-28
= 12%

(2]

340. (b) Time spend by Ajay in a day
= 8 hrs.
(% T o orrg g =da oW = 8
52)
Time spend by Ajay in a week
=8 x5 =40 hrs.
(% qa% o 39 FW a9 =
8x5 = 40 €3
Percentage time spend in a
week

(TF wwE o =da ofawa a94)
_ 40
T 24x7

341.(a) Ist Number (et HeEan)
IInd Number (&0 &)

x100=23.81%

5 . 4
2
40% = 5
2 unit = 12
5 unit = 2x6 = 30 R
So, 1st number = 30 PR :
30 \—_ E'_ , .

2nd number = = x4 = 254}&; e

50% of 2nd Number (3§ wen =

1 S
500/0) = 24x E =J - Y
342.(b)  100x ——s100%62 = 6200

47x 4360

’I*btal vote
47x—(43x—60}—308
‘4x+60 308
w4 x=248
x=62
Total Number of voters in the
voter list = 6200
(90 g= § F@1 waeEet 3 ged
=6200)

343.(a)

0% st

344. (a) Let number of boys (AFI A

F 9= = 8x

Wizard of Maths ~ Rakesh Yadav Sir

Number of girls (@gfai =1
&) = 12x
Boys are not getting

scholarship (3 a'ga% o WA
T 0 ?) = 8x x 5 = 4x

Girls are not getting

scholarship (St @gf&Fa woefa

W e wt R) = 12x><% = Ox

% of students not getting
scholarship (Frafe 7 W B
T % Eﬁﬁ a’ﬂ &@l

4x+'9
(x—+ﬁ (jo 659,

4:1

345. {a) Income 3

20% deposit

72
72 units — 7200

L unit o 7290 _ oo
unt — 70 -

100 units - 100 x 100 = Rs. 10000

346 162'2}’-l
(a) 3 0= 6

Let speed of Rajdhani (9mt
TIFE $1 M) = R

Let speed of shatabdi (¥ v
F M) = S

R : s
S0 as given = u
1
shatabdi is faster than
Rajdhani by (9F1 vaegt Taur
Td )

I
= = x100 = 20%

5
1st hour —» 10 11
347. (C) 2nd hour — 10 11
3rd & 4th hour =10 9
5th hour —»20 21
6th hour =20 21

400000 480249
400000 Units = 40000
40000 1
400000 10

then 480249 —» 48024.9
= 48025 (approx)

1 unit =




